Question 1  (5 points)

Question CH03mc1
Histology deals with the study of 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	functions of body parts.

	100.0%
	[image: image1.png]
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	2.
	cells that work together performing a specific function.
CORRECT

	0.0%
	
	
	3.
	organ systems, including the skeletal and muscular systems.

	0.0%
	
	
	4.
	structures that can be observed without a microscope. 


Score 5 / 5 



Question 2  (5 points)

Question TB80
Cell specialization is a necessary characteristic in order for the human body to function as it does. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image3.png]



	[image: image4.png]



	1.
	True

	0.0%
	
	
	2.
	False 


Score 5 / 5 



Question 3  (5 points)

Question CH05s
Thermoregulation involves altering the relationship between heat ________, which occurs mainly at the body surface, and heat production, which occurs in all body tissues. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	loss
	100%
	Loss (100%)


Score 5 / 5 



Question 4  (5 points)

Question CH06s
The ________ system contains arteries, capillaries, and veins. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	cardiovascular
	100%
	Cardiovascular (100%)


Score 5 / 5 



Question 5  (5 points)

Question TB87
In ____________ feedback mechanisms, the action of the effector is amplified. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	positive
	100%
	positive (100%)


Score 5 / 5 



Question 6  (5 points)

Question CH40
Which of the following is not found in the abdominopelvic cavity? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	liver

	0.0%
	
	
	2.
	stomach

	0.0%
	
	
	3.
	pancreas

	100.0%
	[image: image5.png]



	[image: image6.png]



	4.
	lungs
CORRECT 


Score 5 / 5 



Question 7  (5 points)

Question CH36mc1
The thoracic cavity is separated from the abdominopelvic cavity by the 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	pericardium.

	100.0%
	[image: image7.png]
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	2.
	diaphragm.
CORRECT

	0.0%
	
	
	3.
	liver.

	0.0%
	
	
	4.
	mesentery. 


Score 5 / 5 



Question 8  (5 points)

Question TB16
The hand is ____________ to the shoulder. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	distal
	100%
	distal (100%)


Score 5 / 5 



Question 9  (5 points)

Question TB15
The great toe is ____________ to the little toe. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	medial
	100%
	medial (100%)


Score 5 / 5 



Question 10  (5 points)

Question CH34mc1
A plane that runs horizontally through the body, dividing it into upper and lower portions is called 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	sagittal.

	0.0%
	
	
	2.
	medial.

	0.0%
	
	
	3.
	coronal.

	100.0%
	[image: image9.png]
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	4.
	transverse.
CORRECT 


Score 5 / 5 



Question 11  (5 points)

Question TB03
The abdomen is ____________ to the head. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	inferior
	100%
	inferior (100%)


Score 5 / 5 



Question 12  (5 points)

Question LB01
Enlarge image
Anatomical term labeled? 

[image: image11]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Frons
	100%
	forehead (100%),   frontal (100%),   frons (100%)


General feedback 

Score 5 / 5 



Question 13  (5 points)

Question LB20
Enlarge image
Anatomical term labeled? 

[image: image12]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Femur
	100%
	femoral (100%),   femur (100%),   thigh (100%)


General feedback 

Score 5 / 5 



Question 14  (5 points)

Question LB02
Enlarge image
Anatomical term labeled? 

[image: image13]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Cranium
	100%
	cranium (100%),   cranial (100%),   skull (100%)


General feedback 

Score 5 / 5 



Question 15  (5 points)

Question LB34
Enlarge image
Anatomical term labeled? [May contain multiword answer] 

[image: image14]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Olecranon
	100%
	back of elbow (100%),   olecranon (100%),   olecranal (100%)


General feedback 

Score 5 / 5 



Question 16  (5 points)

Question lb1103trm
Match the label to the corresponding letter on the diagram. 
Click on the down arrow beside each label to see choices. 
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Student response 

	A
	-->
	antebrachium
	Correct

	B
	-->
	carpus
	Correct

	C
	-->
	digits (hand)
	Correct

	D
	-->
	femur
	Correct

	E
	-->
	patella
	Correct

	F
	-->
	crus
	Correct

	G
	-->
	tarsus
	Correct

	H
	-->
	hallux
	Correct

	I
	-->
	digits (toes)
	Correct

	J
	-->
	pollux
	Correct

	K
	-->
	palma
	Correct

	L
	-->
	inguen
	Correct

	M
	-->
	pubis
	Correct


Score 5 / 5 



Question 17  (5 points)

Question lb1105adj
Match the label to the corresponding letter on the diagram. 
Click on the down arrow beside each label to see choices. 
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Student response 

	A
	-->
	buccal
	Correct

	B
	-->
	mental
	Correct

	C
	-->
	mammary
	Correct

	D
	-->
	pelvic
	Correct

	E
	-->
	patellar
	Correct

	F
	-->
	calcaneal
	Correct

	G
	-->
	sural
	Correct

	H
	-->
	gluteal
	Correct

	I
	-->
	dorsal
	Correct

	J
	-->
	brachial
	Correct

	K
	-->
	carpal
	Correct

	L
	-->
	palmar
	Correct

	M
	-->
	femoral
	Correct


Score 5 / 5 



Question 18  (5 points)

Question lb1104trm
Match the label to the corresponding letter on the diagram. 
Click on the down arrow beside each label to see choices. 
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Student response 

	A
	-->
	cephalon
	Correct

	B
	-->
	cervicis
	Correct

	C
	-->
	upper limb
	Correct

	D
	-->
	manus
	Correct

	E
	-->
	lower limb
	Correct

	F
	-->
	planta
	Correct

	G
	-->
	cephalon
	Incorrect
Correct answer calcaneus

	H
	-->
	sura
	Correct

	I
	-->
	popliteus
	Correct

	J
	-->
	gluteus
	Correct

	K
	-->
	lumbus
	Correct

	L
	-->
	olecranon
	Correct

	M
	-->
	dorsum
	Correct


Score 4.62 / 5 



Question 19  (5 points)

Question LP04
Enlarge Image
Descriptive name for cells at pointer? 

[image: image57]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Mesoderm
	0%
	simple (20%)

	2.
	Ectoderm
	0%
	Answer evaluated by the formula. (60%)

	3.
	Germinative Cell
	0%
	epithelium (20%)


Score 0 / 5 



Question 20  (5 points)

Question LP01d
Enlarge Image
Name of microscope part labeled? 

[image: image58]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Ocular Lense 10X
	0%
	ocular (80%)

	2.
	Ocular Lense
	0%
	lens (20%)


General feedback 

Score 0 / 5
Question 1  (5 points)

Question CH01mc1
Which of the following answers includes the four basic tissue types? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	bone, cartilage, muscle, and neural

	100.0%
	[image: image59.png]
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	2.
	connective,epithelial, muscular, and neural
CORRECT

	0.0%
	
	
	3.
	endocrine, skeletal, inspiratory, and neural

	0.0%
	
	
	4.
	muscle, neural, digestive, and excretory 


Score 5 / 5 



Question 2  (5 points)

Question TB21
One of the characteristics of this type of epithelial tissue is that material can readily diffuse through it, such as in alveoli. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	stratified columnar

	0.0%
	
	
	2.
	psuedostratified columnar

	0.0%
	
	
	3.
	simple columnar

	0.0%
	
	
	4.
	stratified squamous

	100.0%
	[image: image61.png]
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	5.
	simple squamous 


Score 5 / 5 



Question 3  (5 points)

Question CH05mc2
Gap junctions 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	block the passage of water and solutes between cells.

	0.0%
	
	
	2.
	reinforce the attachments between cells.

	100.0%
	[image: image63.png]
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	3.
	produce narrow passages that allow ions to move between cells.
CORRECT

	0.0%
	
	
	4.
	are most common in bone tissue and blood. 


Score 5 / 5 



Question 4  (5 points)

Question CH08mc1
Keratinized, stratified, squamous epithelia are typically found 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	lining blood vessels.

	0.0%
	
	
	2.
	lining nasal passages.

	0.0%
	
	
	3.
	covering your kidneys.

	100.0%
	[image: image65.png]
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	4.
	on exposed body surfaces.
CORRECT 


Score 5 / 5 



Question 5  (5 points)

Question LB25
Enlarge image
Type of intercellular connection labeled? 

[image: image67]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Gap
	50%
	gap (50%)

	2.
	Junction
	50%
	junction (50%)


Score 5 / 5 



Question 6  (5 points)

Question LB34
Enlarge image
Mechanism of glandular secretion labeled? 

[image: image68]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Holocrine
	100%
	holocrine (100%)


General feedback 

Score 5 / 5 



Question 7  (5 points)

Question CH16
Which one of the following is not a function of connective tissues? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image69.png]
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	1.
	producing specialized secretions
CORRECT

	0.0%
	
	
	2.
	protecting delicate organs

	0.0%
	
	
	3.
	transporting materials

	0.0%
	
	
	4.
	storing energy reserves 


Score 5 / 5 



Question 8  (5 points)

Question TB37
Which is NOT a function of connective tissue? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	transport

	0.0%
	
	
	2.
	support

	0.0%
	
	
	3.
	defense

	100.0%
	[image: image71.png]
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	4.
	communication

	0.0%
	
	
	5.
	storage 


Score 5 / 5 



Question 9  (5 points)

Question CH34
Tendons and ligaments are examples of what type of connective tissue? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	superficial fascia

	0.0%
	
	
	2.
	hypodermis

	100.0%
	[image: image73.png]
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	3.
	deep fascia
CORRECT

	0.0%
	
	
	4.
	subserous fascia 


Score 5 / 5 



Question 10  (5 points)

Question CH20
Which of the following cell types is not found in connective tissue proper? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	adipocytes

	0.0%
	
	
	2.
	mast cells

	100.0%
	[image: image75.png]
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	3.
	erythrocytes
CORRECT

	0.0%
	
	
	4.
	fibroblasts 


Score 5 / 5 



Question 11  (5 points)

Question LB39
Enlarge image
Type of connective tissue labeled? 

[image: image77]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Dense
	50%
	dense (50%)

	2.
	Irregular
	50%
	irregular (50%)


General feedback 

Score 5 / 5 



Question 12  (5 points)

Question CH19
Which of the following is a fluid connective tissue? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	saliva

	100.0%
	[image: image78.png]
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	2.
	blood
CORRECT

	0.0%
	
	
	3.
	cartilage

	0.0%
	
	
	4.
	adipose tissue 


Score 5 / 5 



Question 13  (5 points)

Question LB42
Enlarge image
Type of connective tissue labeled? 

[image: image80]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Wharton's
	0%
	hyaline (40%)

	2.
	Jelly
	0%
	cartilage (60%)


General feedback 

Score 0 / 5 



Question 14  (5 points)

Question LB15
Enlarge image
Name of stained structure labeled? 

[image: image81]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Nucleolus
	0%
	nucleus (100%),   nuclei (80%)


General feedback 

Score 0 / 5 



Question 15  (5 points)

Question TB23
Osteoblasts are specialized cells that build bone tissue. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image82.png]



	[image: image83.png]



	1.
	True

	0.0%
	
	
	2.
	False 


Score 5 / 5 



Question 16  (5 points)

Question LB18
Enlarge image
Name of structure at pointer? 

[image: image84]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Tongue
	0%
	thrombocyte (100%),   platelet (100%)


General feedback 

Score 0 / 5 



Question 17  (5 points)

Question CH03tf
There are three types of muscle tissue: smooth, rough, and cardiac. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	TRUE

	100.0%
	[image: image85.png]
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	2.
	FALSE
CORRECT 


Score 5 / 5 



Question 18  (5 points)

Question LB21
Enlarge image
Name of cell labelled? 

[image: image87]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Cardiac
	0%
	smooth (60%)

	2.
	Muscle
	40%
	muscle (40%)


General feedback 

Score 2 / 5 



Question 19  (5 points)

Question CH02tf
Dendrites carry information away from the soma toward the synaptic terminals. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	TRUE

	100.0%
	[image: image88.png]



	[image: image89.png]



	2.
	FALSE
CORRECT 


Score 5 / 5 



Question 20  (5 points)

Question LB13
Enlarge image
Type of tissue? 

[image: image90]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Neural
	100%
	nervous (80%),   neural (100%),   nerve (80%)


General feedback 

Score 5 / 5
Question 1  (5 points)

Question TB30
Mature cells that compose the human body are highly specialized and complex. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image91.png]



	[image: image92.png]



	1.
	True

	0.0%
	
	
	2.
	False 


Score 5 / 5 



Question 2  (5 points)

Question TB35
Proteins of the plasma membrane function as 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	20.0%
	[image: image93.png]



	
	1.
	pores.

	20.0%
	[image: image94.png]



	
	2.
	selective channels.

	20.0%
	[image: image95.png]



	
	3.
	receptors.

	100.0%
	[image: image96.png]
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	4.
	All of the above are true. 


Score 5 / 5 



Question 3  (5 points)

Question CH03tf
In an isotonic solution, there is no movement of water molecules. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	[image: image98.png]



	1.
	TRUE
Incorrect. Molecules are always in motion.

	100.0%
	[image: image99.png]



	
	2.
	FALSE


Score 0 / 5 



Question 4  (5 points)

Question CH17
The simultaneous transport of sodium ions and glucose across cell membranes in your small intestine is an example of 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	40.0%
	[image: image100.png]



	
	1.
	cotransport.

	40.0%
	[image: image101.png]



	
	2.
	secondary active transport.

	100.0%
	[image: image102.png]
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	3.
	Both 1 and 2 are true.
CORRECT

	0.0%
	
	
	4.
	None of the above are true. 


Score 5 / 5 



Question 5  (5 points)

Question CH08mc1
A solution that contains a solute concentration equal to that in a cell is said to be 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	hypotonic.

	0.0%
	
	
	2.
	hypertonic.

	100.0%
	[image: image104.png]
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	3.
	isotonic.
CORRECT

	0.0%
	
	
	4.
	microtonic. 


Score 5 / 5 



Question 6  (5 points)

Question TB64
Which of the following environments would create the highest osmotic (turgor) pressure in a cell? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	a hypertonic solution

	100.0%
	[image: image106.png]



	
	2.
	a hypotonic solution

	0.0%
	
	[image: image107.png]



	3.
	a solution with a small amount of solvent

	0.0%
	
	
	4.
	a solution with a large amount of solute

	0.0%
	
	
	5.
	an isotonic solution 


Score 0 / 5 



Question 7  (5 points)

Question TB19
Electrolytes produce a higher degree of osmotic potential than nonelectrolytes. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image108.png]
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	1.
	True

	0.0%
	
	
	2.
	False 


Score 5 / 5 



Question 8  (5 points)

Question TB70
Which of the following would create the highest osmotic pressure in a plant cell? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	a hypertonic solution

	100.0%
	[image: image110.png]
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	2.
	a hypotonic solution

	0.0%
	
	
	3.
	a solution with a small amount of solvent

	0.0%
	
	
	4.
	a solution with a high amount of solute

	0.0%
	
	
	5.
	an isotonic solution 


Score 5 / 5 



Question 9  (5 points)

Question TB11
A selectively permeable membrane is required for diffusion to occur. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	[image: image112.png]



	1.
	True

	100.0%
	[image: image113.png]



	
	2.
	False 


Score 0 / 5 



Question 10  (5 points)

Question CH04mc2
Which of the following statements about membrane permeability is false? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	Cell membranes are described as selectively permeable because they permit passage of some materials and restrict passage of other materials.

	0.0%
	
	
	2.
	The only basis on which membrane permeability to a substance is regulated is the electrical charge of the substance.

	100.0%
	[image: image114.png]
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	3.
	Passive processes always move materials against a concentration gradient.
CORRECT

	0.0%
	
	
	4.
	Active processes require the use of energy from the cell, usually in the form of ATP.

	0.0%
	
	
	5.
	Carrier-mediated transport may use either passive or active processes.

	0.0%
	
	
	6.
	Vesicular transport is always an active process. 


Score 5 / 5 



Question 11  (5 points)

Question TB28
Lytic enzymes which destroy waste and toxic materials in the cell are found in the 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	nucleus.

	0.0%
	
	
	2.
	ribosome.

	100.0%
	[image: image116.png]
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	3.
	lysosome.

	0.0%
	
	
	4.
	mitochondrion.

	0.0%
	
	
	5.
	Golgi apparatus. 


Score 5 / 5 



Question 12  (5 points)

Question TB61
When cellular damage occurs, enzymes that help to clean up cellular debris and invading bacteria are released from cytochromes. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	[image: image118.png]



	1.
	True

	100.0%
	[image: image119.png]



	
	2.
	False 


Score 0 / 5 



Question 13  (5 points)

Question CH30
Which of the following statements about glycolysis is true? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image120.png]
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	1.
	It occurs in cytoplasm.
CORRECT

	0.0%
	
	
	2.
	It is part of the TCA cycle.

	0.0%
	
	
	3.
	It produces fructose.

	0.0%
	
	
	4.
	It occurs inside mitochondria. 


Score 5 / 5 



Question 14  (5 points)

Question TB51
The number of mitochondria in a cell is basically related to its degree of activity. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image122.png]
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	1.
	True

	0.0%
	
	
	2.
	False 


Score 5 / 5 



Question 15  (5 points)

Question TB63
Which occurs in the process of translation? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	20.0%
	[image: image124.png]



	
	1.
	The genetic code is translated into protein molecules.

	0.0%
	
	
	2.
	DNA is synthesized.

	0.0%
	
	
	3.
	DNA becomes the template for RNA synthesis.

	100.0%
	[image: image125.png]
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	4.
	Polypeptides are assembled.

	0.0%
	
	
	5.
	RNA is synthesized. 


Score 5 / 5 



Question 16  (5 points)

Question CH28
There are __________ possible codons to carry information about __________ different amino acids. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	16, 16

	0.0%
	
	
	2.
	32, 20

	0.0%
	
	
	3.
	4, 20

	100.0%
	[image: image127.png]
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	4.
	64, 20
CORRECT 


Score 5 / 5 



Question 17  (5 points)

Question CH02tf
Translation is the process in which the RNA is produced from a DNA template. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	TRUE

	100.0%
	[image: image129.png]
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	2.
	FALSE
CORRECT 


Score 5 / 5 



Question 18  (5 points)

Question CH03m
Put the following steps of translation into the proper order by matching them to (1) first through (6) last: 
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Student response 

	1
	-->
	mRNA binds a light ribosomal subunit, and the start codon binds a tRNA carrying methionine.
	Correct

	2
	-->
	A heavy ribosomal subunit joins the complex to create a complete ribosome.
	Correct

	3
	-->
	Elongation begins as a second tRNA's anticodon binds the next codon on the mRNA.
	Correct

	4
	-->
	The ribosome breaks the amino acid off its tRNA and attaches it to its neighbor by a peptide bond.
	Correct

	5
	-->
	Each tRNA binds to the next codon of the mRNA, adding amino acids to the polypeptide chain.
	Correct

	6
	-->
	Termination occurs when a stop codon is reached in the mRNA being read.
	Correct


Score 5 / 5 



Question 19  (5 points)

Question CH37
Most cells in your body 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	spend most of their time actively dividing.

	100.0%
	[image: image137.png]



	[image: image138.png]



	2.
	spend most of their time in interphase.
CORRECT

	0.0%
	
	
	3.
	spend most of their time in meiosis.

	0.0%
	
	
	4.
	spend most of their time preparing to commit cell suicide. 


Score 5 / 5 



Question 20  (5 points)

Question LP11
Enlarge image
Stage of development labeled? 

[image: image139]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	telophase
	0%
	anaphase (100%)


Score 0 / 5
Question 1  (5 points)

Question TB54
The isotope of carbon with an atomic mass of 14 contains ___________ neutrons. (Enter # between 0-99) 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	8
	100%
	8 (100%)


Score 5 / 5 



Question 2  (5 points)

Question CH02mc1
The atomic weight of oxygen is 16. One Mole of oxygen will weigh 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	12 grams.

	0.0%
	
	
	2.
	18 grams.

	100.0%
	[image: image140.png]



	
	3.
	16 grams.

	0.0%
	
	[image: image141.png]



	4.
	32 grams. 


Score 0 / 5 



Question 3  (5 points)

Question TB42
Sodium is an anion with a negative charge. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	True

	100.0%
	[image: image142.png]
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	2.
	False 


Score 5 / 5 



Question 4  (5 points)

Question CH06s
Ions with a negative charge are called ________. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	anions
	100%
	Anions (100%)


Score 5 / 5 



Question 5  (5 points)

Question TB82
Which of the following parts of an atom is MOST responsible in the formation of bonds between atoms? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	inner-most electron shell

	100.0%
	[image: image144.png]
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	2.
	outer-most electron shell

	0.0%
	
	
	3.
	nucleus

	0.0%
	
	
	4.
	atomic number

	0.0%
	
	
	5.
	atomic weight 


Score 5 / 5 



Question 6  (5 points)

Question CH14mc2
This reaction would be classified as a (an) _____________ reaction. [image: image146]
	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	decomposition

	0.0%
	
	
	2.
	catabolic

	100.0%
	[image: image147.png]
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	3.
	anabolic
CORRECT 


Score 5 / 5 



Question 7  (5 points)

Question CH14mc1
Enzymes act by 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image149.png]
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	1.
	lowering the energy of activation of a chemical reaction.
CORRECT

	0.0%
	
	
	2.
	raise the energy of activation of a chemical reaction.

	0.0%
	
	
	3.
	make a chemical reaction occur more slowly.

	0.0%
	
	
	4.
	change the equilibrium point of a chemical reaction. 


Score 5 / 5 



Question 8  (5 points)

Question CH02m
Match each property with the corresponding term: 
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Student response 

	means doesn't associate well with water
	-->
	hydrophilic
	Incorrect
Correct answer hydrophobic

	particles dispersed in a medium
	-->
	solute
	Correct

	medium in which particles are dispersed
	-->
	solvent
	Correct

	means does not interact well with water
	-->
	hydrophobic
	Incorrect
Correct answer hydrophilic

	dissolves to ions that conduct current
	-->
	electrolyte
	Correct


Score 3 / 5 



Question 9  (5 points)

Question TB10
A solution that contains GREATER numbers of hydrogen ions than hydroxyl ions would be called ____________. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	acidic
	100%
	acidic (100%)


Score 5 / 5 



Question 10  (5 points)

Question TB30
If the pH of a carbonated soft drink is 3.0 and one mixes 1 milliliter of it with 99 milliliters of distilled water, the new pH is (Enter # between 0-99) 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	6
	0%
	5 (100%)


Score 0 / 5 



Question 11  (5 points)

Question TB56
The most important bond in an organic molecule is the ____________ bond. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	covalent
	100%
	covalent (100%)


Score 5 / 5 



Question 12  (5 points)

Question TB12
All organic compounds in the human body contain which of the following elements? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	33.3%
	[image: image156.png]
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	1.
	oxygen.

	33.3%
	[image: image158.png]
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	2.
	carbon.

	33.3%
	[image: image160.png]
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	3.
	hydrogen.

	-33.3%
	
	[image: image162.png]



	4.
	nitrogen.

	-33.3%
	
	[image: image163.png]



	5.
	sulfur.

	-33.3%
	
	
	6.
	chloride. 


Score 1.67 / 5 



Question 13  (5 points)

Question TB29
If each carbon in the fatty acid chain is bonded with four single covalent bonds, the fatty acid is said to be 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	complete.

	0.0%
	
	
	2.
	incomplete.

	100.0%
	[image: image164.png]
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	3.
	saturated.

	0.0%
	
	
	4.
	unsaturated.

	0.0%
	
	
	5.
	polyunsaturated. 


Score 5 / 5 



Question 14  (5 points)

Question CH28
In general, a lipid contains __________ than a carbohydrate with an equal number of carbons. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	less hydrogen

	0.0%
	
	
	2.
	more oxygen

	100.0%
	[image: image166.png]
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	3.
	much less oxygen
CORRECT

	0.0%
	
	
	4.
	more ions 


Score 5 / 5 



Question 15  (5 points)

Question TB53
The fundamental properties of each protein are determined by 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	its size.

	100.0%
	[image: image168.png]
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	2.
	its shape.

	0.0%
	
	
	3.
	its color.

	0.0%
	
	
	4.
	its composition.

	0.0%
	
	
	5.
	its peptide bonds. 


Score 5 / 5 



Question 16  (5 points)

Question CH50
The complex folds and ridges found in proteins dissolved in water are examples of 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	primary structure.

	0.0%
	
	
	2.
	secondary structure.

	100.0%
	[image: image170.png]
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	3.
	tertiary structure.
CORRECT

	0.0%
	
	
	4.
	quaternary structure. 


Score 5 / 5 



Question 17  (5 points)

Question CH48
The four nucleotides found in RNA are 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	adenine, thymine, glycine, and cysteine.

	0.0%
	
	
	2.
	thymine, cytosine, uracil, and alanine.

	100.0%
	[image: image172.png]
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	3.
	adenine, uracil, guanine, and cytosine.
CORRECT

	0.0%
	
	
	4.
	adenine, guanine, thymine, and cytosine. 


Score 5 / 5 



Question 18  (5 points)

Question TB81
Which of the following nitrogen bases is NOT a component of the DNA molecule? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image174.png]
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	1.
	uracil

	0.0%
	
	
	2.
	adenine

	0.0%
	
	
	3.
	guanine

	0.0%
	
	
	4.
	thymine

	0.0%
	
	
	5.
	cytosine 


Score 5 / 5 



Question 19  (5 points)

Question CH05s
To which of the four major classes of organic compounds are the high-energy compounds most closely related? 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	nucleic
	50%
	nucleic (50%)

	2.
	acids
	50%
	acids (50%)


Score 5 / 5 



Question 20  (5 points)

Question TB73
Which of the following are monosaccharides? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	-25.0%
	
	
	1.
	ivory

	-25.0%
	
	
	2.
	Sucrose

	50.0%
	[image: image176.png]
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	3.
	Glucose

	-25.0%
	
	
	4.
	peanut hulls

	50.0%
	[image: image178.png]
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	5.
	Deoxyribose

	-25.0%
	
	
	6.
	Maltose 


Score 5 / 5 

Question 1  (5 points)

Question TB001
Each of the following is a function of the integumentary system except one. Identify the exception. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	protection of underlying tissue

	0.0%
	
	
	2.
	excretion

	0.0%
	
	
	3.
	maintenance of body temperature

	100.0%
	[image: image180.png]
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	4.
	synthesis of vitamin C

	0.0%
	
	
	5.
	nutrition and storage 


Score 5 / 5 



Question 2  (5 points)

Question CH15mc2
In which layer of the epidermis would you find melanocytes? 
[image: image182]
	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	Stratum corneum

	0.0%
	
	
	2.
	Stratum lucidum

	100.0%
	[image: image183.png]
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	3.
	Stratum germinativum
CORRECT

	0.0%
	
	
	4.
	Stratum granulosum

	0.0%
	
	
	5.
	Stratum spinosum 


Score 5 / 5 



Question 3  (5 points)

Question TB045
As cells move from the deeper epidermal layers to the surface, they undergo ____________, a process that changes their shape, structure, and composition. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	keratinization
	100%
	keratinization (100%)


Score 5 / 5 



Question 4  (5 points)

Question TB053
____________ covering the skin and ____________ in the skin protect against ultraviolet radiation. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Always
	0%
	hair (40%),   Hair (50%)

	2.
	using sunblock
	0%
	melanin (50%)


General feedback 

Score 0 / 5 



Question 5  (5 points)

Question LP15
Enlarge image
Name of cell labeled D? 

[image: image185]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	melanocyte
	100%
	melanocyte (100%)


Score 5 / 5 



Question 6  (5 points)

Question CH03mc2
Which of the following statements about skin pigmentation is false? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	Part of the pigmentation of skin is dependent on dermal blood supply.

	0.0%
	
	
	2.
	Albino individuals have as many melanocytes as non-albinos; they just can't produce melanin.

	0.0%
	
	
	3.
	Melanosomes are passed from melanocytes to keratinocytes, producing pigment in the entire epidermis.

	0.0%
	
	
	4.
	Individuals with darker skin pigmentation are less likely to have skin cancer than those with lighter pigmentation under the same exposure to ultraviolet light.

	100.0%
	[image: image186.png]
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	5.
	Ultraviolet light only stimulates skin cancer formation in melanocytes.
CORRECT 


Score 5 / 5 



Question 7  (5 points)

Question TB106
Melanin production can be influenced by 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	20.0%
	[image: image188.png]



	
	1.
	genetics.

	20.0%
	[image: image189.png]



	
	2.
	hormones.

	20.0%
	[image: image190.png]



	
	3.
	exposure to sunlight.

	20.0%
	[image: image191.png]



	
	4.
	pregnancy.

	100.0%
	[image: image192.png]
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	5.
	all of these 


Score 5 / 5 



Question 8  (5 points)

Question TB105
Which of the following statements is true? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	40.0%
	[image: image194.png]



	
	1.
	A) Only melanocytes produce melanin.

	40.0%
	[image: image195.png]



	
	2.
	B) Both melanocytes and keratinocytes contain melanin.

	0.0%
	
	
	3.
	C) In Addison's disease, less melanin is produced.

	100.0%
	[image: image196.png]
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	4.
	both a and b are true 


Score 5 / 5 



Question 9  (5 points)

Question TB135
Which of the following statements concerning vitamin D is false? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	Vitamin D is synthesized in the skin when exposed to U.V. light.

	100.0%
	[image: image198.png]
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	2.
	Vitamin D cannot be obtained from ingested food.

	0.0%
	
	
	3.
	Vitamin D is necessary for the uptake of calcium from the intestine.

	0.0%
	
	
	4.
	Vitamin D is necessary for the formation of bone and teeth. 


Score 5 / 5 



Question 10  (5 points)

Question TB102
Parallel curving ridges of dermis that shape the overlying epidermis into fingerprints and footprints 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	20.0%
	[image: image200.png]



	
	1.
	are associated with thick skin.

	20.0%
	[image: image201.png]



	
	2.
	increase friction on surfaces where they are located.

	20.0%
	[image: image202.png]



	
	3.
	improve the grip of the hands and the feet.

	20.0%
	[image: image203.png]



	
	4.
	are caused by the pattern of the papillary layer of the dermis.

	100.0%
	[image: image204.png]
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	5.
	all of the above 


Score 5 / 5 



Question 11  (5 points)

Question TB115
All of the following statements concerning hair are true except one. Identify the exception. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	Hair growth occurs in cycles involving a growth stage and a resting stage.

	0.0%
	
	
	2.
	Some loss of hair is quite normal and indicates old hairs being pushed out by new hairs.

	100.0%
	[image: image206.png]
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	3.
	The growth rate of all types of hair is the same.

	0.0%
	
	
	4.
	Pattern baldness occurs when hair follicles revert to producing vellus hairs.

	0.0%
	
	
	5.
	Cutting, shaving, or plucking hair does not seem to alter the growth rate of hair. 


Score 5 / 5 



Question 12  (5 points)

Question LP28
Enlarge image
Match name of structure to label? 
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Student response 

	F
	-->
	discharge of sebum
	Correct

	B
	-->
	sebaceous gland
	Correct

	H
	-->
	breakdown of cell walls
	Correct

	J
	-->
	germination of cells
	Correct

	G
	-->
	lumen
	Correct

	I
	-->
	mitosis and growth
	Correct

	D
	-->
	wall of hair follicle
	Correct


Score 5 / 5 



Question 13  (5 points)

Question TB114
Which of the following hair colors is the result of a modified type of melanin? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	black

	0.0%
	
	
	2.
	brown

	100.0%
	[image: image216.png]



	
	3.
	red

	0.0%
	
	
	4.
	blond

	0.0%
	
	[image: image217.png]



	5.
	gray 


Score 0 / 5 



Question 14  (5 points)

Question TB133
On coming inside from the cold, students notice that their noses are red. This results from 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	constriction of the vessels in the dermis of the nose.

	100.0%
	[image: image218.png]
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	2.
	dilation of the vessels in the dermis of the nose.

	0.0%
	
	
	3.
	damage to the epidermis by the cold.

	0.0%
	
	
	4.
	decreased blood supply to the dermis to retain heat.

	0.0%
	
	
	5.
	constriction of the sweat glands in the nose. 


Score 5 / 5 



Question 15  (5 points)

Question CH08mc2
Which of the following statements about skin glands is not correct? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	Sebaceous glands and sebaceous follicles produce and release sebum, or body oil.

	0.0%
	
	
	2.
	Sebaceous glands release their secretions into a hair follicle.

	0.0%
	
	
	3.
	Apocrine sweat glands are located in the armpits, around the nipples, and in the groin.

	0.0%
	
	
	4.
	Mammary glands are anatomically related to apocrine sweat glands.

	100.0%
	[image: image220.png]
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	5.
	Ceruminous glands are modified sebaceous glands in the ear canal, where they produce earwax.
CORRECT 


Score 5 / 5 



Question 16  (5 points)

Question TB024
The highest concentration of merocrine sweat glands would be found 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	in the axillae

	0.0%
	
	
	2.
	on the chest

	100.0%
	[image: image222.png]
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	3.
	on the palms of the hands

	0.0%
	
	
	4.
	on the upper back

	0.0%
	
	
	5.
	surrounding the genitals 


Score 5 / 5 



Question 17  (5 points)

Question TB131
In response to an increase in body temperature, 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image224.png]



	
	1.
	A) sweating occurs.

	0.0%
	
	
	2.
	B) arterioles in the dermis constrict.

	0.0%
	
	[image: image225.png]



	3.
	both a and b occur

	0.0%
	
	
	4.
	neither a nor b occurs 


Score 0 / 5 



Question 18  (5 points)

Question TB126
The epidermal layer that is present in the nail bed and the nail matrix is the 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	[image: image226.png]



	1.
	stratum corneum.

	0.0%
	
	
	2.
	stratum lucidum.

	100.0%
	[image: image227.png]



	
	3.
	stratum germinativum.

	0.0%
	
	
	4.
	stratum spinosum.

	0.0%
	
	
	5.
	stratum disjunctum. 


Score 0 / 5 



Question 19  (5 points)

Question CH26
The protective scab that forms over an injury consists of 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	granulation tissue.

	100.0%
	[image: image228.png]
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	2.
	fibrin.
CORRECT

	0.0%
	
	
	3.
	collagen fibers.

	0.0%
	
	
	4.
	cellulite. 


Score 5 / 5 



Question 20  (5 points)

Question TB109
A victim of an automobile accident goes into shock. Their skin will 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image230.png]
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	1.
	appear quite pale.

	0.0%
	
	
	2.
	have a reddish hue.

	0.0%
	
	
	3.
	develop a yellow tint.

	0.0%
	
	
	4.
	none of these 


Score 5 / 5 

Question 1  (5 points)

Question LP01b
Enlarge ImageTo start, you need a microscope and your textbook, as well as a laptop.
Using GOOGLE, search for ‘microscope parts’.
Name of microscope part labeled?

[image: image232]
Student response

Illuminator 

Correct answer 

illuminator 

Score 5 / 5 



Question 2  (5 points)

Question LP02a
Enlarge Image
Name of microscope part labeled?
[Since there are two answer blocks, the answer has two parts…put one part of the answer in each answer block. 

[image: image233]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Objective
	80%
	objective (80%)

	2.
	Lens
	20%
	lens (20%)


General feedback 

Score 5 / 5 



Question 3  (5 points)

Question LP03b
Enlarge Image
[The original of the ‘large’ image can be found by using GOOGLE to search for ‘jaydoc histoweb’ the Histology Website for the Kansas University Medical Center. Then the graphic should be compared to the actual histology slide (dorsal root ganglion) using the microscope (400x).]
Although there are trillions of cells in the body, there are only about 200 types of cells. These combine to make up four basic tissue types. Here the type of tissue labeled is ____________ tissue?

[image: image234]
Student response

Neural 

Correct answer 

neural or nerve or nervous 

Score 5 / 5 



Question 4  (5 points)

Question LP06
Enlarge Image
[Annotation on the enlarged image identifies nerve slide 6 from ‘jaydoc histoweb’.] Name of cell at arrow?

[image: image235]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Sensory
	50%
	sensory (50%)

	2.
	Neuron
	50%
	neuron (50%)


General feedback 

Score 5 / 5 



Question 5  (5 points)

Question LP39
Enlarge ImageAnnotation on enlarged image indicates that the origin is found in ADAM Interactive Anatomy (AIA). Choose Open: Content in the File Menu. Select Atlas Anatomy. Select System under Show Images For. Select Integumentary from the Sub-options list and Abdominopelvic Regions from the Results Images found list. Click the open button. Finally click the Structure List and select cecum.
Name of region of abdominal cavity where the cecum is located?

[image: image236]
Student response

Right Inguinal Region 

Correct answer 

right inguinal region or right iliac region 

Score 5 / 5 



Question 6  (5 points)

Question LP08
Enlarge Image
[Annotation on the enlarged image identifies Textbook Figure.] Anatomical term labeled?

[image: image237]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Antecubitis
	100%
	front of elbow (100%),   antecubitis (100%),   antecubital (100%)


General feedback 

Score 5 / 5 



Question 7  (5 points)

Question LP14
Enlarge Image
Name of structure at arrow?

[image: image238]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Axon
	100%
	axon (100%)


General feedback 

Score 5 / 5 



Question 8  (5 points)

Question LP16
Enlarge Image
Name of cell at pointer?

[image: image239]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Smooth
	40%
	smooth (40%)

	2.
	Muscle
	40%
	muscle (40%)

	3.
	Cell
	20%
	cell (20%)


General feedback 

Score 5 / 5 



Question 9  (5 points)

Question LP18
Enlarge Image
Name of structure at arrow?

[image: image240]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Cytoplasm
	100%
	cytoplasm (100%)


General feedback 

Score 5 / 5 



Question 10  (5 points)

Question LP19
Enlarge Image
Compare this picture to Text Figure 6-4a...then imagine a tranverse cut lower down.] Name of structure at arrow?

[image: image241]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Perforating
	0%
	perforating (50%),   Volkmann (50%)

	2.
	Canal
	0%
	canal (50%)


General feedback 

Score 0 / 5 



Question 11  (5 points)

Question LP41
Enlarge ImageAnnotation on enlarged image indicates that the origin is found in ADAM Interactive Anatomy (AIA). Choose Open: Content in the File Menu. Select Dissectible Anatomy. Select Male for Gender. Select Anterior for View. Click the open button. Finally set the Layer Indicator to Depth 14.
Name of type of connecting tissue of structure A?

[image: image242]
Student response

Hyaline Cartilage 

Correct answer 

cartilage or hyaline cartilage 

Score 5 / 5 



Question 12  (5 points)

Question LP21
Enlarge Image
Structure labeled is a ____________ corpuscle?

[image: image243]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Meissner's
	100%
	Meissner's (100%),   meissner's (80%)


General feedback 

Score 5 / 5 



Question 13  (5 points)

Question LP26
Enlarge Image
Type of tissue at arrow?

[image: image244]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Cardiac
	0%
	epithelium (40%),   epithelial (100%),   epithelia (50%)


General feedback 

Score 0 / 5 



Question 14  (5 points)

Question LP27
Enlarge Image
Type of connecting tissue labeled?

[image: image245]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Bone
	100%
	bone (100%)


General feedback 

Score 5 / 5 



Question 15  (5 points)

Question LP30
Enlarge Image
[The original of the ‘large’ image can be found by using GOOGLE to search for ‘LUMEN’ the Histology Website for the Loyola University Medical Education Network. Then the graphic should be compared to the actual histology slide (blood) using the microscope (400x).] Name of cytoplasmic structure at pointer?

[image: image246]
Student response

Lysosome 

Correct answer 

granule or lysosome 

Score 5 / 5 



Question 16  (5 points)

Question LP31
Enlarge Image
Type of tissue at pointer?

[image: image247]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Muscle
	100%
	muscle (100%)


General feedback 

Score 5 / 5 



Question 17  (5 points)

Question LP33
Enlarge Image
Type of tissue?

[image: image248]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Connective
	100%
	connective (100%)


General feedback 

Score 5 / 5 



Question 18  (5 points)

Question LP36
Enlarge Image
Number of layers of tissue labeled?

[image: image249]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Stratified
	100%
	stratified (100%)


Score 5 / 5 



Question 19  (5 points)

Question LP38
Enlarge Image
Name of structure A is part of?

[image: image250]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Fingernail
	100%
	finger nail (100%),   fingernail (100%)


General feedback 

Score 5 / 5 



Question 20  (5 points)

Question LP07
Enlarge Image
[Annotation on the enlarged image identifies textbook figure.] any slice through a three-dimensional object can be described with reference to three sectional planes. Name for section labeled?

[image: image251]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	Transverse
	100%
	transverse (100%)


General feedback 

Score 5 / 5
Question 1  (5 points)

Question LP02a
Enlarge Image
The function of part labeled is to ____________ ____________. 

[image: image252]
	No.
	Student response

	1.
	maximize

	2.
	resolution


General feedback 

Score 0 / 5 



Question 2  (5 points)

Question LB27
Enlarge image
Name of part labeled? 

[image: image253]
	No.
	Student response

	1.
	illuminator


General feedback 

Score 5 / 5 



Question 3  (5 points)

Question lb1101
Match the label to the corresponding letter on the diagram. 
Click on the down arrow beside each label to see choices. 

[image: image254]
[image: image255.wmf]
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Student response 

	A
	-->
	frons or forehead (frontal)

	B
	-->
	oculus or eye (orbital or ocular)

	C
	-->
	bucca or cheek (buccal)

	D
	-->
	thoracis or thorax, chest (thoracic)

	E
	-->
	mamma or breast (mammary)

	F
	-->
	antecubitis or front of elbow (antecubital)

	G
	-->
	antebrachium or forearm (antebrachial)

	H
	-->
	carpus or wrist (carpal)

	I
	-->
	pollex or thumb (pollical)

	J
	-->
	brachium or arm (brachial)

	K
	-->
	axilla or armpit (axillary)

	L
	-->
	auris or ear (otic)

	M
	-->
	cranium or skull (cranial)


Score 5 / 5 



Question 4  (5 points)

Question lb1102
Match the label to the corresponding letter on the diagram. 
Click on the down arrow beside each label to see choices. 

[image: image268]
[image: image269.wmf]

weV/GQAUn3Ae



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image270.wmf]

weZfm2sbnRV9w



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image271.wmf]

weBQvE0Qnoy7Y



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image272.wmf]

wewW4yWA9xi2



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image273.wmf]

we.HPDE40t8gU



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image274.wmf]

weyjnYY7qTexk



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image275.wmf]

weuA.T9YagUY.



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image276.wmf]

wepGB3Q5GdkZ



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image277.wmf]

wefmf7mTEs85Y



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image278.wmf]

weKv1J3.MiUWc



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image279.wmf]

wenughQRdO1M



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image280.wmf]

wedxq2wYvOHg



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image281.wmf]

weGj6gNJDRomw


Student response 

	A
	-->
	nasus or nose (nasal)

	B
	-->
	oris or mouth (oral)

	C
	-->
	cervicis or neck (cervical)

	D
	-->
	abdomen (abdominal)

	E
	-->
	umbilicus or navel (umbilical)

	F
	-->
	inguen or groin (inguinal)

	G
	-->
	femur or thigh (femoral)

	H
	-->
	digits (phalanges) or fingers (digital or phalangeal)

	I
	-->
	palma or palm (palmar)

	J
	-->
	pelvis (pelvic)

	K
	-->
	shoulder (acromial)

	L
	-->
	mentis or chin (mental)

	M
	-->
	facies or face (facial)


Score 5 / 5 



Question 5  (5 points)

Question lb1103
Match the label to the corresponding letter on the diagram. 
Click on the down arrow beside each label to see choices. 
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Student response 

	A
	-->
	antebrachium or forearm (antebrachial)

	B
	-->
	carpus or wrist (carpal)

	C
	-->
	digits or fingers (digital)

	D
	-->
	femur or thigh (femoral)

	E
	-->
	patella or kneecap (patellar)

	F
	-->
	crus or leg (crural)

	G
	-->
	tarsus or ankle (tarsal)

	H
	-->
	hallux or great toe

	I
	-->
	digits or toes (digital)

	J
	-->
	pollux or thumb (pollical)

	K
	-->
	palma or palm (palmar)

	L
	-->
	inguen or groin (inguinal)

	M
	-->
	pubis or pubic


Score 5 / 5 



Question 6  (5 points)

Question lb1104com
Match the label to the corresponding letter on the diagram. 
Click on the down arrow beside each label to see choices. 
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Student response 

	A
	-->
	head (cephalic)

	B
	-->
	neck (cervical)

	C
	-->
	upper limb

	D
	-->
	hand (manual)

	E
	-->
	lower limb

	F
	-->
	sole of foot (plantar)

	G
	-->
	heel of foot (calcaneal)

	H
	-->
	calf (sural)

	I
	-->
	back of knee (popliteal)

	J
	-->
	buttock (gluteal)

	K
	-->
	loin (lumbar)

	L
	-->
	back of elbow (olecranal)

	M
	-->
	back (dorsal)


Score 5 / 5 



Question 7  (5 points)

Question lb1105com
Match the label to the corresponding letter on the diagram. 
Click on the down arrow beside each label to see choices. 
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Student response 

	A
	-->
	cheek (buccal)

	B
	-->
	chin (mental)

	C
	-->
	breast (mammary)

	D
	-->
	pelvis (pelvic)

	E
	-->
	kneecap (patellar)

	F
	-->
	heel of foot (calcaneal)

	G
	-->
	calf (sural)

	H
	-->
	buttock (gluteal)

	I
	-->
	back (dorsal)

	J
	-->
	arm (brachial)

	K
	-->
	wrist (carpal)

	L
	-->
	palm (palmar)

	M
	-->
	thigh (femoral)


Score 5 / 5 



Question 8  (5 points)

Question LB07
Enlarge Image
Name for section labeled? 

[image: image324]
	No.
	Student response

	1.
	transverse


Score 5 / 5 



Question 9  (5 points)

Question LB16
Enlarge image
Anatomical term labeled? 

[image: image325]
	No.
	Student response

	1.
	tarsus


General feedback 

Score 5 / 5 



Question 10  (5 points)

Question LB07
Enlarge image
Anatomical term labeled? 

[image: image326]
	No.
	Student response

	1.
	brachium


General feedback 

Score 5 / 5 



Question 11  (5 points)

Question LB21
Enlarge image
Anatomical term labeled? 

[image: image327]
	No.
	Student response

	1.
	inguen


General feedback 

Score 5 / 5 



Question 12  (5 points)

Question LP39
Name of region of abdominal cavity where appendix is located? 

	No.
	Student response

	1.
	hypogastric

	2.
	(pubic)

	3.
	region


General feedback 

Score 1 / 5 



Question 13  (5 points)

Question LB40
Enlarge Image 
Name of region of abdominal cavity where the gallbladder is located?

[image: image328]
	No.
	Student response

	1.
	umbilical

	2.
	region


Score 5 / 5 



Question 14  (5 points)

Question LB54
Enlarge image
Abdominopelvic region labeled? 

[image: image329]
	No.
	Student response

	1.
	hypogastric 


General feedback 

Score 5 / 5 



Question 15  (5 points)

Question lb1118
Animation
Substances such as glucose may be transported across membranes by carrier proteins in a process called __________ __________? 

[image: image330]
	No.
	Student response

	1.
	facilitated

	2.
	diffusion


General feedback 

Score 5 / 5 



Question 16  (5 points)

Question LB18
Enlarge Image
Name of structure at arrow?

[image: image331]
	No.
	Student response

	1.
	cytoplasm


Score 5 / 5 



Question 17  (5 points)

Question lb1111
Enlarge image
[image: image332]
[image: image333.wmf]
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	A
	 
	endoplasmic reticulum

	B
	 
	forming face

	C
	 
	membrane renewal vesicles

	D
	 
	cytosol

	E
	 
	exocytosis

	F
	 
	Golgi apparatus

	G
	 
	lysosomes

	H
	 
	maturing face

	I
	 
	secretory vesicles

	J
	 
	transport vesicle

	K
	 
	cell membrane (plasmalemma)


Student response 

	A
	-->
	endoplasmic reticulum

	B
	-->
	forming face

	C
	-->
	maturing face

	D
	-->
	lysosomes

	E
	-->
	cytosol

	F
	-->
	cell membrane (plasmalemma)

	G
	-->
	secretory vesicles

	H
	-->
	membrane renewal vesicles

	I
	-->
	Golgi apparatus

	J
	-->
	transport vesicle

	K
	-->
	exocytosis


Score 5 / 5 



Question 18  (5 points)

Question LB05
Enlarge Image
Type of tissue? 

[image: image344]
	No.
	Student response

	1.
	neural


Score 5 / 5 



Question 19  (5 points)

Question LB04
Enlarge Image
Descriptive name for cells at pointer? 

[image: image345]
	No.
	Student response

	1.
	simple

	2.
	squamos

	3.
	epithelium


Score 2 / 5 



Question 20  (5 points)

Question LB34
Enlarge Image
Name of structure at pointer?

[image: image346]
	No.
	Student response

	1.
	skeletal

	2.
	muscle


Score 0 / 5 



Question 21  (5 points)

Question CH01
Label the following components in the diagram of connective tissue.
[image: image347]
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Student response 

	ground substance
	-->
	D

	elastic fiber
	-->
	E

	collagen fiber
	-->
	A

	fibroblast
	-->
	C

	macrophage
	-->
	B


Score 5 / 5 



Question 22  (5 points)

Question LB42
Enlarge Image
Name of type of tissue of structure A?

[image: image353]
	No.
	Student response

	1.
	epithelial


General feedback 

Score 0 / 5 



Question 23  (5 points)

Question LB10
Enlarge image
Match name of structure to label? 

[image: image354]
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Student response 

	E
	-->
	internal root sheath

	B
	-->
	connective tissue sheath

	C
	-->
	glassy membrane

	D
	-->
	external root sheath

	F
	-->
	cuticle

	G
	-->
	cortex

	A
	-->
	medulla


Score 5 / 5 



Question 24  (5 points)

Question LB10
Enlarge Image
Name of structure labeled? 

[image: image362]
	No.
	Student response

	1.
	pacinian

	2.
	corpuscle


Score 5 / 5 



Question 25  (5 points)

Question lb1101b
Enlarge image
The anatomical term for B is the _________; the corresponding anatomical adjective is ________? 

[image: image363]
	No.
	Student response

	1.
	oculus

	2.
	ocular


General feedback 

Score 5 / 5 



Question 26  (5 points)

Question lb1102e
Enlarge image
The anatomical term for E is the _________; the corresponding anatomical adjective is ________? 

[image: image364]
	No.
	Student response

	1.
	umbilicus

	2.
	umbilical


General feedback 

Score 5 / 5 



Question 27  (5 points)

Question lb1103k
Enlarge image
The anatomical term for K is the _________; the corresponding anatomical adjective is ________? 

[image: image365]
	No.
	Student response

	1.
	palma

	2.
	palmar


General feedback 

Score 5 / 5 



Question 28  (5 points)

Question lb1104a
Enlarge image
The anatomical term for A is the _________; the corresponding anatomical adjective is ________? 

[image: image366]
	No.
	Student response

	1.
	cephalon

	2.
	cephalic


General feedback 

Score 5 / 5 



Question 29  (5 points)

Question lb1105e
Enlarge image
The anatomical term for E is the _________; the corresponding anatomical adjective is ________? 

[image: image367]
	No.
	Student response

	1.
	patella

	2.
	patellar


General feedback 

Score 5 / 5 



Question 30  (5 points)

Question lb1106n
Enlarge image
Structure N is the __________? 

[image: image368]
	No.
	Student response

	1.
	mediastinum


General feedback 

Score 5 / 5 



Question 31  (5 points)

Question lb1107a
Enlarge image
Structure A is the __________ __________? 

[image: image369]
	No.
	Student response

	1.
	cranial

	2.
	cavity


General feedback 

Score 5 / 5 



Question 32  (5 points)

Question lb1123a
Enlarge image
Structure A is the _________ _________? 

[image: image370]
	No.
	Student response

	1.
	electron

	2.
	shell


Score 5 / 5 



Question 33  (5 points)

Question lb1125d
Enlarge image
Structure D is the ________ _________ _________? 

[image: image371]
	No.
	Student response

	1.
	smooth

	2.
	endoplasmic

	3.
	reticulum


General feedback 

Score 5 / 5 



Question 34  (5 points)

Question lb1127i
Enlarge image
Structure I is the _________ _________? 

[image: image372]
	No.
	Student response

	1.
	golgi

	2.
	apparatus


General feedback 

Score 2.5 / 5 



Question 35  (5 points)

Question lb1128h
Enlarge image
Structure H is a(n) _________ _________? 

[image: image373]
	No.
	Student response

	1.
	damaged

	2.
	organelle


General feedback 

Score 5 / 5 



Question 36  (5 points)

Question lb1129d
Enlarge image
Structure D is the ________ _________ or (_________)? 

[image: image374]
	No.
	Student response

	1.
	carbon

	2.
	dioxide

	3.
	molecule

	4.
	CO2


General feedback 

Score 3.3 / 5 



Question 37  (5 points)

Question lb1131b
Enlarge image
Structure B is the ________ _________ of _________? 

[image: image375]
	No.
	Student response

	1.
	sister

	2.
	chromatid

	3.
	telomeres


General feedback 

Score 0 / 5 



Question 38  (5 points)

Question LB26
Enlarge image
Type of epithelial tissue labeled? 

[image: image376]
	No.
	Student response

	1.
	simple

	2.
	squamos


General feedback 

Score 2.5 / 5 



Question 39  (5 points)

Question LB12
Enlarge image
Name of cell at pointer? 

[image: image377]
	No.
	Student response

	1.
	erythrocyte


General feedback 

Score 5 / 5 



Question 40  (5 points)

Question LB5
Enlarge image
Name of dark-stained (purple) structure(s)? 

[image: image378]
	No.
	Student response

	1.
	fibroblast


General feedback 

Score 0 / 5
Question 1  (5 points)

Question TB32
The umbilicus is the most often used surface landmark of the abdomen. 

	Student
Response
	   Answer Choices

	[image: image379.png]



	1.
	True

	
	2.
	False 


Score 5 / 5 



Question 2  (5 points)

Question TB28
The region of the abdomen in which the descending and sigmoid colon are located is the 

	Student
Response
	   Answer Choices

	
	1.
	hypogastric.

	
	2.
	epigastric.

	
	3.
	left hypochondriac.

	[image: image380.png]



	4.
	left iliac. 


Score 5 / 5 



Question 3  (5 points)

Question CH05tf
When you walk into a dim room from the sunlight your pupils enlarge. This is an example of responsiveness. 

	Student
Response
	   Answer Choices

	[image: image381.png]



	1.
	TRUE

	
	2.
	FALSE


Score 5 / 5 



Question 4  (5 points)

Question CH05m
Match each term to complete: "pertaining to the ____." 

[image: image382.wmf]
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Student response 

	gluteal
	-->
	buttock

	phalangeal
	-->
	fingers

	manual
	-->
	hand

	cervical
	-->
	neck

	mammary
	-->
	breast


Score 5 / 5 



Question 5  (5 points)

Question TB97
Match the following body parts with the terms used to describe them 

[image: image387.wmf]
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	1. mouth
	 
	cervical

	2. head
	 
	cutaneous

	3. ribs
	 
	cephalic

	4. skin
	 
	costal

	5. neck
	 
	buccal


Student response 

	1
	-->
	buccal

	2
	-->
	cephalic

	3
	-->
	costal

	4
	-->
	cutaneous

	5
	-->
	cervical


Score 5 / 5 



Question 6  (5 points)

Question TB93
Match the anatomical terms with the correct definition 

[image: image392.wmf]
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	1. divides the body into equal right and left portions
	 
	transverse section

	2. divides the body into superior and inferior portions
	 
	midsagittal section

	3. divides the body into unequal right and left portions
	 
	parasagittal section

	4. divides the body into anterior and posterior portions
	 
	frontal section


Student response 

	1
	-->
	midsagittal section

	2
	-->
	transverse section

	3
	-->
	parasagittal section

	4
	-->
	frontal section


Score 5 / 5 



Question 7  (5 points)

Question TB83
Homeostatic mechanisms work on a negative feedback principle. 

	Student
Response
	   Answer Choices

	[image: image396.png]



	1.
	True

	
	2.
	False 


Score 5 / 5 



Question 8  (5 points)

Question TB44
The ____________ is the basic structural and functional unit of life. 

	No.
	Student response

	1.
	cell


Score 5 / 5 



Question 9  (5 points)

Question TB25
The nervous system allows the body to exercise the life characteristic of irritability. 

	Student
Response
	   Answer Choices

	[image: image397.png]



	1.
	True

	
	2.
	False 


Score 5 / 5 



Question 10  (5 points)

Question CH09mc1
The endocrine system functions to 

	Student
Response
	   Answer Choices

	
	1.
	provide immediate responses to stimuli.

	
	2.
	defend the body against parasites and disease.

	[image: image398.png]



	3.
	direct long-term changes in the activity of the other organ systems.

	
	4.
	produce sex cells and sex hormones. 


Score 5 / 5 



Question 11  (5 points)

Question TB77
Which of the following elements are found in nucleic acids? 

	Student
Response
	   Answer Choices

	[image: image399.png]



	1.
	carbon

	[image: image400.png]



	2.
	oxygen

	[image: image401.png]



	3.
	hydrogen

	[image: image402.png]



	4.
	nitrogen

	[image: image403.png]



	5.
	phosphorus 


Score 5 / 5 



Question 12  (5 points)

Question CH21
Buffers 

	Student
Response
	   Answer Choices

	
	1.
	speed up chemical reactions.

	
	2.
	raise the pH of solutions.

	[image: image404.png]



	3.
	maintain an almost constant pH.

	
	4.
	protect us against parasitic worms. 


Score 5 / 5 



Question 13  (5 points)

Question CH42
There are __________ kinds of amino acids found in human proteins. 

	Student
Response
	   Answer Choices

	
	1.
	100

	
	2.
	26

	[image: image405.png]



	3.
	20

	
	4.
	4 


Score 5 / 5 



Question 14  (5 points)

Question TB18
As a group, compounds that release ions when they dissolve in water are called 

	Student
Response
	   Answer Choices

	
	1.
	acids.

	
	2.
	bases.

	[image: image406.png]



	3.
	salts.

	
	4.
	electrolytes.

	
	5.
	solvents. 


Score 0 / 5 



Question 15  (5 points)

Question TB54
The isotope of carbon with an atomic mass of 14 contains ___________ neutrons. (Enter # between 0-99) 

	No.
	Student response

	1.
	8


Score 5 / 5 



Question 16  (5 points)

Question TB79
Which of the following is a compound? 

	Student
Response
	   Answer Choices

	[image: image407.png]



	1.
	carbon dioxide

	[image: image408.png]



	2.
	water

	
	3.
	air

	
	4.
	oxygen

	
	5.
	iron

	
	6.
	neon 


Score 5 / 5 



Question 17  (5 points)

Question CH31
Cholesterol is an example of a 

	Student
Response
	   Answer Choices

	[image: image409.png]



	1.
	steroid.

	
	2.
	prostaglandin.

	
	3.
	fatty acid.

	
	4.
	glycolipid. 


Score 5 / 5 



Question 18  (5 points)

Question CH02s
A fatty acid with no double bonds in its carbon chain is ________. 

	No.
	Student response

	1.
	saturated


Score 5 / 5 



Question 19  (5 points)

Question TB21
Atomic weight is determined by the number of 

	Student
Response
	   Answer Choices

	
	1.
	protons and electrons.

	
	2.
	neutrons and electrons.

	[image: image410.png]



	3.
	protons and neutrons.

	
	4.
	positive charges in the nucleus.

	
	5.
	isotopes. 


Score 5 / 5 



Question 20  (5 points)

Question CH08mc1
A solution that contains a solute concentration equal to that in a cell is said to be 

	Student
Response
	   Answer Choices

	
	1.
	hypotonic.

	
	2.
	hypertonic.

	[image: image411.png]



	3.
	isotonic.

	
	4.
	microtonic. 


Score 5 / 5 



Question 21  (5 points)

Question TB01
A cell has a lower surface to volume ratio 

	Student
Response
	   Answer Choices

	
	1.
	just before cell division.

	
	2.
	with pseudopodia extended.

	[image: image412.png]



	3.
	if it is diploid.

	
	4.
	right after cell division. 


Score 0 / 5 



Question 22  (5 points)

Question CH09mc2
Which of these statements about chromosome structure is false? 

	Student
Response
	   Answer Choices

	[image: image413.png]



	1.
	Most of the DNA of a nucleus is concentrated in nucleoli when it is uncoiled.

	
	2.
	Each chromosome contains DNA strands bound to histone proteins, which help package the DNA.

	
	3.
	DNA strands wound around histone proteins form structures called nucleosomes.

	
	4.
	The nucleoli contain genetic information for building the ribosomal proteins and RNA. 


Score 5 / 5 



Question 23  (5 points)

Question TB35
Proteins of the plasma membrane function as 

	Student
Response
	   Answer Choices

	
	1.
	pores.

	
	2.
	selective channels.

	
	3.
	receptors.

	[image: image414.png]



	4.
	All of the above are true. 


Score 5 / 5 



Question 24  (5 points)

Question TB04
A cell's cytoplasm contains 0.9% sodium chloride (NaCl). It is immersed in a 10% NaCl solution. Assume that the cell membrane permits free movement of both water and NaCl through it. Under these conditions net movement of NaCl would 

	Student
Response
	   Answer Choices

	
	1.
	occur in both directions.

	
	2.
	occur out of the cell.

	[image: image415.png]



	3.
	occur into the cell.

	
	4.
	not occur. 


Score 5 / 5 



Question 25  (5 points)

Question TB19
Electrolytes produce a higher degree of osmotic potential than nonelectrolytes. 

	Student
Response
	   Answer Choices

	[image: image416.png]



	1.
	True

	
	2.
	False 


Score 5 / 5 



Question 26  (5 points)

Question TB64
Which of the following environments would create the highest osmotic (turgor) pressure in a cell? 

	Student
Response
	   Answer Choices

	
	1.
	a hypertonic solution

	[image: image417.png]



	2.
	a hypotonic solution

	
	3.
	a solution with a small amount of solvent

	
	4.
	a solution with a large amount of solute

	
	5.
	an isotonic solution 


Score 5 / 5 



Question 27  (5 points)

Question CH03mc2
All but one of these is a mechanism by which the cell membrane regulates chemical exchanges between the cell and the environment. Which is the exception to this regulation? 

	Student
Response
	   Answer Choices

	
	1.
	elimination of wastes

	
	2.
	control of entry of ions and nutrients

	[image: image418.png]



	3.
	control of binding of hormones to cell surface proteins

	
	4.
	release of cellular secretions 


Score 5 / 5 



Question 28  (5 points)

Question TB14
An important function of the cell membrane is the maintenance of cell integrity. 

	Student
Response
	   Answer Choices

	[image: image419.png]



	1.
	True

	
	2.
	False 


Score 5 / 5 



Question 29  (5 points)

Question CH14mc1
Exocytosis is 

	Student
Response
	   Answer Choices

	
	1.
	a process that requires ATP to move a substance across a membrane against its concentration gradient.

	
	2.
	a process in which molecules are forced by hydrostatic pressure across a memebrane.

	
	3.
	a process in which molecules are moved into a cell along a concentration gradient with the help of membrane-bound carriers.

	[image: image420.png]



	4.
	a process in which vesicles formed inside the cell fuse with the cell membrane and discharge their contents outside the cell.


Score 5 / 5 



Question 30  (5 points)

Question TB36
Which is NOT a function of epithelial tissue? 

	Student
Response
	   Answer Choices
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	1.
	absorption

	
	2.
	secretion

	
	3.
	assimilation

	
	4.
	protection 


Score 0 / 5 



Question 31  (5 points)

Question TB26
Skeletal muscle tissue is striated and voluntary. 

	Student
Response
	   Answer Choices

	[image: image422.png]



	1.
	True

	
	2.
	False 


Score 5 / 5 



Question 32  (5 points)

Question TB09
Collagenous fibers can be found extensively in 

	Student
Response
	   Answer Choices

	
	1.
	epithelial tissue.

	[image: image423.png]



	2.
	connective tissue.

	
	3.
	muscle tissue.

	
	4.
	nervous tissue. 


Score 5 / 5 



Question 33  (5 points)

Question CH01tf
The peritoneal membranes are mucous membranes. 

	Student
Response
	   Answer Choices

	
	1.
	TRUE

	[image: image424.png]



	2.
	FALSE


Score 5 / 5 



Question 34  (5 points)

Question CH09mc2
All but one of the following statements about cartilage formation are correct. Which is the exception. 

	Student
Response
	   Answer Choices

	
	1.
	Interstitial growth may occur as cells divide and produce new matrix within lacunae.

	
	2.
	Appositional growth occurs near the surface of cartilage, just under the perichondrium.

	[image: image425.png]



	3.
	Only mature chondrocytes produce the matrix of cartilage tissue.

	
	4.
	Dividing fibroblasts from the cellular layer of perichondrium differentiate into chondrocytes. 


Score 5 / 5 



Question 35  (5 points)

Question TB05
Areolar tissue forms protective pads around the kidneys and other organs. 

	Student
Response
	   Answer Choices

	[image: image426.png]



	1.
	True

	
	2.
	False 


Score 0 / 5 



Question 36  (5 points)

Question CH30
The loose connective tissue component of a mucous membrane is called the 

	Student
Response
	   Answer Choices

	
	1.
	transudate.

	[image: image427.png]



	2.
	lamina propria.

	
	3.
	basement membrane.

	
	4.
	synovial fluid. 


Score 5 / 5 



Question 37  (5 points)

Question CH02mc2
In the human body there are approximately __________ types of cells. 

	Student
Response
	   Answer Choices

	
	1.
	4

	
	2.
	2000

	
	3.
	200

	[image: image428.png]



	4.
	200 million 


Score 0 / 5 



Question 38  (5 points)

Question TB30
Tendons and ligaments are composed primarily of 

	Student
Response
	   Answer Choices

	
	1.
	muscle tissue.

	[image: image429.png]



	2.
	fibrous connective tissue.

	
	3.
	cartilage.

	
	4.
	loose connective tissue.

	
	5.
	adipose tisue. 


Score 5 / 5 



Question 39  (5 points)

Question CH34
Tendons and ligaments are examples of what type of connective tissue? 

	Student
Response
	   Answer Choices

	
	1.
	superficial fascia

	
	2.
	hypodermis

	[image: image430.png]



	3.
	deep fascia

	
	4.
	subserous fascia 


Score 5 / 5 



Question 40  (5 points)

Question CH02
Match the following labels to the proper locations on the figure. 
[image: image431]
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Student response 

	Arrector pili muscle
	-->
	B

	Hair follicle
	-->
	G

	Hair shaft
	-->
	A

	Nerve fibers
	-->
	E

	Pacinian corpuscle
	-->
	F

	Pore of sweat gland duct
	-->
	D

	Sebaceous gland
	-->
	H

	Sweat gland
	-->
	C


Score 5 / 5 



Question 41  (5 points)

Question CH20
The body of the nail 

	Student
Response
	   Answer Choices

	
	1.
	is covered by the cuticle.

	[image: image440.png]



	2.
	consists of dead, tightly compacted cells.

	
	3.
	is beneath the hypochondrium.

	
	4.
	is not affected by diseases. 


Score 5 / 5 



Question 42  (5 points)

Question CH04mc1
Ultraviolet radiation 

	Student
Response
	   Answer Choices

	
	1.
	is beneficial in small amounts.

	
	2.
	causes melanin production to accelerate.

	
	3.
	can cause cumulative damage, leading to premature aging.

	[image: image441.png]



	4.
	All of the above are true.


Score 5 / 5 



Question 43  (5 points)

Question CH03tf
The secretions of sudoriferous glands have antibacterial action. 

	Student
Response
	   Answer Choices

	[image: image442.png]



	1.
	TRUE

	
	2.
	FALSE


Score 0 / 5 



Question 44  (5 points)

Question TB051
A more common term for the eponychium is ____________. 

	No.
	Student response

	1.
	cuticle


Score 5 / 5 



Question 45  (5 points)

Question TB048
Muscles that are attached to hair follicles and cause them to "stand on end" when contracted are the ____________ __________. 

	No.
	Student response

	1.
	arrector

	2.
	pili


Score 5 / 5 



Question 46  (5 points)

Question CH28
Older people are more prone to skin injuries as a result of 

	Student
Response
	   Answer Choices

	
	1.
	the thinning of the epidermis.

	
	2.
	the number of Langerhans cells decreasing.

	
	3.
	reduction in melanocyte activity.

	
	4.
	Answers one and two above are true.

	[image: image443.png]



	5.
	All of the above are true.


Score 5 / 5 



Question 47  (5 points)

Question TB120
Sweat glands 

	Student
Response
	   Answer Choices

	
	1.
	may be activated as a consequence of psychological stress.

	
	2.
	of the merocrine type produce a watery secretion.

	
	3.
	produce products that, when metabolized by bacteria, result in body odor.

	[image: image444.png]



	4.
	are all of these. 


Score 5 / 5 



Question 48  (5 points)

Question CH04tf
Apocrine sweat glands are associated with hair follicles. 

	Student
Response
	   Answer Choices

	[image: image445.png]



	1.
	TRUE

	
	2.
	FALSE


Score 5 / 5 



Question 49  (5 points)

Question 034
Which of the following regions corresponds to the upper arm? 

	Student
Response
	   Answer Choices

	
	1.
	cervical

	[image: image446.png]



	2.
	brachial

	
	3.
	antebrachial

	
	4.
	femoral

	
	5.
	pedal


Score 5 / 5 



Question 50  (5 points)

Question 041
Mary, who is 6 months pregnant, goes to her physician for a test to check the development of her fetus. The physician uses a device that employs sound waves to produce an image of the fetus. This technique is known as 

	Student
Response
	   Answer Choices

	
	1.
	X-ray

	
	2.
	CT

	
	3.
	MRI

	[image: image447.png]



	4.
	ultrasound

	
	5.
	radiography


Score 5 / 5 



Question 51  (5 points)

Question 025
In general, the nervous system does each of the following, except: 

	Student
Response
	   Answer Choices

	
	1.
	helps to maintain homeostasis.

	
	2.
	responds rapidly to change.
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	3.
	directs long-term responses to change.

	
	4.
	directs very specific responses.


Score 5 / 5 



Question 52  (5 points)

Question 019
Defense against infection and disease is the function of the __________ system. 

	Student
Response
	   Answer Choices

	
	1.
	cardiovascular

	[image: image449.png]



	2.
	lymphatic

	
	3.
	respiratory

	
	4.
	urinary

	
	5.
	endocrine


Score 5 / 5 



Question 53  (5 points)

Question 033
Which of the following regions corresponds to the lower back? 

	Student
Response
	   Answer Choices

	
	1.
	pelvic

	
	2.
	cephalic

	
	3.
	gluteal
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	4.
	lumbar

	
	5.
	thoracic


Score 5 / 5 



Question 54  (5 points)

Question 059
The two body cavities that form during embryonic development are the 

	Student
Response
	   Answer Choices

	
	1.
	pleural cavity and pericardial cavity
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	2.
	dorsal body cavity and coelom

	
	3.
	coelom and peritoneal cavity

	
	4.
	pleural cavity and peritoneal cavity

	
	5.
	thoracic cavity and abdominopelvic cavity


Score 5 / 5 



Question 55  (5 points)

Question 031
The wrist is ___________ to the elbow. 

	Student
Response
	   Answer Choices

	
	1.
	proximal
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	2.
	distal

	
	3.
	lateral

	
	4.
	medial

	
	5.
	superior


Score 5 / 5 



Question 56  (5 points)

Question 020
Chemical reactions that require an input of energy, such as heat, are said to be 

	Student
Response
	   Answer Choices
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	1.
	endergonic

	
	2.
	activated

	
	3.
	exergonic

	
	4.
	neutral

	
	5.
	at equilibrium 


Score 5 / 5 



Question 57  (5 points)

Question 103
The hydrogen bonding that occurs in water is responsible for all of the following, except 

	Student
Response
	   Answer Choices

	
	1.
	the high boiling point of water

	
	2.
	the low freezing point of water
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	3.
	the ability of water to dissolve nonpolar substances

	
	4.
	the ability of water to dissolve inorganic salts

	
	5.
	the surface tension of water 


Score 5 / 5 



Question 58  (5 points)

Question 055
According to the rules of complementary base pairing, a nucleotide containing the base cytosine would pair with a nucleotide containing the base 

	Student
Response
	   Answer Choices

	
	1.
	thymine

	
	2.
	adenine

	
	3.
	uracil

	
	4.
	cytosine
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	5.
	guanine 


Score 5 / 5 



Question 59  (5 points)

Question 048
Each amino acid differs from another in the 

	Student
Response
	   Answer Choices

	
	1.
	number of central carbon atoms

	
	2.
	size of the amino group

	
	3.
	number of carboxyl groups
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	4.
	nature of the R group

	
	5.
	number of peptide bonds in the molecule 


Score 5 / 5 



Question 60  (5 points)

Question 069
______________ molecules are compounds that contain carbon as the primary structural atom. 

	No.
	Student response

	1.
	organic


Score 4 / 5 



Question 61  (5 points)

Question 067
__________ control the role of chemical reactions that occur in the human body. 

	No.
	Student response

	1.
	enzymes


Score 4 / 5 



Question 62  (5 points)

Question 106
There is a direct correlation between the potency of an anesthetic and its ability to 

	Student
Response
	   Answer Choices

	
	1.
	dissolve in water
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	2.
	dissolve in lipid

	
	3.
	bind to lipids

	
	4.
	interact with carbohydrates

	
	5.
	bind to DNA 


Score 5 / 5 



Question 63  (5 points)

Question 004
Functions of the cell membrane include all of the following, except 

	Student
Response
	   Answer Choices

	
	1.
	separation of the cytoplasm from the extracellular fluid

	
	2.
	regulation of exchange of materials with the extracellular environment

	
	3.
	sensitivity to changes in the concentration of certain substances in the extracellular fluid
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	4.
	identifying foreign substances and cells

	
	5.
	structural support 


Score 5 / 5 



Question 64  (5 points)

Question 061
Receptor molecules on the surface of cells bind specific molecules called ___________. 

	No.
	Student response

	1.
	ligands


Score 5 / 5 



Question 65  (5 points)

Question 009
The movement of oxygen from an area of high concentration to an area of low concentration is an example of 

	Student
Response
	   Answer Choices

	
	1.
	osmosis

	
	2.
	active transport
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	3.
	diffusion

	
	4.
	facilitated transport

	
	5.
	filtration 


Score 5 / 5 



Question 66  (5 points)

Question 098
Each of the following is a function of smooth endoplasmic reticulum, except 

	Student
Response
	   Answer Choices
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	1.
	removal and storage of calcium ions

	
	2.
	modification of protein products

	
	3.
	synthesis of steroid hormones

	
	4.
	synthesis of triglycerides in liver cells

	
	5.
	detoxification of drugs in liver cells 


Score 0 / 5 



Question 67  (5 points)

Question 102
If the concentration of sodium ions in the fluid surrounding cells decreases and the concentration of other solutes remains constant, 

	Student
Response
	   Answer Choices

	
	1.
	the cells will shrink

	
	2.
	the cells will swell

	
	3.
	the fluid outside of the cells will become isotonic
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	4.
	the fluid outside of the cells will become hypertonic

	
	5.
	the cell will not change 


Score 0 / 5 



Question 68  (5 points)

Question 079
In a procedure known as ___________, a small incision is made in the skin and fat-containing tissue is suctioned out. 

	No.
	Student response

	1.
	liposuction


Score 5 / 5 



Question 69  (5 points)

Question 074
The study of tissues is called ___________. 

	No.
	Student response

	1.
	histology


Score 5 / 5 



Question 70  (5 points)

Question 010
The basic shapes of epithelial cells include all of the following, except 

	Student
Response
	   Answer Choices

	
	1.
	stratified

	
	2.
	squamous

	
	3.
	cuboidal

	
	4.
	columnar
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	5.
	all of the above are correct 


Score 0 / 5 



Question 71  (5 points)

Question 068
Cells that respond to injury or infection by dividing to produce daughter cells that differentiate into other cell types are 

	Student
Response
	   Answer Choices

	
	1.
	mast cells

	
	2.
	fibroblasts

	
	3.
	plasma cells
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	4.
	mesenchymal cells

	
	5.
	lymphocytes 


Score 5 / 5 



Question 72  (5 points)

Question 080
___________ is a chemical produced by cartilage cells that blocks the growth of blood vessels. 

	No.
	Student response

	1.
	antiangiogenesis

	2.
	factor


Score 4.5 / 5 



Question 73  (5 points)

Question 071
Adhesions occur when 

	Student
Response
	   Answer Choices
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	1.
	serous membranes are damaged

	
	2.
	synovial membranes are damaged

	
	3.
	muscle is damaged

	
	4.
	nerve cells are damaged

	
	5.
	all of the above 


Score 5 / 5 



Question 74  (5 points)

Question 031
The proteoglycan, chondroitin sulfate would be found in the matrix of 

	Student
Response
	   Answer Choices

	
	1.
	bone
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	2.
	cartilage

	
	3.
	areolar tissue

	
	4.
	elastic connective tissue

	
	5.
	tendons 


Score 5 / 5 



Question 75  (5 points)

Question 048
___________ __________ may be required if contraction and epithelial cell migration cannot cover a wound. 

	No.
	Student response

	1.
	skin

	2.
	cultivation


Score 2 / 5 



Question 76  (5 points)

Question 075
___________ are accumulations of fluid within the epidermis or between the epidermis and the dermis. 

	No.
	Student response

	1.
	Blisters


Score 5 / 5 



Question 77  (5 points)

Question 025
All of the following are true of perspiration produced by merocrine sweat glands, except that it 

	Student
Response
	   Answer Choices

	
	1.
	is more than 99% water

	
	2.
	contains electrolytes and waste products

	
	3.
	helps cool the body when it evaporates

	
	4.
	helps to prevent bacteria from colonizing the skin
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	5.
	produces the body odor characteristic of "sweating" 


Score 5 / 5 



Question 78  (5 points)

Question 079
Charlie is badly burned in an accident with fireworks on the Fourth of July. When he reaches the emergency room, the examining physician finds that he can remove entire hair follicles from Charlie's arm when he gently pulls on a hair with his forceps. Charlie is suffering from a 

	Student
Response
	   Answer Choices

	
	1.
	first degree burn

	
	2.
	second degree burn
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	3.
	third degree burn

	
	4.
	partial thickness burn

	
	5.
	epidermal burn 


Score 5 / 5 



Question 79  (5 points)

Question 071
Which of the following happens if body temperature rises above normal? 

	Student
Response
	   Answer Choices

	
	1.
	circulation in the skin decreases

	
	2.
	sweat gland activity decreases

	
	3.
	evaporative cooling stops
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	4.
	blood flow to the skin increases

	
	5.
	the activity of melanocytes increases 


Score 5 / 5 



Question 80  (5 points)

Question 011
Which of the following is not an effect of ultraviolet radiation? 

	Student
Response
	   Answer Choices

	
	1.
	increased activity by melanocytes

	
	2.
	production of cholecalciferol by epidermal cells

	
	3.
	sunburn

	
	4.
	chromosomal damage in germinative cells or melanocytes
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	5.
	vitiligo 


Score 5 / 5 

Question 1  (5 points)

Question TB041
Hemopoiesis is carried out in the 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	osteoclasts

	0.0%
	
	
	2.
	osteocytes

	0.0%
	
	
	3.
	yellow bone marrow

	100.0%
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	4.
	red bone marrow 


Score 5 / 5 



Question 2  (5 points)

Question CH02
Put the following events in endochondral ossification into the proper order from (1) to (8). 
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Student response 

	1
	-->
	chondrocytes near the center of the cartilage shaft increase in size
	Correct

	2
	-->
	chondrocyte lacunae expand and the reduced region of matrix calcifies
	Correct

	3
	-->
	chondrocytes die and disintegrate in the shaft center
	Correct

	4
	-->
	perichondrium is converted to periosteum containing osteoblasts
	Correct

	5
	-->
	periosteum forms a thin collar of bone around the shaft
	Correct

	6
	-->
	capillaries and osteoblasts replace disintegrating chondrocytes
	Correct

	7
	-->
	a primary center of ossification forms
	Correct

	8
	-->
	central spongy bone is eroded to form a marrow cavity
	Correct


Score 5 / 5 



Question 3  (5 points)

Question CH02
Which of these structures would be located in spongy bone? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	central canal

	0.0%
	
	
	2.
	perforating canal

	100.0%
	[image: image480.png]



	[image: image481.png]



	3.
	trabeculae
CORRECT

	0.0%
	
	
	4.
	periosteum


Score 5 / 5 



Question 4  (5 points)

Question LP1
Enlarge image
Name of cytoplasmic processes between cells? 

[image: image482]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	canaliculi
	100%
	canaliculi (100%)


Score 5 / 5 



Question 5  (5 points)

Question CH01
The two types of osseous tissue are the denser compact bone and the lighter ________ bone. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	spongy
	100%
	SPONGY (100%)


Score 5 / 5 



Question 6  (5 points)

Question CH11
Osteoblasts are 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
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	1.
	immature bone cells.
CORRECT

	0.0%
	
	
	2.
	mature bone cells.

	0.0%
	
	
	3.
	derived from monocytes.

	0.0%
	
	
	4.
	found in the bone marrow.


Score 5 / 5 



Question 7  (5 points)

Question TB068
A compound fracture is one in which the bone is broken in more than one area. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	True

	100.0%
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	2.
	False 


Score 5 / 5 



Question 8  (5 points)

Question CH16
The basic functional unit of mature compact bone is 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	the osteoid.

	100.0%
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	2.
	the osteon.
CORRECT

	0.0%
	
	
	3.
	the osteoprogenitor.

	0.0%
	
	
	4.
	All of the above are true.


Score 5 / 5 



Question 9  (5 points)

Question TB104
The primary mineral in bone is ____________. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	calcium
	0%
	hydroxyapatite (100%)


Score 0 / 5 



Question 10  (5 points)

Question TB110
Which of the following is a function of the skeletal system? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	internal support and protection

	0.0%
	
	
	2.
	provide attachment for the muscles

	0.0%
	
	
	3.
	calcium and phosphate storage

	0.0%
	
	
	4.
	red blood cell formation

	100.0%
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	5.
	all of the above


Score 5 / 5 



Question 11  (5 points)

Question TB112
Fibroblasts produce 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
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	1.
	ligaments.

	0.0%
	
	
	2.
	cartilage.

	0.0%
	
	
	3.
	bone.

	0.0%
	
	
	4.
	blood.

	0.0%
	
	
	5.
	epithelium.


Score 5 / 5 



Question 12  (5 points)

Question CH25
The differences in internal structure and length of adult bones can be attributed to the timing of 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	the onset of appositional growth.

	0.0%
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	2.
	the narrowing of the epiphyseal plate.

	100.0%
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	3.
	the appearance of the secondary ossification centers.

	0.0%
	
	
	4.
	the decreasing rate of osteoblast invasion.


Score 0 / 5 



Question 13  (5 points)

Question CH07
Which of these is not a major blood vessel of a typical bone? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	nutrient artery

	100.0%
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	2.
	diaphyseal vessel
CORRECT

	0.0%
	
	
	3.
	nutrient vein

	0.0%
	
	
	4.
	metaphyseal vessel

	0.0%
	
	
	5.
	periosteal vessel


Score 5 / 5 



Question 14  (5 points)

Question LP3
Enlarge image
Name of type of bone labeled? 

[image: image497]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	compact
	100%
	compact (100%)


Score 5 / 5 



Question 15  (5 points)

Question CH30
Calcium ion concentration in the blood depends upon activities occurring in 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
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	1.
	the bones, the intestines, and the kidneys.
CORRECT

	0.0%
	
	
	2.
	the heart, lungs, and liver.

	0.0%
	
	
	3.
	the muscles, the nerves, and the lungs.

	0.0%
	
	
	4.
	the stomach, the pancreas, and the duodenum.


Score 5 / 5 



Question 16  (5 points)

Question CH32
The important steps occurring in repair of a fractured bone are (in order) 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	pain, swelling, heat, and redness.

	100.0%
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	2.
	clot formation, internal callus, bone production, and remodeling.
CORRECT

	0.0%
	
	
	3.
	numbness, granulation, clot formation, and clot dissolution.

	0.0%
	
	
	4.
	None of the above are correct.


Score 5 / 5 



Question 17  (5 points)

Question CH09
Which of these vitamins is not important in bone growth and maintenance? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
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	1.
	vitamin B3
CORRECT

	0.0%
	
	
	2.
	vitamin D3

	0.0%
	
	
	3.
	vitamin C

	0.0%
	
	
	4.
	vitamin B12


Score 5 / 5 



Question 18  (5 points)

Question TB149
Normal bone growth requires adequate amounts of _____, _____, and _____ in the diet. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	sodium; calcium; vitamin E

	0.0%
	
	
	2.
	potassium; phosphate; vitamin D

	100.0%
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	3.
	calcium; phosphate; vitamin D

	0.0%
	
	
	4.
	vitamin D; phosphate; chloride


Score 5 / 5 



Question 19  (5 points)

Question TB152
Which of the following would NOT adversely affect bone growth and stature (height)? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	illness during the years of bone growth

	0.0%
	
	
	2.
	severe nutritional deprivation

	0.0%
	
	
	3.
	decreased amount of growth hormone before puberty

	100.0%
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	4.
	taking vitamin C tablets during the growth years


Score 5 / 5 



Question 20  (5 points)

Question TB155
Bone remodeling may occur 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	as bones change shape.

	0.0%
	
	
	2.
	as bones adjust varying patterns of stress.

	0.0%
	
	
	3.
	during and after the healing of fractures.

	100.0%
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	4.
	all of the above


Score 5 / 5 

Question 1  (5 points)

Question CH04
The axial skeleton consists of 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
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	1.
	80 bones. 
CORRECT

	0.0%
	
	
	2.
	22 bones. 

	0.0%
	
	
	3.
	26 bones. 

	0.0%
	
	
	4.
	206 bones.


Score 5 / 5 



Question 2  (5 points)

Question TB23
The lacrimal bones contain openings for the tear ducts. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
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	1.
	True 

	0.0%
	
	
	2.
	False


Score 5 / 5 



Question 3  (5 points)

Question CH15
The mandible articulates with 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	occipital 

	100.0%
	[image: image514.png]



	[image: image515.png]



	2.
	temporal
CORRECT

	0.0%
	
	
	3.
	sphenoid 

	0.0%
	
	
	4.
	ethmoid


Score 5 / 5 



Question 4  (5 points)

Question TBA12
The orbit, composed of 5 facial bones, protects the eyeball. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	True 

	100.0%
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	2.
	False


Score 5 / 5 



Question 5  (5 points)

Question TBA18
Yhe coccygeal cornua is attachéd to the sacrum by 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	tendons.

	100.0%
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	2.
	ligaments.

	0.0%
	
	
	3.
	direct fusion.

	0.0%
	
	
	4.
	muscles.


Score 5 / 5 



Question 6  (5 points)

Question CH28
The typical adult vertebral column has 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	three spinal curves.

	0.0%
	
	
	2.
	five spinal curves.

	0.0%
	
	
	3.
	two spinal curves.

	100.0%
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	4.
	four spinal curves.
CORRECT 


Score 5 / 5 



Question 7  (5 points)

Question CH31
Cervical vertebrae can be distinguished by 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
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	1.
	transverse foramina and split tip of spinous process.
CORRECT

	0.0%
	
	
	2.
	large transverse process and long inferiorly directed spinous process.

	0.0%
	
	
	3.
	massive body and curved articular surfaces.

	0.0%
	
	
	4.
	fused vertebrae.


Score 5 / 5 



Question 8  (5 points)

Question TBA27
Transvers foramina are found in 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
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	1.
	cervical vertebrae.

	0.0%
	
	
	2.
	thoracic vertebrae.

	0.0%
	
	
	3.
	lumbar vertebrae.

	0.0%
	
	
	4.
	sacral vertebrae.


Score 5 / 5 



Question 9  (5 points)

Question CH42
The coccyx is 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	a remnant of a tail.

	0.0%
	
	
	2.
	composed of 3–5 fused vertebrae.

	0.0%
	
	
	3.
	found only in males.

	100.0%
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	4.
	One and two only are true.
CORRECT 


Score 5 / 5 



Question 10  (5 points)

Question CH05
The sternum has three components: the superior manubrium, the middle body, and the inferior ________. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	xiphoid
	50%
	XIPHOID (50%),   PROCESS (50%)

	2.
	process
	50%
	XIPHOID (50%),   PROCESS (50%)


Score 5 / 5 



Question 11  (5 points)

Question 07
Which of the following is not found at the proximal end of the humerus? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	head 

	100.0%
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	2.
	coracoid 
CORRECT

	0.0%
	
	
	3.
	anatomical neck

	0.0%
	
	
	4.
	greater tubercle 


Score 5 / 5 



Question 12  (5 points)

Question TB25
The lower extremity articulates with the pelvic girdle through the 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
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	1.
	acetabulum.

	0.0%
	
	
	2.
	glenoid fossa.

	0.0%
	
	
	3.
	gluteal fossa.

	0.0%
	
	
	4.
	linea aspersa.

	0.0%
	
	
	5.
	knee.


Score 5 / 5 



Question 13  (5 points)

Question 13
Supporting the forearm are the 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	tibia and fibula.

	0.0%
	
	
	2.
	carpals and metacarpals.

	100.0%
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	3.
	radius and ulna.
CORRECT

	0.0%
	
	
	4.
	talus and calcaneus.


Score 5 / 5 



Question 14  (5 points)

Question 04
The skeleton of the upper limb includes all but which of the following? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	radius and ulna

	0.0%
	
	
	2.
	carpals

	100.0%
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	3.
	clavicle
CORRECT

	0.0%
	
	
	4.
	humerus


Score 5 / 5 



Question 15  (5 points)

Question TBA18
A massive process found only on the femur is referred to as the tubercle. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	True 

	100.0%
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	2.
	False


Score 5 / 5 



Question 16  (5 points)

Question TBA21
The Obturator foramen is a large circular depression of the os coxae that receives the head of the femur. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	True 

	100.0%
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	2.
	False


Score 5 / 5 



Question 17  (5 points)

Question 31
The distal end of the tibia bears the 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
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	1.
	medial malleolus.
CORRECT

	0.0%
	
	
	2.
	lateral malleolus. 

	0.0%
	
	
	3.
	talus.

	0.0%
	
	
	4.
	patella.


Score 5 / 5 



Question 18  (5 points)

Question TBA33
The olecranon fossa is found on the ____________. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
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	1.
	humerus

	0.0%
	
	
	2.
	fibula

	0.0%
	
	
	3.
	os coxae

	0.0%
	
	
	4.
	ulna


Score 5 / 5 



Question 19  (5 points)

Question TBA39
The medial malleolus is associated with the 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	humerus

	100.0%
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	2.
	tibia

	0.0%
	
	
	3.
	femur

	0.0%
	
	
	4.
	fibula


Score 5 / 5 



Question 20  (5 points)

Question 14
In which figure is the pelvic outlet narrower? 
FIGURE A 
[image: image546]
FIGURE B [image: image547]
	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
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	1.
	Figure A, the male pelvis, has the narrower pelvic outlet.
CORRECT

	0.0%
	
	
	2.
	Figure A, the female pelvis, has the narrower pelvic outlet.

	0.0%
	
	
	3.
	Figure B, the female pelvis, has the narrower pelvic outlet.

	0.0%
	
	
	4.
	Figure B, the male pelvis, has the narrower pelvic outlet.


Score 5 / 5 

Question 1  (5 points)

Question 01
A joint is 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	a point where two muscles interconnect.

	0.0%
	
	
	2.
	a point where a muscle attaches to a bone.

	100.0%
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	3.
	a point where two bones interconnect.
CORRECT

	0.0%
	
	
	4.
	a bar or nightclub.


Score 5 / 5 



Question 2  (5 points)

Question TB17
The anterior and posterior cruciate ligaments add stability to the knee joint. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
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	1.
	True 

	0.0%
	
	
	2.
	False


Score 5 / 5 



Question 3  (5 points)

Question TB22
The knee joint is an example of a 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
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	1.
	hinge joint. 

	0.0%
	
	
	2.
	ball and socket joint.

	0.0%
	
	
	3.
	saddle joint.

	0.0%
	
	
	4.
	gliding joint.

	0.0%
	
	
	5.
	pivot joint.


Score 5 / 5 



Question 4  (5 points)

Question 02
The two systems used to classify articulations are 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	conventional and unconventional.

	100.0%
	[image: image556.png]



	[image: image557.png]



	2.
	structural and functional.
CORRECT

	0.0%
	
	
	3.
	structural and regional.

	0.0%
	
	
	4.
	holistic and materialistic.


Score 5 / 5 



Question 5  (5 points)

Question 02
All diarthroses are categorized structurally as ________ joints. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	free moving
	0%
	SYNOVIAL (100%)


Score 0 / 5 



Question 6  (5 points)

Question TBA04
A joint such as a gomphosis 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	is freely moveable; possesses an articular cavity.

	0.0%
	
	
	2.
	may be slightly movable, due to ligament flexibility.

	0.0%
	
	[image: image558.png]



	3.
	is immovable in adults.

	0.0%
	
	
	4.
	is the osseous union between the bones of a joint.

	100.0%
	[image: image559.png]



	
	5.
	consists of pegs fitting into sockets. 


Score 0 / 5 



Question 7  (5 points)

Question 10
A syndesmosis is an example of a(n) 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	synarthrosis.

	0.0%
	
	
	2.
	diarthrosis.

	100.0%
	[image: image560.png]
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	3.
	amphiarthrosis.
CORRECT

	0.0%
	
	
	4.
	cartilaginous joint.


Score 5 / 5 



Question 8  (5 points)

Question 26
Your hand is pronated when 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	your palm faces medially.

	100.0%
	[image: image562.png]
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	2.
	your palm faces backward.
CORRECT

	0.0%
	
	
	3.
	your palm faces forward.

	0.0%
	
	
	4.
	your palm faces laterally.


Score 5 / 5 



Question 9  (5 points)

Question 27
A typical hinge joint is your 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	shoulder.

	0.0%
	
	
	2.
	thumb.

	0.0%
	
	
	3.
	sacroiliac.

	100.0%
	[image: image564.png]



	[image: image565.png]



	4.
	elbow.
CORRECT 


Score 5 / 5 



Question 10  (5 points)

Question TBA18
Eversion turns the sole of the foot outward. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image566.png]
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	1.
	True 

	0.0%
	
	
	2.
	False


Score 5 / 5 



Question 11  (5 points)

Question 29
The joint between the atlas and the occipital bone allows 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	rotation.

	0.0%
	
	
	2.
	extension.

	0.0%
	
	
	3.
	flexion.

	100.0%
	[image: image568.png]
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	4.
	Two and three only are true.
CORRECT 


Score 5 / 5 



Question 12  (5 points)

Question TBA25
Synchondrotic joints between the ribs and sternum allow for expansion of the chest cavity during breathing. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image570.png]
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	1.
	True 

	0.0%
	
	
	2.
	False


Score 5 / 5 



Question 13  (5 points)

Question 02
Match the joint with the characteristic motion: 

[image: image572.wmf]
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Student response 

	ellipsoidal
	-->
	biaxial joint
	Correct

	hinge
	-->
	monoaxial joint
	Correct

	gliding
	-->
	nonaxial joint
	Correct

	ball-and-socket
	-->
	triaxial joint
	Correct


Score 5 / 5 



Question 14  (5 points)

Question TBA31
The glenoid labrum is a: 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	ligament that connects the humerus to the scapula

	100.0%
	[image: image576.png]
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	2.
	fibrocartilage that increases depth of glenoid cavity 

	0.0%
	
	
	3.
	hyaline cartilage cushion in the shoulder joint

	0.0%
	
	
	4.
	bursa


Score 5 / 5 



Question 15  (5 points)

Question 33
Which of the following is not a hinge joint? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	[image: image578.png]



	1.
	mandibular 

	0.0%
	
	
	2.
	elbow

	100.0%
	[image: image579.png]



	
	3.
	wrist 

	0.0%
	
	
	4.
	ankle


Score 0 / 5 



Question 16  (5 points)

Question 10
Which of the following statements concerning knee injuries is false? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	Bursitis of the knee can be caused by a job that requires a lot of kneeling.

	0.0%
	
	
	2.
	Tearing stabilizing ligaments or damaging the patella are less-common types of knee injuries.

	0.0%
	
	
	3.
	Supporting ligaments and menisci can be torn if a locked knee is struck from the side.

	0.0%
	
	
	4.
	The most common knee injuries involve tearing the medial meniscus.

	100.0%
	[image: image580.png]
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	5.
	One of the most rapidly healing knee injuries is a fractured patella.
CORRECT 


Score 5 / 5 



Question 17  (5 points)

Question 39
Spreading your toes apart is 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	supination.

	0.0%
	
	
	2.
	pronation.

	0.0%
	
	
	3.
	adduction.

	100.0%
	[image: image582.png]
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	4.
	abduction.
CORRECT 


Score 5 / 5 



Question 18  (5 points)

Question TBA43
Voluntary movement is lost with ankylosis because of nerve damage. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	True

	100.0%
	[image: image584.png]
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	2.
	False 


Score 5 / 5 



Question 19  (5 points)

Question 43
The hip joint permits 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image586.png]
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	1.
	flexion and extension, adduction and abduction, circumduction, and rotation.
CORRECT

	0.0%
	
	
	2.
	adduction and abduction, and rotation.

	0.0%
	
	
	3.
	flexion and extension, adduction and abduction. and circumduction.

	0.0%
	
	
	4.
	flexion and extension, adduction and abduction, circumduction, and opposition and rotation.


Score 5 / 5 



Question 20  (5 points)

Question 46
Because it permits the greatest range of motion and is also the most dislocated joint of the body, the __________ joint is an excellent example of the inverse relationship between strength and mobility. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	hip

	100.0%
	[image: image588.png]
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	2.
	shoulder
CORRECT

	0.0%
	
	
	3.
	knee

	0.0%
	
	
	4.
	elbow


Score 5 / 5 

Question 1  (5 points)

Question 02
Nerves and blood vessels are contained within the connective tissues of the 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	epimysium and endomysium.

	0.0%
	
	
	2.
	endomysium only.

	0.0%
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	3.
	epimysium and perimysium.

	100.0%
	[image: image591.png]



	
	4.
	perimysium only.


Score 0 / 5 



Question 2  (5 points)

Question TB005
A motor unit is most correctly described as (a) 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	sarcomere(s) and a motor neuron.

	0.0%
	
	
	2.
	myofibril(s) and a motor neuron.

	100.0%
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	3.
	muscle fiber(s) and a motor neuron. 

	0.0%
	
	
	4.
	filament(s) and a motor neuron.


Score 5 / 5 



Question 3  (5 points)

Question TB015
Femoral hernias are more prevalent in women than in men. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image594.png]
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	1.
	True 

	0.0%
	
	
	2.
	False


Score 5 / 5 



Question 4  (5 points)

Question TB019
In order to maintain posture, different groups of muscle fibers throughout a muscle contract in relays. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image596.png]
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	1.
	True 

	0.0%
	
	
	2.
	False


Score 5 / 5 



Question 5  (5 points)

Question TB022
Muscle cells have one nucleus and one mitochondrion. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	True

	100.0%
	[image: image598.png]
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	2.
	False


Score 5 / 5 



Question 6  (5 points)

Question TB026
Muscles often act singly as prime mover. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	True

	100.0%
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	2.
	False


Score 5 / 5 



Question 7  (5 points)

Question 05
Which of the following statements about muscle contraction is false? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image602.png]
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	1.
	when Ca2+ binds to a myosin head, it triggers the formation of a cross-bridge between myosin and actin.
CORRECT

	0.0%
	
	
	2.
	In the resting state, a myosin head is bound to an ADP and a phosphate that have been produced by splitting an ATP molecule.

	0.0%
	
	
	3.
	A troponin molecule that binds a calcium ion weakens its connection to a G-actin molecule.

	0.0%
	
	
	4.
	Myosin cross-bridges remain in place until the myosin head binds an ATP molecule.


Score 5 / 5 



Question 8  (5 points)

Question TB078
The junction between a motor neuron and a muscle cell is called a(n) ____________. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	neuromuscular
	0%
	neuromuscular junction (100%)


Score 0 / 5 



Question 9  (5 points)

Question TB043
The covering of individual muscle fibers is 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	periosteum.

	0.0%
	
	
	2.
	perimysium.

	0.0%
	
	
	3.
	epimysium.

	0.0%
	
	
	4.
	perineurium.

	100.0%
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	5.
	endomysium.


Score 5 / 5 



Question 10  (5 points)

Question 13
What immediately follows the binding of ATP to the myosin head? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	cross-bridge attachment

	0.0%
	
	
	2.
	active-site exposure

	100.0%
	[image: image606.png]
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	3.
	cross-bridge detachment
CORRECT

	0.0%
	
	
	4.
	myosin reactivation


Score 5 / 5 



Question 11  (5 points)

Question 15
In a(n) __________ contraction, the peak tension developed is less than the resistance, and the muscle elongates due to the contraction of another muscle or the pull of gravity. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	concentric 

	100.0%
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	2.
	eccentric
CORRECT

	0.0%
	
	
	3.
	isometric

	0.0%
	
	
	4.
	opposing muscle


Score 5 / 5 



Question 12  (5 points)

Question TB061
When an athlete injures a muscle of the hamstring group, the injury is on the 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	anterior thigh.

	0.0%
	
	
	2.
	posterior lower leg.

	100.0%
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	3.
	posterior thigh. 

	0.0%
	
	
	4.
	upper arm.

	0.0%
	
	
	5.
	lower back.


Score 5 / 5 



Question 13  (5 points)

Question TB072
The capacity of muscle tissue to shorten is called ____________. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	contraction
	0%
	contractility (100%)


Score 0 / 5 



Question 14  (5 points)

Question TB075
The covering of a fasciculus is called the ____________. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	perimysium
	100%
	perimysium (100%)


Score 5 / 5 



Question 15  (5 points)

Question TB082
A graded increase in the force of a whole muscle contraction in response to recruitment of additional motor units is called ____________. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	tension
	0%
	multiple motor unit summation (100%)


Score 0 / 5 



Question 16  (5 points)

Question TB087
Glucose is stored in muscle tissue as ____________. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	glycolysis
	0%
	glycogen (100%)


Score 0 / 5 



Question 17  (5 points)

Question 12
Which diagram depicts a resting sarcomere? 
[image: image612]
	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	A

	0.0%
	
	
	2.
	B

	100.0%
	[image: image613.png]
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	3.
	C 
CORRECT

	0.0%
	
	
	4.
	D

	0.0%
	
	
	5.
	E


Score 5 / 5 



Question 18  (5 points)

Question 06
Muscle performance is considered in terms of power, the maximum amount of tension that can be produced by a muscle or muscle group, and ________, the amount of time an individual can perform an activity. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	endurance
	100%
	ENDURANCE (100%)


Score 5 / 5 



Question 19  (5 points)

Question 13
You are observing a body in rigor mortis. Which panel best describes the molecular state of the body's muscles? 
[image: image615]
	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image616.png]



	
	1.
	A

	0.0%
	
	
	2.
	B

	0.0%
	
	
	3.
	C

	0.0%
	
	
	4.
	D

	0.0%
	
	[image: image617.png]



	5.
	E
Incorrect. This panel depicts the pivoting of the myosin head that leads to the shortening of the sarcomere. 


Score 0 / 5 



Question 20  (5 points)

Question 24
The level of activity at which the muscles must begin relying on anaerobic metabolism to meet its demands is called 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	aerobic peak.

	100.0%
	[image: image618.png]
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	2.
	anaerobic threshold.
CORRECT

	0.0%
	
	
	3.
	exhaustion point.

	0.0%
	
	
	4.
	mobilization.


Score 5 / 5 

Question 1  (5 points)

Question TB020
In pushing (pressing) a weight from shoulder height to overhead, which of the following muscles is LEAST utilized? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	triceps brachii

	100.0%
	[image: image620.png]
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	2.
	biceps brachii 

	0.0%
	
	
	3.
	deltoid


Score 5 / 5 



Question 2  (5 points)

Question 05
In a parallel muscle, the fascicles 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
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	1.
	are parallel to the long axis of the muscle.
CORRECT

	0.0%
	
	
	2.
	originate in a broad band, but come together in a single point. 

	0.0%
	
	
	3.
	form a common angle with the tendon.

	0.0%
	
	
	4.
	are concentrically arranged around an opening.


Score 5 / 5 



Question 3  (5 points)

Question TB047
The flexor muscles that move the fingers are located 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	on the anterior lateral surface of the forearm.

	100.0%
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	2.
	on the anterior medial surface of the forearm. 

	0.0%
	
	
	3.
	on the posterior surface of the forearm.

	0.0%
	
	
	4.
	on the posterior surface of the hand.


Score 5 / 5 



Question 4  (5 points)

Question 01
Intramuscular injections (IM) are usually made into large, bulky muscles, such as the deltoid or sartorius. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	[image: image626.png]



	1.
	TRUE
Incorrect. Large, bulky muscles are typically the sites for IM injections, but is the sartorius a large, bulky muscle?

	100.0%
	[image: image627.png]



	
	2.
	FALSE


Score 0 / 5 



Question 5  (5 points)

Question TB108
The end of the muscle that is attached to the more stationary of the two bones that it connects is called the ____________. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	origin
	100%
	origin (100%)


Score 5 / 5 



Question 6  (5 points)

Question TB112
Muscles that work together to cause movement are ____________. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	synergist
	0%
	synergists (100%)


Score 0 / 5 



Question 7  (5 points)

Question 18
The __________ nerve innervates all the rectus muscles of the eye. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image628.png]
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	1.
	oculomotor
CORRECT

	0.0%
	
	
	2.
	trochlea

	0.0%
	
	
	3.
	abducens

	0.0%
	
	
	4.
	trigeminal


Score 5 / 5 



Question 8  (5 points)

Question TB118
Which of the following is NOT one of the four major classes of muscle shape? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	pinnate

	0.0%
	
	
	2.
	parallel

	0.0%
	
	
	3.
	convergent

	100.0%
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	4.
	rhombohedral

	0.0%
	
	
	5.
	circular


Score 5 / 5 



Question 9  (5 points)

Question TB124
The flexion of the forearm represents a 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	class I lever system.

	0.0%
	
	
	2.
	class II lever system.

	100.0%
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	3.
	class III lever system.

	0.0%
	
	
	4.
	class IV lever system.

	0.0%
	
	
	5.
	nonlever system.


Score 5 / 5 



Question 10  (5 points)

Question TB128
Which of the following muscles is named for its location? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	rhomboideus major

	0.0%
	
	
	2.
	trapezius

	0.0%
	
	
	3.
	deltoid

	0.0%
	
	
	4.
	teres major

	100.0%
	[image: image634.png]



	[image: image635.png]



	5.
	quadriceps femoris


Score 5 / 5 



Question 11  (5 points)

Question TB136
Intrinsic tongue muscles can 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image636.png]



	
	1.
	A) change the shape of the tongue.

	0.0%
	
	
	2.
	B) move the tongue.

	0.0%
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	3.
	both a and b

	0.0%
	
	
	4.
	neither a nor b


Score 0 / 5 



Question 12  (5 points)

Question TB140
Most of the muscle mass in the lower back is from the 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	iliocostalis muscle.

	100.0%
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	2.
	longissimus muscle.

	0.0%
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	3.
	spinalis muscle.

	0.0%
	
	
	4.
	longus coli muscle.

	0.0%
	
	
	5.
	splenius cervicis muscle.


Score 0 / 5 



Question 13  (5 points)

Question LP37
Enlarge image
Name of muscle that inserts on tendon labeled? 

[image: image640]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	flexor
	0%
	peroneus (40%),   longus (40%),   right (20%)

	2.
	hallucis
	0%
	peroneus (40%),   longus (40%),   right (20%)

	3.
	longus
	40%
	peroneus (40%),   longus (40%),   right (20%)


Score 2 / 5 



Question 14  (5 points)

Question TB146
The pelvic diaphragm is formed by the 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
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	1.
	levator ani and coccygeus muscles.

	0.0%
	
	
	2.
	sphincter urethrae and sphincter ani muscles.

	0.0%
	
	
	3.
	levator ani only.

	0.0%
	
	
	4.
	deep transverse perineum muscle.


Score 5 / 5 



Question 15  (5 points)

Question TB149
A tennis player complains of subacromial pain in the shoulder when abducting the humerus in serving or returning an overhead volley. Which of the rotator cuff muscles is probably damaged? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
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	1.
	infraspinatus

	0.0%
	
	
	2.
	subscapularis

	100.0%
	[image: image644.png]



	
	3.
	supraspinatus

	0.0%
	
	
	4.
	teres major


Score 0 / 5 



Question 16  (5 points)

Question 42
The hamstrings are 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
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	1.
	the biceps femoris, semimembranosus, and semitendinosus.
CORRECT

	0.0%
	
	
	2.
	gastrocnemius and soleus.

	0.0%
	
	
	3.
	vastus lateralis, vastus medialis, rectus femoris, and vastus intermedius.

	0.0%
	
	
	4.
	gracilis, sartorius, and adductor magnus.


Score 5 / 5 



Question 17  (5 points)

Question TB159
The muscle(s) that extend the wrist is (are) the 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	A) extensor carpi radialis longus.

	0.0%
	
	
	2.
	B) extensor carpi radialis brevis.

	0.0%
	
	
	3.
	C) extensor carpi ulnaris.

	0.0%
	
	
	4.
	a and b only

	100.0%
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	5.
	a, b, and c


Score 5 / 5 



Question 18  (5 points)

Question TB163
The gluteus maximus 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	flexes the thigh.

	100.0%
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	2.
	extends and laterally rotates the thigh.

	0.0%
	
	
	3.
	abducts and medially rotates the thigh.

	0.0%
	
	
	4.
	only extends the thigh.

	0.0%
	
	
	5.
	allows one to sit cross-legged.


Score 5 / 5 



Question 19  (5 points)

Question TB167
The muscle that is used to cross one's legs is the 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
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	1.
	sartorius.

	0.0%
	
	
	2.
	gluteus maximus.

	0.0%
	
	
	3.
	gastrocnemius.

	0.0%
	
	
	4.
	rectus femoris.

	0.0%
	
	
	5.
	vastus lateralis.


Score 5 / 5 



Question 20  (5 points)

Question TB172
Which of the following muscles is found in the lateral compartment of the leg? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	tibialis anterior

	100.0%
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	2.
	peroneus longus

	0.0%
	
	
	3.
	soleus

	0.0%
	
	
	4.
	plantaris

	0.0%
	
	
	5.
	extensor digitorum longus


Score 5 / 5 

Question 1  (5 points)

Question slg03
Open AIA by double clicking Adam Interactive Anatomy. Choose Dissectible Anatomy. 
Be sure that male and anterior are selected. Click Open.
Select Find from the Tools menu. A new window appears titled Find. Type ‘Hyoid bone’ in the upper box. Click the Find button.
A list of five structures that include the hyoid bone appears in the Find Results window. Highlight ‘hyoid bone’. Click the Go To Structure button. Select Male Anterior from the drop-down menu that appears. 
A figure of the neck region appears with the hyoid bone highlighted You will also note that the Depth Bar to the left of the image has now moved down and the Layer Indicator now appears with the number 254. 

< Where is the hyoid bone located in relation to the larynx? 
Type one word to an answer block 

[image: image655]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	superior
	100%
	superior (100%)


Score 5 / 5 



Question 2  (5 points)

Question slg02
Select View from the Tool/Palette. Select Lateral from the drop-down menu. 
Drag the Depth Bar until the number 187 appears on the Layer Indicator. 
Expand the view by clicking the maximize button in the upper right corner of the window. The vertical and horizontal scroll bars can also be used to help center the figure. Note: Some of the bones identified are labeled in more detail than we are looking for at this time. For instance, upon clicking a specific region of the temporal bone, you may see ‘Squamous portion of the temporal bone’. At this point, we are only going to match the entire bone, or the temporal bone. 

Match the label to the corresponding letter on the diagram. 

Click on the down arrow beside each label to see a possible letter to choose. 
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Student response 

	A
	-->
	temporal bone
	Correct

	B
	-->
	occipital bone
	Correct

	C
	-->
	parietal bone
	Correct

	D
	-->
	frontal bone
	Correct

	E
	-->
	sphenoid bone
	Correct

	F
	-->
	nasal bone
	Correct

	G
	-->
	zygomatic bone
	Correct

	H
	-->
	maxilla
	Correct

	I
	-->
	mandible
	Correct


Score 5 / 5 



Question 3  (5 points)

Question slg06
To examine the vertebral column from an anterior view, select Anterior from the View button drop-down menu.
Adjust the Layer Indicator to 329.

Match the label to the corresponding letter on the diagram. 

Click on the down arrow beside each label to see a possible letter to choose. 
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Student response 

	A
	-->
	body of L1 vertebra
	Correct

	B
	-->
	body of L4 vertebra
	Correct

	C
	-->
	intervertebral disc
	Correct

	D
	-->
	body of L5 vertebra
	Correct


Score 5 / 5 



Question 4  (5 points)

Question slg08
Select Anterior from the View button drop-down menu.
Adjust the Layer Indicator of the depth bar to 329.
Click the Normal Mode button. 
Adjust the image so that the left anterior femur is visible.
Select Open: Content from the File menu and choose Dissectible Anatomy. Select Posterior in the View menu. Click Open. A new window: Male Posterior, appears. Adjust the image on your screen so that the upper left leg is seen. Adjust the Layer indicator of the Depth Bar to 185. 
Select Tile from the Windows menu. All the open windows in the program appear tiled side by side.

Match the label to the corresponding letter on the diagram. 

Click on the down arrow beside each label to see a possible letter to choose. 
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Student response 

	A
	-->
	head of femur
	Correct

	B
	-->
	greater trochanter of femur
	Correct

	C
	-->
	neck of femur
	Correct

	D
	-->
	lesser trochanter of femur
	Correct


Score 5 / 5 



Question 5  (5 points)

Question LP01
Enlarge Image
The original of the ‘large’ image can be found by using GOOGLE to search for ‘jaydoc histoweb’ the Histology Website for the Kansas University Medical Center. Name of protein(s) in the darkest band(s)? 

[image: image676]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	myosin
	50%
	myosin (50%),   actin (50%)

	2.
	actin
	50%
	myosin (50%),   actin (50%)


Score 5 / 5 



Question 6  (5 points)

Question LP03
Enlarge Image
The original of the ‘large’ image can be found by using GOOGLE to search for ‘jaydoc histoweb’ the Histology Website for the Kansas University Medical Center. Name of leukocyte at pointer? 

[image: image677]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	eosinophil
	100%
	eosinophil (100%)


Score 5 / 5 



Question 7  (5 points)

Question LP06
Enlarge Image
Action of this muscle is to _________ _________ __________? 

[image: image678]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	close anal opening 
	100%
	close anal opening (100%)


Score 5 / 5 



Question 8  (5 points)

Question LP07a
Enlarge Image
Name of Bone labeled? 

[image: image679]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	right
	20%
	zygomatic (80%),   right (20%)

	2.
	zygomatic
	80%
	zygomatic (80%),   right (20%)


Score 5 / 5 



Question 9  (5 points)

Question LP08a
Enlarge Image
Name of Bone labeled? 

[image: image680]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	xiphoid
	60%
	xiphoid (60%),   process (40%)

	2.
	process
	40%
	xiphoid (60%),   process (40%)


Score 5 / 5 



Question 10  (5 points)

Question LP10
Enlarge Image
Name of muscle labeled? 

[image: image681]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	right
	0%
	erector (40%),   spinae (40%),   left (20%)

	2.
	spinalis
	0%
	erector (40%),   spinae (40%),   left (20%)

	3.
	thoracis
	0%
	erector (40%),   spinae (40%),   left (20%)


Score 0 / 5 



Question 11  (5 points)

Question LP22a
Enlarge Image
Muscle that adducts this limb? 

[image: image682]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	deltoid
	80%
	deltoid (80%),   left (20%)

	2.
	left
	20%
	deltoid (80%),   left (20%)


General feedback 

Score 5 / 5 



Question 12  (5 points)

Question LP14
Enlarge Image
The original of the ‘large’ image can be found by using GOOGLE to search for ‘lumen’ the Histology Website for the Loyola University Medical Education Network. Name of cell at pointer? 

[image: image683]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	osteoclast
	100%
	osteoclast (100%)


Score 5 / 5 



Question 13  (5 points)

Question LP16
Enlarge Image
The original of the ‘large’ image can be found by using GOOGLE to search for ‘lumen’ the Histology Website for the Loyola University Medical Education Network. Function of cell labeled is to ____________ ____________? 

[image: image684]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	produce
	50%
	platelets (50%),   produce (50%)

	2.
	platelets
	50%
	platelets (50%),   produce (50%)


Score 5 / 5 



Question 14  (5 points)

Question LP17
Enlarge Image
The original of the ‘large’ image can be found by using GOOGLE to search for ‘jaydoc histoweb’ the Histology Website for the Kansas University Medical Center. Type of connective tissue at pointer? 

[image: image685]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	cartilage
	50%
	cartilage (50%),   hyaline (50%)

	2.
	hyaline
	50%
	cartilage (50%),   hyaline (50%)


Score 5 / 5 



Question 15  (5 points)

Question LP18d
Enlarge Image
Annotation on the enlarged image identifies textbook figure. Name of muscle labeled? 

[image: image686]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	triceps
	40%
	triceps (40%),   brachii (40%),   left (20%)

	2.
	brachii
	40%
	triceps (40%),   brachii (40%),   left (20%)

	3.
	left
	20%
	triceps (40%),   brachii (40%),   left (20%)


Score 5 / 5 



Question 16  (5 points)

Question LP18c
Enlarge Image
Annotation on the enlarged image identifies textbook figure. Vertebra is from which group? 

[image: image687]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	thoracic
	100%
	thoracic (100%)


Score 5 / 5 



Question 17  (5 points)

Question LP20
Enlarge Image
Annotation on the enlarged image identifies textbook figure. Name of structure at pointer? 

[image: image688]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	perimysium
	100%
	perimysium (100%)


Score 5 / 5 



Question 18  (5 points)

Question LP20b
Enlarge Image
Name of muscle labeled? 

[image: image689]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	right gluteous minimus
	0%
	right gluteus minimus (100%)


Score 0 / 5 



Question 19  (5 points)

Question LP20e
Enlarge Image
Name of Bone labeled? 

[image: image690]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	right
	20%
	humerus (80%),   right (20%)

	2.
	humerus
	80%
	humerus (80%),   right (20%)


Score 5 / 5 



Question 20  (5 points)

Question LP21a
Enlarge Image
Movement that resulted in position of hand bones? 

[image: image691]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	flexor retinaculum
	0%
	supination (100%)


Score 0 / 5
Question 1  (5 points)

Question LB03
Enlarge image
Name of type of bone labeled? 

[image: image692]
	No.
	Student response

	1.
	compact


Score 5 / 5 



Question 2  (5 points)

Question LB03
Enlarge Image
Name of leukocyte at pointer? 

[image: image693]
	No.
	Student response

	1.
	eosinophil


General feedback 

Score 5 / 5 



Question 3  (5 points)

Question LB07a
Enlarge Image
Name of Bone labeled? 

[image: image694]
	No.
	Student response

	1.
	zygomatic

	2.
	bone


General feedback 

Score 0 / 5 



Question 4  (5 points)

Question LB23
Enlarge image
Match Letter to bone? 
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	A
	 
	a. occipital

	B
	 
	b. right zygomatic

	C
	 
	c. right parietal

	D
	 
	d. right sphenoid

	E
	 
	e. right temporal


Student response 

	A
	-->
	a

	B
	-->
	c

	C
	-->
	d

	D
	-->
	b

	E
	-->
	e


Score 5 / 5 



Question 5  (5 points)

Question LB01
Enlarge image
Name of bone labeled? 

[image: image701]
	No.
	Student response

	1.
	cervical vertebra


General feedback 

Score 0 / 5 



Question 6  (5 points)

Question slg1206
Match the label to the corresponding letter on the diagram. 
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Student response 

	A
	-->
	body of L1 vertebra

	B
	-->
	body of L4 vertebra

	C
	-->
	intervertebral disc

	D
	-->
	body of L5 vertebra

	E
	-->
	sacrum

	F
	-->
	coccyx


Score 5 / 5 



Question 7  (5 points)

Question LB09
Enlarge image
Name EACH of appendicular skeleton bones (or groups of bones) that lie on a transverse plane at point indicated? [May require multiword answer] 

[image: image709]
	No.
	Student response

	1.
	humerus scapula clavicle

	2.
	Not answered


Score 0 / 5 



Question 8  (5 points)

Question LB20e
Enlarge Image
Name of Bone labeled? 

[image: image710]
	No.
	Student response

	1.
	greater

	2.
	tubercle


General feedback 

Score 0 / 5 



Question 9  (5 points)

Question LB19
Enlarge image
How many bones make up the carpals of this figure? 

[image: image711]
	No.
	Student response

	1.
	8


General feedback 

Score 5 / 5 



Question 10  (5 points)

Question LB25
Enlarge image
Name the bone (or bones) immediately distal to this Bone? 

[image: image712]
	No.
	Student response

	1.
	scaphoid

	2.
	lunate


General feedback 

Score 0 / 5 



Question 11  (5 points)

Question LB21a
Enlarge Image
Movement that resulted in position of hand bones? 

[image: image713]
	No.
	Student response

	1.
	flexor retinaculum


General feedback 

Score 0 / 5 



Question 12  (5 points)

Question LB01
Enlarge Image
Name of protein(s) in the darkest band(s)? 

[image: image714]
	No.
	Student response

	1.
	myosin

	2.
	actin


General feedback 

Score 5 / 5 



Question 13  (5 points)

Question LB10
Enlarge Image
Name of muscle labeled? 

[image: image715]
	No.
	Student response

	1.
	spinalis

	2.
	thoracis

	3.
	muscle


General feedback 

Score 0 / 5 



Question 14  (5 points)

Question LB08b
Enlarge Image
Name of muscle labeled? 

[image: image716]
	No.
	Student response

	1.
	flexor

	2.
	carpi

	3.
	radialis

	4.
	muscle


General feedback 

Score 0 / 5 



Question 15  (5 points)

Question slg1213
Match the label to the corresponding letter on the diagram. 
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Student response 

	A
	-->
	tendon of biceps brachii

	B
	-->
	palmaris longus

	C
	-->
	flexor carpi ulnaris

	D
	-->
	short head of biceps brachii

	E
	-->
	brachioradialis

	F
	-->
	flexor carpi radialis

	G
	-->
	flexor digitorum longus

	H
	-->
	tendon of flexor pollicis longus


Score 5 / 5 



Question 16  (5 points)

Question slg1214
Match the label to the corresponding letter on the diagram. 
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Student response 

	A
	-->
	tendon of long head of triceps brachii

	B
	-->
	lateral head of triceps brachii

	C
	-->
	tendon of triceps brachii

	D
	-->
	extensor carpi radialis longus

	E
	-->
	extensor carpi ulnaris

	F
	-->
	extensor digitorum

	G
	-->
	flexor carpi ulnaris

	H
	-->
	extensor retinaculum of wrist


Score 5 / 5 



Question 17  (5 points)

Question slg1223
Match the label to the corresponding letter on the diagram. 
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Student response 

	A
	-->
	ilium

	B
	-->
	piriformis

	C
	-->
	quadratus femoris

	D
	-->
	gluteus medius

	E
	-->
	tendon of gluteus medius

	F
	-->
	femur

	G
	-->
	sciatic nerve


Score 5 / 5 



Question 18  (5 points)

Question LB43
Enlarge image
Name of muscle labeled? 

[image: image743]
	No.
	Student response

	1.
	longissimus

	2.
	thoracis

	3.
	muscle


Score 0 / 5 



Question 19  (5 points)

Question 03
Match the following labels to the proper locations on the figure.
[image: image744]
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Student response 

	gastrocnemius
	-->
	C

	gracilis
	-->
	B

	iliopsoas
	-->
	G

	pectineus
	-->
	E

	rectus femoris
	-->
	H

	sartorius
	-->
	A

	tensor fasciae latae
	-->
	F

	vastus lateralis
	-->
	D


Score 5 / 5 



Question 20  (5 points)

Question LB46
Enlarge image
Name of muscle labeled? 

[image: image753]
	No.
	Student response

	1.
	external

	2.
	abdominal

	3.
	oblique

	4.
	muscle


General feedback 

Score 0 / 5 



Question 21  (5 points)

Question LB16
Enlarge image
Name of muscle labeled? 

[image: image754]
	No.
	Student response

	1.
	latissimus

	2.
	dorsi

	3.
	muscle


Score 0 / 5 



Question 22  (5 points)

Question LB26
Enlarge image
Name of muscle labeled? 

[image: image755]
	No.
	Student response

	1.
	latissimus

	2.
	dorsi

	3.
	muscle


Score 0 / 5 



Question 23  (5 points)

Question LB42
Enlarge image
Name of muscle labeled? 

[image: image756]
	No.
	Student response

	1.
	rectus

	2.
	femoris

	3.
	muscle


Score 0 / 5 



Question 24  (5 points)

Question LB15
Enlarge image
Action of muscle labeled? [May require multiword answers] 

[image: image757]
	No.
	Student response

	1.
	plantar

	2.
	flexion

	3.
	at

	4.
	ankle


Score 0 / 5 



Question 25  (5 points)

Question labCH02ac
Location C should be labeled: _________ _________?
[image: image758]
	No.
	Student response

	1.
	central

	2.
	canals


General feedback 

Score 2.5 / 5 



Question 26  (5 points)

Question slg1201e
Bone labeled E is the ____________? 

[image: image759]
	No.
	Student response

	1.
	mandible


General feedback 

Score 5 / 5 



Question 27  (5 points)

Question slg1202i
Bone labeled I is the ____________? 

[image: image760]
	No.
	Student response

	1.
	mandible


General feedback 

Score 5 / 5 



Question 28  (5 points)

Question labCH03d
Location D should be labeled: _________ _________?
[image: image761]
	No.
	Student response

	1.
	lamina of

	2.
	vertebral arch


General feedback 

Score 0 / 5 



Question 29  (5 points)

Question lab02ae
Location E should be labeled: _________ __________.
[image: image762]
	No.
	Student response

	1.
	patellar

	2.
	surface


General feedback 

Score 0 / 5 



Question 30  (5 points)

Question slg1208c
Structure labeled C is the ____________ of femur? 

[image: image763]
	No.
	Student response

	1.
	neck


General feedback 

Score 5 / 5 



Question 31  (5 points)

Question lab02ba
Location A should be labeled: ________ _________ _________.
[image: image764]
	No.
	Student response

	1.
	fibular

	2.
	collateral

	3.
	ligament


General feedback 

Score 5 / 5 



Question 32  (5 points)

Question lab01ca
Location A should be labeled: _________.
[image: image765]
	No.
	Student response

	1.
	epimysium


General feedback 

Score 5 / 5 



Question 33  (5 points)

Question slg1214f
Muscle labeled F is the ____________ ____________ ____________? 

[image: image766]
	No.
	Student response

	1.
	extensor

	2.
	digitorum

	3.
	muscle


General feedback 

Score 0 / 5 



Question 34  (5 points)

Question slg1215e
Muscle labeled E is the _________ ________ _________ _________? 

[image: image767]
	No.
	Student response

	1.
	flexor

	2.
	carpi

	3.
	radialis

	4.
	muscle


General feedback 

Score 0 / 5 



Question 35  (5 points)

Question slg1213g
Muscle labeled G is the _________ ________ _________ _________? 

[image: image768]
	No.
	Student response

	1.
	flexor

	2.
	digitorum

	3.
	superficialis

	4.
	muscle


General feedback 

Score 0 / 5 



Question 36  (5 points)

Question slg1215c
Muscle labeled C is the _________ ________? 

[image: image769]
	No.
	Student response

	1.
	brachialis

	2.
	muscle


General feedback 

Score 0 / 5 



Question 37  (5 points)

Question slg1218a
Muscle labeled A is the _________ ________ _________? 

[image: image770]
	No.
	Student response

	1.
	vastus

	2.
	lateralis

	3.
	muscle


General feedback 

Score 0 / 5 



Question 38  (5 points)

Question slg1223d
Muscle labeled D is the _________ ________ _________ of thigh? 

[image: image771]
	No.
	Student response

	1.
	gluteus

	2.
	medius

	3.
	muscle


General feedback 

Score 0 / 5 



Question 39  (5 points)

Question slg1209a
Muscle labeled A is the ____________ ___________ ___________? 

[image: image772]
	No.
	Student response

	1.
	fibularis

	2.
	longus

	3.
	muscle


General feedback 

Score 0 / 5 



Question 40  (5 points)

Question slg1227c
Muscle labeled C is the _________ ________? 

[image: image773]
	No.
	Student response

	1.
	gracilis

	2.
	muscle


General feedback 

Score 0 / 5
Question 1  (5 points)

Question LP3
Enlarge image
Name of type of bone labeled? 

[image: image774]
	No.
	Student response

	1.
	compact


Score 5 / 5 



Question 2  (5 points)

Question TB149
Normal bone growth requires adequate amounts of _____, _____, and _____ in the diet. 

	Student
Response
	   Answer Choices

	
	1.
	sodium; calcium; vitamin E

	
	2.
	potassium; phosphate; vitamin D

	[image: image775.png]



	3.
	calcium; phosphate; vitamin D

	
	4.
	vitamin D; phosphate; chloride


Score 5 / 5 



Question 3  (5 points)

Question CH01
Which of the following statements about compact and spongy bone is false? 

	Student
Response
	   Answer Choices

	[image: image776.png]



	1.
	Both types of bone contain collagen fibers as well as calcium salts in their matrix.

	
	2.
	Even bones that are mainly spongy bone tissue contain a surface layer of compact bone.

	
	3.
	Osteons are arranged parallel to the long axis of the central canal, along lines of stress.

	
	4.
	Spongy bones are not covered by a periosteum.

	
	5.
	Perforating canals are perpendicular to central canals in compact bone.


Score 0 / 5 



Question 4  (5 points)

Question TB053
The homeostasis of blood calcium is maintained by its moving into and out of bone tissue. 

	Student
Response
	   Answer Choices

	
	1.
	True 

	[image: image777.png]



	2.
	False


Score 0 / 5 



Question 5  (5 points)

Question CH09
Perforating canals 

	Student
Response
	   Answer Choices

	
	1.
	are filled with bone marrow.

	
	2.
	supply blood to the skin.

	[image: image778.png]



	3.
	supply blood to the Haversian systems.

	
	4.
	are artifacts.


Score 5 / 5 



Question 6  (5 points)

Question TB135
Intramembranous bone formation 

	Student
Response
	   Answer Choices

	
	1.
	occurs at the epiphyseal plate.

	[image: image779.png]



	2.
	occurs within a fibrous membrane.

	
	3.
	occurs in most bones.

	
	4.
	occurs within a hyaline cartilage model.


Score 5 / 5 



Question 7  (5 points)

Question CH03
The patella is an example of a short bone. 

	Student
Response
	   Answer Choices

	
	1.
	TRUE

	[image: image780.png]



	2.
	FALSE


Score 5 / 5 



Question 8  (5 points)

Question TB068
A compound fracture is one in which the bone is broken in more than one area. 

	Student
Response
	   Answer Choices

	
	1.
	True

	[image: image781.png]



	2.
	False 


Score 5 / 5 



Question 9  (5 points)

Question CH04
Put the following steps in fracture repair into the proper order by matching them (1) to (7). 

[image: image782.wmf]
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Student response 

	1
	-->
	a fracture hematoma forms a fibrous meshwork in the damaged area

	2
	-->
	disruption of blood flow kills osteocytes and produces dead bone

	3
	-->
	cells of the periosteum and endosteum divide rapidly and migrate into the fracture area

	4
	-->
	osteoblasts of calluses begin forming bridges of bone between the living bone fragments

	5
	-->
	cells in the external callus produce cartilage blocks

	6
	-->
	osteoblasts replace cartilage with spongy bone that forms an extensive brace at the fracture site

	7
	-->
	remodeling produces living compact bone that may be stronger and thicker than surrounding bone


Score 3.57 / 5 



Question 10  (5 points)

Question TBA21
The suture that extends from the posterior fontanel to the posterolateral fontanel is the 

	Student
Response
	   Answer Choices

	[image: image789.png]



	1.
	lambdoidal suture.

	
	2.
	squamosal suture.

	
	3.
	sagittal suture.

	
	4.
	coronal suture.


Score 5 / 5 



Question 11  (5 points)

Question TB23
The lacrimal bones contain openings for the tear ducts. 

	Student
Response
	   Answer Choices

	[image: image790.png]



	1.
	True 

	
	2.
	False


Score 5 / 5 



Question 12  (5 points)

Question CH04
Which of the following statements about the foramina of the skull is incorrect? 

	Student
Response
	   Answer Choices

	
	1.
	The mastoid foramen is located in the temporal bone.

	[image: image791.png]



	2.
	One of the foramina of the temporal bone is the foramen rotundum.

	
	3.
	The lacrimal bone contains the lacrimal foramen.

	
	4.
	The optic foramen carries the optic nerve through the sphenoid bone.


Score 5 / 5 



Question 13  (5 points)

Question CH08
Which of the following relationships is not correct for the regions of the vertebral column? 

	Student
Response
	   Answer Choices

	
	1.
	thoracic--12 vertebrae

	[image: image792.png]



	2.
	sacral--3 vertebrae fused into single bone

	
	3.
	lumbar--5 vertebrae

	
	4.
	cervical--7 vertebrae


Score 5 / 5 



Question 14  (5 points)

Question TBA3
The total number of cervical vertebrae that form the flexible framework of the neck region and support the head is ____________. 

	No.
	Student response

	1.
	7


General feedback 

Score 5 / 5 



Question 15  (5 points)

Question TBA02
The individual digits of the hands and feet separate by the end of the ____________ week. 

	No.
	Student response

	1.
	seventh


Score 0 / 5 



Question 16  (5 points)

Question 03
The scapula has two large processes called the __________ and the __________. 

	Student
Response
	   Answer Choices

	
	1.
	glenoid and subscapular 

	
	2.
	trochlea and capitulum

	[image: image793.png]



	3.
	coracoid and acromion

	
	4.
	supraspinatus and infraspinatus


Score 5 / 5 



Question 17  (5 points)

Question TBA49
The roughened vertical ridge on the posterior surface of the femoral shaft is the 

	Student
Response
	   Answer Choices

	
	1.
	greater trochanter.

	[image: image794.png]



	2.
	linea aspera

	
	3.
	patellar surface

	
	4.
	fovea capitus femoris


Score 5 / 5 



Question 18  (5 points)

Question TBA46
Which of the following is NOT a bone of the carpus? 

	Student
Response
	   Answer Choices

	
	1.
	capitate bone

	
	2.
	pisiform bone

	
	3.
	lunate bone

	[image: image795.png]



	4.
	cuboid bone


Score 5 / 5 



Question 19  (5 points)

Question 43
Compared to the female pelvis, the male pelvis 

	Student
Response
	   Answer Choices

	[image: image796.png]



	1.
	has a narrower outlet.

	
	2.
	has a broader, lower pelvic brim.

	
	3.
	a broader pelvic angle. 

	
	4.
	All of the above are true.


Score 5 / 5 



Question 20  (5 points)

Question TBA14
All synovial joints have an enclosed cavity with a lubricating fluid. 

	Student
Response
	   Answer Choices

	[image: image797.png]



	1.
	True 

	
	2.
	False


Score 5 / 5 



Question 21  (5 points)

Question TBA42
Vertebral bodies are connected by the: 

	Student
Response
	   Answer Choices

	
	1.
	ligamenta flava

	
	2.
	ligamentum nuchae

	[image: image798.png]



	3.
	posterior longitudinal ligament 

	
	4.
	intertransverse ligaments


Score 5 / 5 



Question 22  (5 points)

Question TBA07
A pivot joint is a form of uniaxial joint. 

	Student
Response
	   Answer Choices

	[image: image799.png]



	1.
	True 

	
	2.
	False


Score 5 / 5 



Question 23  (5 points)

Question 08
A suture is an example of a(n) 

	Student
Response
	   Answer Choices

	[image: image800.png]



	1.
	synarthrosis.

	
	2.
	diarthrosis.

	
	3.
	amphiarthrosis.

	
	4.
	None of the above is true.


Score 5 / 5 



Question 24  (5 points)

Question 07
Which one of these muscles is NOT associated with the rotator cuff of the shoulder? 

	Student
Response
	   Answer Choices

	
	1.
	deltoid

	[image: image801.png]



	2.
	teres major

	
	3.
	infraspinatus

	
	4.
	subscapularis


Score 5 / 5 



Question 25  (5 points)

Question TBA02
A gliding joint is an example of a: 

	Student
Response
	   Answer Choices

	[image: image802.png]



	1.
	uniaxial joint

	
	2.
	biaxial joint

	
	3.
	multiaxial joint 


Score 0 / 5 



Question 26  (5 points)

Question 24
Which of the following is not a synovial joint? 

	Student
Response
	   Answer Choices

	[image: image803.png]



	1.
	suture 

	
	2.
	ball-and-socket joint

	
	3.
	saddle joint 

	
	4.
	pivot joint


Score 5 / 5 



Question 27  (5 points)

Question 38
The carpometacarpal joint at the base of the thumb is an example of a(n) 

	Student
Response
	   Answer Choices

	
	1.
	hinge joint.

	
	2.
	pivot joint.

	[image: image804.png]



	3.
	saddle joint. 

	
	4.
	ball-and-socket joint.


Score 5 / 5 



Question 28  (5 points)

Question TB04
All synovial joints have an enclosed cavity with a lubricating fluid. 

	Student
Response
	   Answer Choices

	[image: image805.png]



	1.
	True 

	
	2.
	False


Score 5 / 5 



Question 29  (5 points)

Question 02
Match the following labels to the proper locations on the figure.
[image: image806]
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Student response 

	Anterior cruciate ligament
	-->
	B

	Fibular collateral ligament
	-->
	A

	Lateral condyle
	-->
	C

	Lateral meniscus
	-->
	D

	Medial condyle
	-->
	E


Score 5 / 5 



Question 30  (5 points)

Question TB046
The epimysium, endomysium, and perimysium may all be continuous with ligaments. 

	Student
Response
	   Answer Choices

	
	1.
	True

	[image: image812.png]



	2.
	False 


Score 5 / 5 



Question 31  (5 points)

Question TB049
The ion needed for cross bridging to occur is 

	Student
Response
	   Answer Choices

	
	1.
	iron.

	
	2.
	sodium.

	
	3.
	potassium.

	[image: image813.png]



	4.
	calcium.


Score 5 / 5 



Question 32  (5 points)

Question TB039
T tubules are perpendicular to muscle fibers. 

	Student
Response
	   Answer Choices

	[image: image814.png]



	1.
	True 

	
	2.
	False


Score 5 / 5 



Question 33  (5 points)

Question TB051
The more precise the muscle movement, the greater the number of muscle fibers activated by a motor neuron. 

	Student
Response
	   Answer Choices

	[image: image815.png]



	1.
	True

	
	2.
	False


Score 0 / 5 



Question 34  (5 points)

Question TB018
If the nerve pathway supplying specific skeletal muscle fibers is damaged, those fibers can still contract because of the property of automaticity. 

	Student
Response
	   Answer Choices

	[image: image816.png]



	1.
	True

	
	2.
	False


Score 0 / 5 



Question 35  (5 points)

Question 09
Which of the following statements about lactic acid and muscle fatigue is false? 

	Student
Response
	   Answer Choices

	
	1.
	A skeletal muscle is fatigued when it cannot contract any longer despite continued nervous stimulation.

	
	2.
	Under moderate use and aerobic conditions, muscle fatigue occurs when all reserves of glycogen, lipids, and amino acids have been exhausted.

	
	3.
	Muscles usually recover from moderate activity within several hours, but recovery from fatigue takes as long as a week.

	
	4.
	The Cori cycle sends lactic acid produced through anaerobic muscle activity to the liver, which converts most of it to glucose that muscle fibers can pick up from circulating blood.

	[image: image817.png]



	5.
	Heat production in muscle tissue stops as soon as exercise activities cease.

	
	6.
	The formation of lactic acid is an anaerobic process.


Score 5 / 5 



Question 36  (5 points)

Question TB059
Thick myofilaments extend the length of the 

	Student
Response
	   Answer Choices

	
	1.
	A band. 

	
	2.
	Z line.

	
	3.
	I band.

	[image: image818.png]



	4.
	None of the above.


Score 0 / 5 



Question 37  (5 points)

Question TB070
Which of the following types of molecules is found in the thick myofilaments? 

	Student
Response
	   Answer Choices

	
	1.
	actin

	
	2.
	actin, troponin, and tropomyosin

	
	3.
	troponin

	[image: image819.png]



	4.
	myosin 

	
	5.
	tropomysin


Score 5 / 5 



Question 38  (5 points)

Question 01
Label the following components in the diagram of the skeletal muscle.
[image: image820]
[image: image821.wmf]
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Student response 

	Epimysium
	-->
	A

	Tendon
	-->
	B

	Muscle fascicle
	-->
	E

	Perimysium
	-->
	C

	Skeletal muscle fiber
	-->
	D


Score 5 / 5 



Question 39  (5 points)

Question LP31
Enlarge image
Name of muscle that acts antagonistically to elevation of bone labeled? Left __________ or Left ___________ ___________ 

[image: image826]
	No.
	Student response

	1.
	pectoralis minor


Score 0 / 5 



Question 40  (5 points)

Question TB131
Raising the eyebrows involves the 

	Student
Response
	   Answer Choices

	
	1.
	auricular muscles.

	[image: image827.png]



	2.
	occipitofrontalis muscles.

	
	3.
	levator palpebrae superioris muscles.

	
	4.
	procerus muscles.

	
	5.
	nasalis muscles.


Score 5 / 5 



Question 41  (5 points)

Question TB047
The flexor muscles that move the fingers are located 

	Student
Response
	   Answer Choices

	
	1.
	on the anterior lateral surface of the forearm.

	[image: image828.png]



	2.
	on the anterior medial surface of the forearm. 

	
	3.
	on the posterior surface of the forearm.

	
	4.
	on the posterior surface of the hand.


Score 5 / 5 



Question 42  (5 points)

Question TB140
Most of the muscle mass in the lower back is from the 

	Student
Response
	   Answer Choices

	
	1.
	iliocostalis muscle.

	[image: image829.png]



	2.
	longissimus muscle.

	
	3.
	spinalis muscle.

	
	4.
	longus coli muscle.

	
	5.
	splenius cervicis muscle.


Score 5 / 5 



Question 43  (5 points)

Question TB114
The ____________ __________ is the muscle that plays the major role in accomplishing the desired movement. 

	No.
	Student response

	1.
	prime

	2.
	mover


Score 5 / 5 



Question 44  (5 points)

Question LP34
Enlarge image
Loss (cutting) of this tendon would have what result? [May require multiword answer] 

[image: image830]
	No.
	Student response

	1.
	ankle extension would be very difficult to perform


Score 0 / 5 



Question 45  (5 points)

Question TB124
The flexion of the forearm represents a 

	Student
Response
	   Answer Choices

	
	1.
	class I lever system.

	
	2.
	class II lever system.

	[image: image831.png]



	3.
	class III lever system.

	
	4.
	class IV lever system.

	
	5.
	nonlever system.


Score 5 / 5 



Question 46  (5 points)

Question 51
Which of the following is not an extrinsic eye muscle? 

	Student
Response
	   Answer Choices

	[image: image832.png]



	1.
	platysma

	
	2.
	superior oblique

	
	3.
	lateral rectus

	
	4.
	medial rectus


Score 5 / 5 



Question 47  (5 points)

Question 07
Levers can change the 

	Student
Response
	   Answer Choices

	
	1.
	direction of an applied force.

	
	2.
	speed of an applied force.

	
	3.
	effective strength of an applied force.

	[image: image833.png]



	4.
	All of the above are true.


Score 5 / 5 



Question 48  (5 points)

Question TB145
The arm is attached to the thorax by the 

	Student
Response
	   Answer Choices

	
	1.
	A) latissimus dorsi.

	
	2.
	B) pectoralis major.

	
	3.
	C) pectoralis minor.

	[image: image834.png]



	4.
	both a and b

	
	5.
	both a and c


Score 5 / 5 



Question 49  (5 points)

Question 067
A __________ is a rounded passageway for passage of blood vessels and/or nerves. 

	No.
	Student response

	1.
	foramen


Score 5 / 5 



Question 50  (5 points)

Question 039
A painful infection of the bone often caused by bacteria is 

	Student
Response
	   Answer Choices

	
	1.
	osteopenia

	
	2.
	osteoporosis

	[image: image835.png]



	3.
	osteomyelitis

	
	4.
	osteitis

	
	5.
	osteomalacia


Score 5 / 5 



Question 51  (5 points)

Question 036
When stress is applied to a bone 

	Student
Response
	   Answer Choices

	[image: image836.png]



	1.
	the minerals in the bone produce a weak electrical field that attracts osteoblasts

	
	2.
	osteoclast activity increases

	
	3.
	the bone becomes thin and brittle

	
	4.
	the bone compensates by becoming thinner in the region of stress

	
	5.
	trabeculae are formed perpendicular to the zone of stress to increase strength


Score 5 / 5 



Question 52  (5 points)

Question 084
Dislocations involving synovial joints are usually prevented by all of the following, except 

	Student
Response
	   Answer Choices

	
	1.
	structures such as ligaments that stabilize and support the joint

	[image: image837.png]



	2.
	the presence of bursae

	
	3.
	the presence of other bones that prevent certain movements

	
	4.
	the position of muscles and fat pads that limit the degree of movement

	
	5.
	the shape of the articulating surface


Score 5 / 5 



Question 53  (5 points)

Question 016
The medullary cavity of bones contains 

	Student
Response
	   Answer Choices

	
	1.
	compact bone

	
	2.
	osteons

	
	3.
	cartilage

	[image: image838.png]



	4.
	marrow

	
	5.
	periosteum


Score 5 / 5 



Question 54  (5 points)

Question 094
A __________ fracture is one that retains the normal alignment of the bone elements or fragments. 

	No.
	Student response

	1.
	nondisplaced


Score 5 / 5 



Question 55  (5 points)

Question 088
An abnormal lateral curvature of the spine is called ___________. 

	No.
	Student response

	1.
	scoliosis


Score 5 / 5 



Question 56  (5 points)

Question 032
The superior and middle conchae 

	Student
Response
	   Answer Choices

	
	1.
	attach muscles that move the eye

	
	2.
	contain the nerves for olfaction

	[image: image839.png]



	3.
	break up air flow creating swirls and eddies

	
	4.
	house the pituitary gland

	
	5.
	attach muscles that move the jaw


Score 5 / 5 



Question 57  (5 points)

Question 089
The term ___________ is used to describe injuries to the cervical vertebrae, muscles, and ligaments that result from abrupt movements of the head. 

	No.
	Student response

	1.
	whiplash


Score 5 / 5 



Question 58  (5 points)

Question 016
Ligaments that support the hyoid bone are attached to the 

	Student
Response
	   Answer Choices

	[image: image840.png]



	1.
	styloid process

	
	2.
	mastoid process

	
	3.
	articular tubercle

	
	4.
	posterior clinoid process

	
	5.
	middle concha


Score 5 / 5 



Question 59  (5 points)

Question 005
What tissue is primarily responsible for stabilizing, positioning, and bracing the pectoral girdle? 

	Student
Response
	   Answer Choices

	
	1.
	tendons

	
	2.
	ligaments

	
	3.
	the joint shape

	[image: image841.png]



	4.
	muscles

	
	5.
	the shape of the bones within the joint


Score 5 / 5 



Question 60  (5 points)

Question 060
Bill injures himself playing hockey, and the physician who examines him informs him that he has dislocated his pollex. What part of Bill's body did he injure? 

	Student
Response
	   Answer Choices

	
	1.
	his arm

	
	2.
	his leg

	
	3.
	his hip

	[image: image842.png]



	4.
	his thumb

	
	5.
	his shoulder


Score 5 / 5 



Question 61  (5 points)

Question 058
The only fixed support for the pectoral girdle is the 

	Student
Response
	   Answer Choices

	[image: image843.png]



	1.
	scapula

	
	2.
	clavicle

	
	3.
	humerus

	
	4.
	sternum

	
	5.
	shoulder musculature


Score 0 / 5 



Question 62  (5 points)

Question 037
The lateral malleolus would be found on the 

	Student
Response
	   Answer Choices

	
	1.
	femur

	
	2.
	tibia

	[image: image844.png]



	3.
	fibula

	
	4.
	patella

	
	5.
	calcaneus


Score 5 / 5 



Question 63  (5 points)

Question 058
The movement of a body part forward in a horizontal plane is called __________. 

	No.
	Student response

	1.
	protraction


Score 5 / 5 



Question 64  (5 points)

Question 006
Dense connective tissue is to a suture as a periodontal ligament is to a(n) 

	Student
Response
	   Answer Choices

	
	1.
	amphiarthrosis

	
	2.
	syndesmosis

	
	3.
	synostosis

	
	4.
	synchondrosis

	[image: image845.png]



	5.
	gomphosis


Score 5 / 5 



Question 65  (5 points)

Question 067
Degenerative changes in a joint can be the result of all of the following, except 

	Student
Response
	   Answer Choices

	[image: image846.png]



	1.
	bursitis

	
	2.
	bacterial infection

	
	3.
	mechanical stress

	
	4.
	immobilization of the joint

	
	5.
	inflammation


Score 5 / 5 



Question 66  (5 points)

Question 019
The opposite movement of pronation is 

	Student
Response
	   Answer Choices

	
	1.
	dorsiflexion

	
	2.
	hyperextension

	
	3.
	circumduction

	[image: image847.png]



	4.
	supination

	
	5.
	rotation


Score 5 / 5 



Question 67  (5 points)

Question 021
The elbow joint is an example of a(n) __________ joint. 

	Student
Response
	   Answer Choices

	
	1.
	saddle

	
	2.
	gliding

	
	3.
	ellipsoidal

	[image: image848.png]



	4.
	hinge

	
	5.
	pivot


Score 5 / 5 



Question 68  (5 points)

Question 065
The knee joint is stabilized by __________ major ligaments. 

	No.
	Student response

	1.
	five


Score 0 / 5 



Question 69  (5 points)

Question 020
The area of the sarcomere that contains only thin filaments is the 

	Student
Response
	   Answer Choices

	
	1.
	Z line

	
	2.
	M line

	
	3.
	H band

	
	4.
	A band

	[image: image849.png]



	5.
	I band


Score 5 / 5 



Question 70  (5 points)

Question 030
The space between the neuron and the muscle is the 

	Student
Response
	   Answer Choices

	
	1.
	synaptic knob

	
	2.
	motor end plate

	
	3.
	motor unit

	[image: image850.png]



	4.
	synaptic cleft

	
	5.
	M line


Score 5 / 5 



Question 71  (5 points)

Question 062
Each of the following changes in the skeletal muscles is a consequence of aging except 

	Student
Response
	   Answer Choices

	
	1.
	muscle fibers become smaller in diameter

	
	2.
	muscles become less elastic

	
	3.
	muscles fatigue more rapidly

	[image: image851.png]



	4.
	muscle fibers increase their reserves of glycogen

	
	5.
	there is a steady decrease in the number of satellite cells


Score 5 / 5 



Question 72  (5 points)

Question 066
Which of the following is not characteristic of smooth muscle? 

	Student
Response
	   Answer Choices

	[image: image852.png]



	1.
	smooth muscle connective tissue forms tendons and aponeuroses

	
	2.
	neurons that innervate smooth muscles are under involuntary control

	
	3.
	smooth muscles are uninucleate

	
	4.
	smooth muscles do not contain sarcomeres

	
	5.
	the thin filaments of smooth muscle fibers are attached to dense bodies


Score 5 / 5 



Question 73  (5 points)

Question 056
Fast fibers 

	Student
Response
	   Answer Choices

	
	1.
	have high resistance to fatigue

	
	2.
	have a low concentration of myoglobin

	
	3.
	have many mitochondria

	
	4.
	contract quickly

	[image: image853.png]



	5.
	both b and d


Score 0 / 5 



Question 74  (5 points)

Question 083
After death, muscle fibers run out of ATP and calcium begins to leak from the sarcoplasmic reticulum into the sarcoplasm. This results in a condition known as 

	Student
Response
	   Answer Choices

	
	1.
	tetany

	
	2.
	treppe

	
	3.
	depolarization

	[image: image854.png]



	4.
	rigor mortis

	
	5.
	oxygen debt


Score 5 / 5 



Question 75  (5 points)

Question 007
The more moveable end of a muscle is the 

	Student
Response
	   Answer Choices

	[image: image855.png]



	1.
	insertion

	
	2.
	belly

	
	3.
	origin

	
	4.
	proximal end

	
	5.
	distal end


Score 5 / 5 



Question 76  (5 points)

Question 031
The muscle which inserts on the coronoid process of the mandible is the 

	Student
Response
	   Answer Choices

	[image: image856.png]



	1.
	temporalis

	
	2.
	masseter

	
	3.
	lateral pterygoideus

	
	4.
	medial pterygoideus

	
	5.
	platysma


Score 5 / 5 



Question 77  (5 points)

Question 053
Which of the following is not a muscle of the rotator cuff? 

	Student
Response
	   Answer Choices

	
	1.
	supraspinatus

	
	2.
	infraspinatus

	
	3.
	teres minor

	
	4.
	subscapularis

	[image: image857.png]



	5.
	subclavius


Score 5 / 5 



Question 78  (5 points)

Question 088
The degree of extension or compression of muscle fibers is normally kept within the tolerable limits by all of the following, except 

	Student
Response
	   Answer Choices

	
	1.
	the shape of the bones within the joint

	
	2.
	ligaments

	
	3.
	tendons

	[image: image858.png]



	4.
	bones

	
	5.
	other muscles


Score 0 / 5 



Question 79  (5 points)

Question 056
Which of the following does not originate on the humerus? 

	Student
Response
	   Answer Choices

	
	1.
	anconeus

	
	2.
	brachialis

	
	3.
	brachoradialis

	[image: image859.png]



	4.
	biceps brachii

	
	5.
	both b and c


Score 5 / 5 



Question 80  (5 points)

Question 051
All of the following originate on the scapula, except the 

	Student
Response
	   Answer Choices

	[image: image860.png]



	1.
	pectoralis major

	
	2.
	teres major

	
	3.
	teres minor

	
	4.
	subscapularis

	
	5.
	suprspinatus


Score 5 / 5 

Question 1  (5 points)

Question 03
The one organelle not found in adult neurons is the 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image861.png]



	[image: image862.png]



	1.
	centriole.
CORRECT

	0.0%
	
	
	2.
	mitochondrion.

	0.0%
	
	
	3.
	ribosome.

	0.0%
	
	
	4.
	nucleus.


Score 5 / 5 



Question 2  (5 points)

Question TB03
A point to point conduction is an example of saltatory conduction in a neuron. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	[image: image863.png]



	1.
	True

	100.0%
	[image: image864.png]



	
	2.
	False


Score 0 / 5 



Question 3  (5 points)

Question TB05
An action potential is brought about by 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	negative charged proteins moving through the membrane.

	0.0%
	
	
	2.
	the movement of lipoproteins to the outer membrane.

	100.0%
	[image: image865.png]



	[image: image866.png]



	3.
	a local change in membrane permeability.

	0.0%
	
	
	4.
	a sudden membrane impermeability.


Score 5 / 5 



Question 4  (5 points)

Question TB06
Conduction of impulses in myelinated fibers is referred to as ____________ conduction. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	saltatory
	100%
	saltatory (100%)


Score 5 / 5 



Question 5  (5 points)

Question TB09
The basic structural unit of the nervous system is the ____________. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	neuron
	100%
	neuron (100%)


Score 5 / 5 



Question 6  (5 points)

Question TB10
Gray matter in the brain and spinal cord consists mostly of neuroglia. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	[image: image867.png]



	1.
	True

	100.0%
	[image: image868.png]



	
	2.
	False


Score 0 / 5 



Question 7  (5 points)

Question 18
Proprioceptors 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	monitor the external environment.

	100.0%
	[image: image869.png]



	[image: image870.png]



	2.
	monitor the positions of joints and muscles.
CORRECT

	0.0%
	
	
	3.
	monitor the digestive tract.

	0.0%
	
	
	4.
	monitor the senses of taste and smell.


Score 5 / 5 



Question 8  (5 points)

Question 06
Which one of these statements about the transmembrane potential is correct? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	Only passive forces are involved in the generation of the transmembrane potential.

	0.0%
	
	[image: image871.png]



	2.
	The cell membrane is freely permeable to all negative ions but selectively permeable to positive ions.

	0.0%
	
	
	3.
	The main cation of the intracellular fluid is Na+.

	100.0%
	[image: image872.png]



	
	4.
	The resting negative charge on the interior of the plasma membrane is due mainly to charges on proteins.


Score 0 / 5 



Question 9  (5 points)

Question 25
Among the many functions of the astrocytes are 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	repairing damaged nerve tissue.

	0.0%
	
	
	2.
	guiding neuron development.

	0.0%
	
	
	3.
	controlling the interstitial environment.

	100.0%
	[image: image873.png]
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	4.
	All of the above are true.
CORRECT 


Score 5 / 5 



Question 10  (5 points)

Question TB29
The larger the diameter of an axon, the faster it conducts an impulse. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image875.png]



	[image: image876.png]



	1.
	True

	0.0%
	
	
	2.
	False


Score 5 / 5 



Question 11  (5 points)

Question 08
Which of the following statements comparing action potentials and graded potentials is incorrect? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image877.png]



	
	1.
	Graded potentials occur only in excitable membranes, while action potentials occur in most cell membranes.

	0.0%
	
	
	2.
	Action potentials show an all-or-none phenomenon, but graded potentials do not.

	0.0%
	
	
	3.
	Spread of a graded potential is by passive local current, while spread of an action potential is by propagation as one depolarized site brings the adjacent site to threshold.

	0.0%
	
	[image: image878.png]



	4.
	The effect of a graded potential diminishes with increasing distance from the site of stimulation, while an action potential's effect is constant with distance traveled.


Score 0 / 5 



Question 12  (5 points)

Question TB36
When an impulse reaches a synaptic knob 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	two nerve fibers come into direct contact.

	0.0%
	
	
	2.
	impulses will pass in either direction.

	0.0%
	
	
	3.
	an enzyme breaks down the neurotransmitter.

	100.0%
	[image: image879.png]



	[image: image880.png]



	4.
	chemical transmitters are released.


Score 5 / 5 



Question 13  (5 points)

Question 37
Local potentials 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	[image: image881.png]



	1.
	spread throughout the body.

	0.0%
	
	
	2.
	are all the same size.

	0.0%
	
	
	3.
	move rapidly throughout the cell.

	100.0%
	[image: image882.png]



	
	4.
	None of the above are true.


Score 0 / 5 



Question 14  (5 points)

Question TB51
Dendrites 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	carry action potentials from the cell body.

	0.0%
	
	
	2.
	are generally long and unbranched.

	0.0%
	
	[image: image883.png]



	3.
	form synapses with the dendrites of neighboring neurons.

	100.0%
	[image: image884.png]



	
	4.
	respond to neurotransmitter substances.

	0.0%
	
	
	5.
	are found on neuroglial cells.


Score 0 / 5 



Question 15  (5 points)

Question TB54
Vesicles containing neurotransmitter substances are present in the 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	cell body.

	0.0%
	
	
	2.
	axolemma.

	100.0%
	[image: image885.png]



	
	3.
	terminal bouton.

	0.0%
	
	
	4.
	dendrites.

	0.0%
	
	[image: image886.png]



	5.
	mitochondria.


Score 0 / 5 



Question 16  (5 points)

Question TB58
Most sensory neurons are 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	anaxonic.

	100.0%
	[image: image887.png]



	
	2.
	unipolar.

	0.0%
	
	
	3.
	bipolar.

	0.0%
	
	[image: image888.png]



	4.
	multipolar.


Score 0 / 5 



Question 17  (5 points)

Question 50
The five patterns of information processing found in neuronal pools are 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	cyclical, parallel, converging, holistic, pennate.

	100.0%
	[image: image889.png]



	[image: image890.png]



	2.
	divergent, convergent, parallel, serial, reverberating.
CORRECT

	0.0%
	
	
	3.
	isolated, heuristic, denominational, elastic, static.

	0.0%
	
	
	4.
	None of the above are true.


Score 5 / 5 



Question 18  (5 points)

Question TB69
In the PNS bundles of axons and their sheath are referred to as 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	ganglia.

	0.0%
	
	
	2.
	nuclei.

	100.0%
	[image: image891.png]
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	3.
	nerves.

	0.0%
	
	
	4.
	gray matter.

	0.0%
	
	
	5.
	dendrites.


Score 5 / 5 



Question 19  (5 points)

Question 42
Repolarization of the action potential begins when 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	voltage-regulated sodium channels close.

	0.0%
	
	
	2.
	voltage-regulated potassium channels open.

	100.0%
	[image: image893.png]
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	3.
	Both one and two are true.
CORRECT

	0.0%
	
	
	4.
	None of the above are true.


Score 5 / 5 



Question 20  (5 points)

Question 58
EPSPs occur when 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	more potassium ions than usual leak out of a cell.

	0.0%
	
	
	2.
	more calcium ions than usual leak into a cell.

	100.0%
	[image: image895.png]
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	3.
	sodium channels are opened.
CORRECT

	0.0%
	
	
	4.
	chloride ions enter a cell.


Score 5 / 5 

Question 1  (5 points)

Question 07
Which one of these nerves does not arise from the cervical plexus? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	greater auricular nerve

	0.0%
	
	
	2.
	phrenic nerve

	0.0%
	
	
	3.
	supraclavicular nerve

	100.0%
	[image: image897.png]
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	4.
	median nerve
CORRECT 


Score 5 / 5 



Question 2  (5 points)

Question 07
Thoracic and lumbar spinal nerves are named by the 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image899.png]



	
	1.
	vertebra immediately above the nerve.

	0.0%
	
	[image: image900.png]



	2.
	vertebra immediately below the nerve.

	0.0%
	
	
	3.
	either nerve, depending upon circumstances.

	0.0%
	
	
	4.
	the first person to discover them.


Score 0 / 5 



Question 3  (5 points)

Question 13
In the spinal cord, white matter is divided into regions called 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	horns.

	100.0%
	[image: image901.png]
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	2.
	columns.
CORRECT

	0.0%
	
	
	3.
	nuclei.

	0.0%
	
	
	4.
	canals.


Score 5 / 5 



Question 4  (5 points)

Question TB033
Which of the following nerves is a derivative of the cervical plexus? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	vagus

	100.0%
	[image: image903.png]



	[image: image904.png]



	2.
	phrenic

	0.0%
	
	
	3.
	axillary

	0.0%
	
	
	4.
	femoral

	0.0%
	
	
	5.
	sciatic


Score 5 / 5 



Question 5  (5 points)

Question 24
The cervical plexus consists of the ventral rami of 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image905.png]
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	1.
	C1-C5
CORRECT

	0.0%
	
	
	2.
	C1-C8

	0.0%
	
	
	3.
	T12-L4

	0.0%
	
	
	4.
	all of the above


Score 5 / 5 



Question 6  (5 points)

Question TB040
The spinal tract that is located in the side of the cord, originates in the brain, and terminates in the spinal cord is the 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image907.png]
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	1.
	lateral corticospinal.

	0.0%
	
	
	2.
	ventral spinothalamic.

	0.0%
	
	
	3.
	dorsal corticospinal.

	0.0%
	
	
	4.
	lateral spinothalamic.


Score 5 / 5 



Question 7  (5 points)

Question 11
Which of these components of a muscle spindle is improperly identified? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	motor neurons--Type A fibers

	0.0%
	
	
	2.
	intrafusal muscle fibers--innervated by both sensory and motor neurons

	100.0%
	[image: image909.png]
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	3.
	intrafusal muscle fibers--standard large muscle fibers
CORRECT

	0.0%
	
	
	4.
	gamma efferents--motor neurons attached to ends of intrafusal muscle fibers

	0.0%
	
	
	5.
	sensory neurons--receptor dendrites are wrapped around nuclear bag


Score 5 / 5 



Question 8  (5 points)

Question 32
The brachial plexus innervates the shoulder girdle with ventral rami of spinal nerves 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	C1-C5.

	0.0%
	
	
	2.
	C1-C8.

	100.0%
	[image: image911.png]
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	3.
	C5-T1.
CORRECT

	0.0%
	
	
	4.
	C5-C8.


Score 5 / 5 



Question 9  (5 points)

Question 04
The best known example of a monosynaptic reflex is the ________ reflex. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	stretch
	100%
	STRETCH (100%)


Score 5 / 5 



Question 10  (5 points)

Question TB099
The extrapyramidal system is concerned with 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	[image: image913.png]



	1.
	skilled, learned movements.

	100.0%
	[image: image914.png]



	
	2.
	unconscious movements.

	0.0%
	
	
	3.
	cutaneous receptors.

	0.0%
	
	
	4.
	projection of sensory information from medulla to the cerebrum.


Score 0 / 5 



Question 11  (5 points)

Question LP3
Enlarge image
Name of structure labeled? 

[image: image915]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	corpus
	50%
	callosum (50%),   corpus (50%)

	2.
	callosum
	50%
	callosum (50%),   corpus (50%)


General feedback 

Score 5 / 5 



Question 12  (5 points)

Question 9
The ventricles of the brain are filled with 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	synovial fluid.

	0.0%
	
	
	2.
	plasma.

	100.0%
	[image: image916.png]



	[image: image917.png]



	3.
	cerebrospinal fluid.
CORRECT 

	0.0%
	
	
	4.
	blood.


Score 5 / 5 



Question 13  (5 points)

Question TC14
The oculomotor nerve 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	innervates four of the six muscles that move the eyeball.

	0.0%
	
	
	2.
	innervates the muscle that raises the superior eyelid.

	0.0%
	
	
	3.
	regulates the size of the pupil.

	0.0%
	
	
	4.
	regulates the shape of the lens in the eye.

	100.0%
	[image: image918.png]
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	5.
	all of the above


Score 5 / 5 



Question 14  (5 points)

Question 22
Shallow depressions on the surface of the brain are called 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image920.png]



	[image: image921.png]



	1.
	sulci.
CORRECT 

	0.0%
	
	
	2.
	gyri.

	0.0%
	
	
	3.
	fissures.

	0.0%
	
	
	4.
	lobes.


Score 5 / 5 



Question 15  (5 points)

Question TD19
The tegmentum of the midbrain contains the paired 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	tecti.

	0.0%
	
	
	2.
	olivary nuclei.

	0.0%
	
	
	3.
	pontine nuclei.

	100.0%
	[image: image922.png]
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	4.
	red nuclei.


Score 5 / 5 



Question 16  (5 points)

Question TD31
The largest portion of the diencephalon is the 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image924.png]
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	1.
	thalamus.

	0.0%
	
	
	2.
	epithalamus.

	0.0%
	
	
	3.
	hypothalamus.

	0.0%
	
	
	4.
	subthalamus.


Score 5 / 5 



Question 17  (5 points)

Question TD35
The mamillary bodies 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	50.0%
	[image: image926.png]



	[image: image927.png]



	1.
	A) are part of the hypothalamus.

	0.0%
	
	
	2.
	B) process impulses from the taste buds.

	0.0%
	
	
	3.
	C) produce hormones that control reproduction.

	50.0%
	[image: image928.png]



	
	4.
	D) are responsible for emotional responses to odors.

	100.0%
	[image: image929.png]



	
	5.
	both a and d


Score 2.5 / 5 



Question 18  (5 points)

Question 45
The corpora quadrigemina are part of the 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	telencephalon.

	0.0%
	
	
	2.
	diencephalon.

	100.0%
	[image: image930.png]



	[image: image931.png]



	3.
	mesencephalon.
CORRECT 

	0.0%
	
	
	4.
	myelencephalon.


Score 5 / 5 



Question 19  (5 points)

Question 15
Which of the following statements about the cranial nerves are correct? Click on each true statement. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	The cranial nerves that manage the external ocular muscles are III, IV, and VI.

	0.0%
	
	
	2.
	Autonomic fibers are distributed to peripheral ganglia by cranial nerves III, VII, IX, and X.

	100.0%
	[image: image932.png]
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	3.
	Nerve V is the facial nerve, which has three large branches.
CORRECT 

	0.0%
	
	
	4.
	Cranial nerves with mixed functions (both sensory and motor) include nerves V, VII, IX, and X.

	0.0%
	
	
	5.
	The cochlear and vestibular nerves are branches of cranial nerve VIII.


Score 5 / 5 



Question 20  (5 points)

Question TF14
The white matter of the brain between the cortex and nuclei is called _____________. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	myelin
	0%
	cerebral (50%),   medulla (50%)

	2.
	sheath
	0%
	cerebral (50%),   medulla (50%)


Score 0 / 5
Question 1  (5 points)

Question 01
There are __________ major sensory pathways. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	four 

	0.0%
	
	
	2.
	two

	100.0%
	[image: image934.png]
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	3.
	three
CORRECT

	0.0%
	
	
	4.
	one


Score 5 / 5 



Question 2  (5 points)

Question LP1
Enlarge image
Spinal nerves giving rise to Nerve Supply for labeled muscle? 

[image: image936]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	radial
	0%
	C5-T1 (100%)


Score 0 / 5 



Question 3  (5 points)

Question 05
Sensory information requires __________ neurons to reach the thalamus. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	one 

	0.0%
	
	[image: image937.png]



	2.
	two 

	100.0%
	[image: image938.png]



	
	3.
	three 

	0.0%
	
	
	4.
	four


Score 0 / 5 



Question 4  (5 points)

Question 04
Which one of these correctly defines referred pain? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image939.png]



	[image: image940.png]



	1.
	pain felt in an uninjured body area when it actually occurs in another location
CORRECT

	0.0%
	
	
	2.
	pain felt as being received from an amputated limb 

	0.0%
	
	
	3.
	pain generalized all over the body, as accompanying a fever

	0.0%
	
	
	4.
	pain localized to a specific small area of the body where injury has occurred


Score 5 / 5 



Question 5  (5 points)

Question 06
There are __________ major motor pathways. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	one 

	100.0%
	[image: image941.png]



	
	2.
	two 

	0.0%
	
	
	3.
	three 

	0.0%
	
	[image: image942.png]



	4.
	four


Score 0 / 5 



Question 6  (5 points)

Question TD51
The conscious perception of cutaneous sensations occurs in the cerebral cortex, but these sensations are perceived as though they were on the surface of the body. This is called 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	association.

	0.0%
	
	[image: image943.png]



	2.
	perception.

	100.0%
	[image: image944.png]



	
	3.
	projection.

	0.0%
	
	
	4.
	commiseration.

	0.0%
	
	
	5.
	integration.


Score 0 / 5 



Question 7  (5 points)

Question TD57
A patient has suffered a cerebral hemorrhage that has caused nonfunctioning of the primary motor area of his right cerebral cortex. As a result 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image945.png]
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	1.
	he cannot voluntarily move his left arm or leg.

	0.0%
	
	
	2.
	he feels no sensations on the left side.

	0.0%
	
	
	3.
	he cannot voluntarily move his right arm or leg.

	0.0%
	
	
	4.
	his heart stops beating.

	0.0%
	
	
	5.
	both a and b are correct


Score 5 / 5 



Question 8  (5 points)

Question 10
Which of the following are parts of the extrapyramidal tracts? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	corticobulbar

	0.0%
	
	
	2.
	rubrospinal

	0.0%
	
	
	3.
	tectospinal

	100.0%
	[image: image947.png]
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	4.
	two and three only
CORRECT 


Score 5 / 5 



Question 9  (5 points)

Question 11
Your ability to localize sensations depends upon 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image949.png]



	[image: image950.png]



	1.
	the projection of sensation at the primary sensory cortex.
CORRECT

	0.0%
	
	
	2.
	the projection of sensation at the thalamus.

	0.0%
	
	
	3.
	the projection of sensation at the fasciculus.

	0.0%
	
	
	4.
	Two and three only are correct.


Score 5 / 5 



Question 10  (5 points)

Question TD66
In long-term memory 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	there is an increase in the influx of calcium ions into the neuron.

	0.0%
	
	
	2.
	an enzyme called calpain is activated.

	0.0%
	
	
	3.
	there is a change in the shape of the dendrite.

	0.0%
	
	
	4.
	whole series of neurons called memory engrams are involved.

	100.0%
	[image: image951.png]
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	5.
	all of the above occur.


Score 5 / 5 



Question 11  (5 points)

Question 10
Which one of these brain areas is most important in memory consolidation? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	red nucleus

	100.0%
	[image: image953.png]



	[image: image954.png]



	2.
	hippocampus
CORRECT

	0.0%
	
	
	3.
	cerebellum

	0.0%
	
	
	4.
	medulla oblongata


Score 5 / 5 



Question 12  (5 points)

Question TF16
Simultaneous action potentials in large numbers of brain neurons produce ____________ ____________. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	saltatory
	0%
	brain (50%),   waves (50%)

	2.
	conduction
	0%
	brain (50%),   waves (50%)


Score 0 / 5 



Question 13  (5 points)

Question 17
Memories seem to be stored through 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	the formation of new synapses.

	0.0%
	
	
	2.
	the facilitation of new synapses.

	0.0%
	
	
	3.
	increased neurotransmitter release. 

	100.0%
	[image: image955.png]
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	4.
	All of the above are correct.
CORRECT 


Score 5 / 5 



Question 14  (5 points)

Question 19
Short-term memories are 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	long-lasting.

	100.0%
	[image: image957.png]
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	2.
	instantly retrievable.
CORRECT

	0.0%
	
	
	3.
	completely accurate.

	0.0%
	
	
	4.
	All of the above are correct.


Score 5 / 5 



Question 15  (5 points)

Question 13
Which of these does not properly link the stages of sleep with the event? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	REM sleep--stage of active dreaming

	0.0%
	
	
	2.
	REM sleep--muscle tone decreases markedly

	0.0%
	
	
	3.
	deep sleep--mainly occurs soon after entering night's sleep

	100.0%
	[image: image959.png]
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	4.
	deep sleep--stage when least receptive to outside stimuli
CORRECT

	0.0%
	
	
	5.
	REM sleep--eyes move rapidly


Score 5 / 5 



Question 16  (5 points)

Question 04
Active dreaming occurs during deep sleep. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	TRUE

	100.0%
	[image: image961.png]
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	2.
	FALSE
CORRECT 


Score 5 / 5 



Question 17  (5 points)

Question TF79
When a neurotransmitter binds to its receptor and causes the membrane's permeability to sodium ions to increase, 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	more chloride ions will also diffuse into the cell.

	0.0%
	
	
	2.
	the membrane will be hyperpolarized.

	0.0%
	
	
	3.
	the membrane will become impermeable to potassium ions.

	100.0%
	[image: image963.png]



	[image: image964.png]



	4.
	an excitatory postsynaptic potential (EPSP) will result.


Score 5 / 5 



Question 18  (5 points)

Question TF82
Which of the following neurotransmitters is responsible for the majority of postsynaptic inhibition in the brain? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	dopamine

	100.0%
	[image: image965.png]
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	2.
	GABA

	0.0%
	
	
	3.
	glutamate

	0.0%
	
	
	4.
	substance P


Score 5 / 5 



Question 19  (5 points)

Question 17
Which of the following tracts is not involved in proprioception? 
[image: image967]
	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	Fasciculus gracilis and fasciculus cuneatus

	0.0%
	
	
	2.
	Fasciculus cuneatus and the anterior spinothalamic tracts

	100.0%
	[image: image968.png]



	[image: image969.png]



	3.
	Anterior and lateral spinothalamic tracts
CORRECT

	0.0%
	
	
	4.
	Anterior spinothalamic and anterior spinocerebellar tracts


Score 5 / 5 



Question 20  (5 points)

Question TF87
Enkephalins produce presynaptic inhibition in neurons transmitting pain signals. Increased levels of enkephalins will 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	increase awareness of pain.

	100.0%
	[image: image970.png]
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	2.
	decrease awareness of pain.

	0.0%
	
	
	3.
	have no effect on awareness of pain.


Score 5 / 5 

Question 1  (5 points)

Question 01
In the somatic nervous system, 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	two or more motor neurons control the activity of a muscle.

	100.0%
	[image: image972.png]



	
	2.
	a single motor neuron directly controls the activity of a muscle.

	0.0%
	
	
	3.
	a second visceral motor neuron is between the CNS and the effector.

	0.0%
	
	[image: image973.png]



	4.
	Both one and two are correct.


Score 0 / 5 



Question 2  (5 points)

Question TB07
An effect of sympathetic stimulation on the eye is constriction of the pupil. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	True

	100.0%
	[image: image974.png]
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	2.
	False


Score 5 / 5 



Question 3  (5 points)

Question 01
The two divisions of the autonomic nervous system are the sympathetic system, which produces "fight or flight" reactions, and the ________ system, operative during "rest and repose." 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	parasympathetic
	100%
	PARASYMPATHETIC (100%)


Score 5 / 5 



Question 4  (5 points)

Question 04
Which one of these is not part of the sympathetic division? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	chain ganglia

	0.0%
	
	
	2.
	collateral ganglia

	100.0%
	[image: image976.png]
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	3.
	intramural ganglia
CORRECT

	0.0%
	
	
	4.
	adrenal medullae


Score 5 / 5 



Question 5  (5 points)

Question LP12
Enlarge image
"Fight or flight" situation underway. Response of this organ? 

[image: image978]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	increased
	0%
	increase (50%),   rate (50%)

	2.
	stimulation
	0%
	increase (50%),   rate (50%)


Score 0 / 5 



Question 6  (5 points)

Question TB41
The sympathetic nervous system that supplies an organ will also provide parasympathetic nerves to it. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	[image: image979.png]



	1.
	True

	100.0%
	[image: image980.png]



	
	2.
	False


Score 0 / 5 



Question 7  (5 points)

Question TB47
Under normal nonstressful conditions the parasympathetic division is dominant. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image981.png]
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	1.
	True

	0.0%
	
	
	2.
	False


Score 5 / 5 



Question 8  (5 points)

Question 02
Activation of the parasympathetic division leads to relaxation, food, and energy absorption responses. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image983.png]
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	1.
	TRUE
CORRECT

	0.0%
	
	
	2.
	FALSE


Score 5 / 5 



Question 9  (5 points)

Question 10
Stimulation of what type of membrane receptor by norepinephrine would activate enzymes that break down glycogen in skeletal muscles? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image985.png]



	
	1.
	alpha-1

	0.0%
	
	
	2.
	alpha-2

	0.0%
	
	
	3.
	beta-1

	0.0%
	
	[image: image986.png]



	4.
	beta-2


Score 0 / 5 



Question 10  (5 points)

Question TB41
Neurons that secrete acetylcholine are called ____________. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	cholinergic
	100%
	cholinergic (100%)


Score 5 / 5 



Question 11  (5 points)

Question TE01
Which of the following statements applies to the autonomic nervous system? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	A) The effector organ is skeletal muscle.

	100.0%
	[image: image987.png]



	
	2.
	B) The receptor molecules are muscarinic, nicotinic, or adrenergic depending on location.

	0.0%
	
	
	3.
	C) The ANS controls unconscious movement of skeletal muscle.

	0.0%
	
	[image: image988.png]



	4.
	Both a and c apply.


Score 0 / 5 



Question 12  (5 points)

Question TE03
Chain ganglia are part of the 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	parasympathetic branch of the ANS.

	100.0%
	[image: image989.png]
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	2.
	sympathetic branch of the ANS.

	0.0%
	
	
	3.
	somatomotor branch of the ANS.

	0.0%
	
	
	4.
	central nervous system.


Score 5 / 5 



Question 13  (5 points)

Question TE06
Arrange the following in correct sequence: (1) autonomic ganglia and ganglionic synapse (2) neuroeffector synapse (3) pre-ganglionic neuron (4) post-ganglionic neuron 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	2, 3, 4, 1

	0.0%
	
	
	2.
	1, 3, 2, 4

	100.0%
	[image: image991.png]
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	3.
	3, 1, 4, 2

	0.0%
	
	
	4.
	4, 1, 3, 2


Score 5 / 5 



Question 14  (5 points)

Question TE10
After entering the sympathetic chain ganglia, the preganglionic axons can 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	synapse with postganglionic neurons at the same level as the preganglionic axons.

	0.0%
	
	
	2.
	pass superiorly or inferiorly through one or more ganglia and synapse with postganglionic axons at the same or different levels.

	0.0%
	
	
	3.
	pass through the ganglia without synapsing and travel by way of the visceral nerves to synapse with a postganglionic neuron in a collateral ganglion.

	0.0%
	
	
	4.
	pass through the ganglia without synapsing and synapse with a postganglionic neuron in the adrenal gland.

	100.0%
	[image: image993.png]
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	5.
	all of these


Score 5 / 5 



Question 15  (5 points)

Question 05
Preganglionic fibers of the sacral parasympathetic outflow form distinct ________ nerves that innervate intramural ganglia in certain abdominopelvic regions. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	pelvic
	100%
	PELVIC (100%)


Score 5 / 5 



Question 16  (5 points)

Question TE14
Stimulation of the postganglionic cells of the adrenal medulla by sympathetic neurons causes the release of 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	A) acetylcholine.

	0.0%
	
	
	2.
	B) norepinephrine.

	0.0%
	
	
	3.
	C) epinephrine.

	100.0%
	[image: image995.png]
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	4.
	b and c only

	0.0%
	
	
	5.
	a, b, and c


Score 5 / 5 



Question 17  (5 points)

Question TE18
Parasympathetic preganglionic axons, the cell bodies of which are in the sacral region of the spinal cord, course through _____ nerves that innervate the _____. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	sacral nerves; lower colon and urinary bladder

	0.0%
	
	
	2.
	splanchnic nerves; urinary bladder and adrenal glands

	100.0%
	[image: image997.png]
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	3.
	pelvic nerves; lower colon and reproductive glands

	0.0%
	
	
	4.
	pelvic nerves; stomach and lungs

	0.0%
	
	
	5.
	lumbar nerves; stomach and intestines


Score 5 / 5 



Question 18  (5 points)

Question 06
All preganglionic and postganglionic fibers of the parasympathetic division release the neurotransmitter ________ at synapses and neuroeffector junctions. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	acetylcholine
	100%
	ACETYLCHOLINE (100%)


Score 5 / 5 



Question 19  (5 points)

Question TE24
Adrenergic receptors 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	A) can be excitatory or inhibitory.

	0.0%
	
	
	2.
	B) can be activated by both epinephrine and norepinephrine.

	0.0%
	
	
	3.
	C) have two structural forms--muscarinic and nicotinic.

	100.0%
	[image: image999.png]
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	4.
	both a and b

	0.0%
	
	
	5.
	both a and c


Score 5 / 5 



Question 20  (5 points)

Question TE27
Which of the following is NOT a response to sympathetic stimulation? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	increased heart rate

	0.0%
	
	
	2.
	increased blood pressure

	100.0%
	[image: image1001.png]
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	3.
	increased motility of the digestive tract

	0.0%
	
	
	4.
	increased metabolism

	0.0%
	
	
	5.
	increased release of glucose from the liver


Score 5 / 5 

Question 1  (5 points)

Question TB002
Auditory impulses are transmitted by 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image1003.png]



	
	1.
	A) the cochlear nerve.

	0.0%
	
	
	2.
	B) the vestibular nerve.

	0.0%
	
	[image: image1004.png]



	3.
	both a and b

	0.0%
	
	
	4.
	neither a nor b


Score 0 / 5 



Question 2  (5 points)

Question 08
The major categories of general sensory receptors are 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	tonic and phasic receptors.

	0.0%
	
	
	2.
	chemosensory receptors and pressoreceptors.

	100.0%
	[image: image1005.png]
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	3.
	exteroreceptors, enteroreceptors, and proprioceptors.
CORRECT

	0.0%
	
	
	4.
	pleasure receptors and pain receptors.


Score 5 / 5 



Question 3  (5 points)

Question 11
There are __________ type(s) of mechanoreceptors. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	one 

	0.0%
	
	
	2.
	two

	100.0%
	[image: image1007.png]
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	3.
	three
CORRECT

	0.0%
	
	
	4.
	four


Score 5 / 5 



Question 4  (5 points)

Question TB017
____________ are receptors associated with joints, tendons, and other connective tissue. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	proprioceptors
	100%
	proprioceptors (100%)


Score 5 / 5 



Question 5  (5 points)

Question 17
Olfactory receptors are 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	able to distinguish thousands of distinct odors.

	0.0%
	
	
	2.
	highly modified neurons.

	0.0%
	
	
	3.
	replaced approximately every 30 days.

	100.0%
	[image: image1009.png]
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	4.
	All of the above are correct.
CORRECT 


Score 5 / 5 



Question 6  (5 points)

Question TB029
The outer layer of the retina composed of pigmented epithelial cells is the ____________. 

	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	fibrous
	0%
	pigmented (50%),   retina (50%)

	2.
	tunic
	0%
	pigmented (50%),   retina (50%)


Score 0 / 5 



Question 7  (5 points)

Question 22
Circumvallate papillae 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	are found all over the tongue.

	100.0%
	[image: image1011.png]
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	2.
	form a "V" near the back of the tongue.
CORRECT

	0.0%
	
	
	3.
	are found near the tip of the tongue.

	0.0%
	
	
	4.
	have no taste buds.


Score 5 / 5 



Question 8  (5 points)

Question TB041
The sensation of pain is initiated by 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	compression of receptors.

	100.0%
	[image: image1013.png]
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	2.
	irritation of nerve endings.

	0.0%
	
	
	3.
	binding of molecules to membrane receptors.

	0.0%
	
	
	4.
	light striking the receptors.


Score 5 / 5 



Question 9  (5 points)

Question 04
Which one of these refers to the condition of normal accommodation? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	myopia

	0.0%
	
	
	2.
	hyperopia

	100.0%
	[image: image1015.png]
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	3.
	emmetropia
CORRECT

	0.0%
	
	
	4.
	presbyopia


Score 5 / 5 



Question 10  (5 points)

Question 35
The inner layer of the eye is __________ and is known as the __________. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	fibrous, sclera

	100.0%
	[image: image1017.png]
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	2.
	nervous, retina
CORRECT

	0.0%
	
	
	3.
	secretory, choroid

	0.0%
	
	
	4.
	vascular, uvea


Score 5 / 5 



Question 11  (5 points)

Question TB053
The lateral olfactory area 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	modulates the sense of olfaction within the olfactory bulb.

	0.0%
	
	
	2.
	provides emotional reactions to odors.

	100.0%
	[image: image1019.png]



	[image: image1020.png]



	3.
	is the site of conscious perception of odors.

	0.0%
	
	
	4.
	generates action potentials in olfactory neurons.


Score 5 / 5 



Question 12  (5 points)

Question TB058
Damage to which cranial nerve may impair the sense of taste? 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
	[image: image1021.png]



	
	1.
	A) facial

	0.0%
	
	
	2.
	B) trigeminal.

	0.0%
	
	
	3.
	C) hypoglossal.

	0.0%
	
	[image: image1022.png]



	4.
	both a and c


Score 0 / 5 



Question 13  (5 points)

Question TB068
Increased fluid accumulation in the cornea would result in 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	loss of pigment in the eye.

	100.0%
	[image: image1023.png]
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	2.
	an increase in the opacity of the tissue.

	0.0%
	
	
	3.
	an increase in the ability to transmit light to the retina.

	0.0%
	
	
	4.
	a decrease in the strength of the tissue.


Score 5 / 5 



Question 14  (5 points)

Question 49
Near-sightedness, or the inability to focus on distant objects, is also called 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	emmetropia.

	100.0%
	[image: image1025.png]
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	2.
	myopia.
CORRECT

	0.0%
	
	
	3.
	astigmatism.

	0.0%
	
	
	4.
	hyperopia.


Score 5 / 5 



Question 15  (5 points)

Question 53
Photoreceptors release __________ in the dark and __________ in the light. 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	100.0%
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	1.
	neurotransmitters, are inhibited
CORRECT

	0.0%
	
	
	2.
	no neurotransmitters, many neurotransmitters

	0.0%
	
	
	3.
	opsin, absorb opsin

	0.0%
	
	
	4.
	retinal, opsin


Score 5 / 5 



Question 16  (5 points)

Question TB083
Melanin in the pigmented layer of the retina 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	A) results in increased visual acuity.

	0.0%
	
	
	2.
	B) causes less scattering of incoming light.

	100.0%
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	3.
	both a and b

	0.0%
	
	
	4.
	neither a nor b


Score 5 / 5 



Question 17  (5 points)

Question TB085
Night blindness could be caused by 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	[image: image1031.png]



	1.
	a lack of cones.

	0.0%
	
	
	2.
	a lack of iodopsin.

	0.0%
	
	
	3.
	a lack of rhodopsin.

	100.0%
	[image: image1032.png]



	
	4.
	too much vitamin A in the diet.


Score 0 / 5 



Question 18  (5 points)

Question 64
The fluid occupying the space between the membraneous labyrinth and the bony labyrinth is the 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	endolymph.

	0.0%
	
	
	2.
	cerebrospinal fluid.

	100.0%
	[image: image1033.png]
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	3.
	perilymph.
CORRECT

	0.0%
	
	
	4.
	ectolymph.


Score 5 / 5 



Question 19  (5 points)

Question TB095
The ossicles 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	
	1.
	A) transmit vibrations to the inner ear.

	0.0%
	
	
	2.
	B) amplify the vibrations reaching the inner ear.

	100.0%
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	3.
	both a and b

	0.0%
	
	
	4.
	neither a nor b


Score 5 / 5 



Question 20  (5 points)

Question 70
The organ of hearing is the 

	Percent
Value
	Correct
Response
	Student
Response
	   Answer Choices

	0.0%
	
	[image: image1037.png]



	1.
	cochlea.

	0.0%
	
	
	2.
	vestibular duct.

	100.0%
	[image: image1038.png]



	
	3.
	organ of Corti.

	0.0%
	
	
	4.
	tympanic duct.


Score 0 / 5 

Question 1  (5 points)

Question slg1302
Match the label to the corresponding letter on the diagram. 
Click on the down arrow to see choices. 
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 HTMLCONTROL Forms.HTML:Hidden.1 [image: image1041.wmf]
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 HTMLCONTROL Forms.HTML:Hidden.1 [image: image1043.wmf]
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Student response 

	A
	-->
	precentral gyrus
	Incorrect
Correct answer postcentral gyrus

	B
	-->
	cerebellum
	Correct

	C
	-->
	central sulcus
	Correct

	D
	-->
	postcentral gyrus
	Incorrect
Correct answer precentral gyrus


Score 2.5 / 5 



Question 2  (5 points)

Question slg1303
Match the label to the corresponding letter on the diagram. 
Click on the down arrow to see choices. 

[image: image1044]
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Student response 

	A
	-->
	frontal lobe
	Correct

	B
	-->
	parietal lobe
	Correct

	C
	-->
	occipital lobe
	Correct

	D
	-->
	cerebellum
	Correct


Score 5 / 5 



Question 3  (5 points)

Question slg1304
Match the label to the corresponding letter on the diagram. 
Click on the down arrow to see choices. 
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Student response 

	A
	-->
	body of corpus callusum
	Correct

	B
	-->
	fornix of brain
	Correct

	C
	-->
	septum pellucidum
	Correct

	D
	-->
	thalamic part of third ventricle
	Correct

	E
	-->
	cerebral aqueduct
	Correct

	F
	-->
	fourth ventricle
	Correct


Score 5 / 5 



Question 4  (5 points)

Question slg1305
Match the label to the corresponding letter on the diagram. 
Click on the down arrow to see choices. 
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Student response 

	A
	-->
	mammillary body
	Correct

	B
	-->
	hypothalamic part of third ventricle
	Correct

	C
	-->
	optic chiasma
	Correct

	D
	-->
	adenohypophysis
	Correct

	E
	-->
	cerebrum (precentral gyrus)
	Correct

	F
	-->
	thalamus (interthalamic adhesion or thalamic part of third ventricle)
	Correct

	G
	-->
	superior colliculus
	Correct

	H
	-->
	pineal body
	Correct

	I
	-->
	inferior collicus
	Correct

	J
	-->
	pons
	Correct

	K
	-->
	cerebellum (cut)
	Correct

	L
	-->
	medulla oblongata ( olivary nucleus)
	Correct

	M
	-->
	neurohypophysis
	Correct


Score 5 / 5 



Question 5  (5 points)

QUESTION LP09
Enlarge image
Name of structure labeled? 

[image: image1070]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	thoracic
	0%
	sympathetic (40%),   ganglia (30%),   chain (30%)

	2.
	sympathetic
	40%
	sympathetic (40%),   ganglia (30%),   chain (30%)

	3.
	ganglion
	0%
	sympathetic (40%),   ganglia (30%),   chain (30%)


General feedback 

Score 2 / 5 



Question 6  (5 points)

Question slg1308
Show Animation
Match the label to the corresponding letter on the diagram. 
Click on the down arrow to see choices. 
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Student response 

	A
	-->
	olfactory nerve (CN I)
	Correct

	B
	-->
	optic chiasma
	Correct

	C
	-->
	facial nerve (CN VII)
	Incorrect
Correct answer vestibulocochlear nerve (CN VIII)

	D
	-->
	glossopharyngeal nerve (CN IX)
	Correct

	E
	-->
	vagus nerve (CN X)
	Correct

	F
	-->
	accessory nerve (CN XI)
	Correct

	G
	-->
	optic nerve (CN II)
	Correct

	H
	-->
	oculomotor nerve (CN III)
	Correct

	I
	-->
	trochlear nerve (CN IV)
	Correct

	J
	-->
	trigeminal nerve (CN V)
	Correct

	K
	-->
	pons
	Correct

	L
	-->
	abducent (abducens) nerve (CN VI)
	Correct

	M
	-->
	vestibulocochlear nerve (CN VIII)
	Incorrect
Correct answer facial nerve (CN VII)

	N
	-->
	hypoglossal nerve (CN XII)
	Correct

	O
	-->
	medulla oblongata
	Correct


Score 4.33 / 5 



Question 7  (5 points)

QUESTION LP14
Enlarge image
Function of structure at pointer? [May require multiword answer] 

[image: image1087]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	provide sensations of fine touch
	100%
	Answer must contain "fine touch"(100%)


Score 5 / 5 



Question 8  (5 points)

QUESTION LP15
Enlarge image
Name of glial cell at pointer? 

[image: image1088]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	spinal
	0%
	satellite (80%),   cell (20%)

	2.
	ganglion
	0%
	satellite (80%),   cell (20%)


Score 0 / 5 



Question 9  (5 points)

Question slg1311
Match the label to the corresponding letter on the diagram. 
Click on the down arrow to see choices. 
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Student response 

	A
	-->
	white matter
	Correct

	B
	-->
	gray matter
	Correct

	C
	-->
	ventral root of spinal nerve
	Correct

	D
	-->
	dorsal nerve root of spinal cord
	Correct

	E
	-->
	spinal (dorsal root) ganglion of spinal nerve
	Correct

	F
	-->
	spinal nerve
	Correct

	G
	-->
	arachnoid mater
	Correct

	H
	-->
	dura mater
	Correct

	I
	-->
	epidural space
	Correct

	J
	-->
	subdural space
	Correct

	K
	-->
	subarachnoid space
	Correct

	L
	-->
	pia mater
	Correct


Score 5 / 5 



Question 10  (5 points)

QUESTION LP22
Enlarge image
Name of fluid below this structure? 

[image: image1102]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	perilymph
	100%
	perilymph (100%)


Score 5 / 5 



Question 11  (5 points)

QUESTION LP17
Enlarge image
Physician taps at point indicated--name of phenomenon? 

[image: image1103]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	patellar
	60%
	knee jerk (60%),   

	2.
	reflex
	40%
	reflex (40%)


Score 5 / 5 



Question 12  (5 points)

QUESTION LP23
Enlarge image
Standing erect, with weight stimulating deep sensors Specific receptor stimulated? 

[image: image1104]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	pacinian
	60%
	lamellated (60%),   Pacinian (60%)

	2.
	corpuscle
	40%
	corpuscle (40%)


General feedback 

Score 5 / 5 



Question 13  (5 points)

QUESTION LP26
Enlarge image
Name of cranial nerve that innervates muscle that originates at label? 

[image: image1105]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	manubrium
	0%
	accessory (100%)


Score 0 / 5 



Question 14  (5 points)

Question slg1316
Match the label to the corresponding letter on the diagram. 
Click on the down arrow to see choices. 
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Student response 

	A
	-->
	inguinal ligament
	Correct

	B
	-->
	femoral nerve
	Correct

	C
	-->
	sartorius muscle
	Correct

	D
	-->
	femoral vein
	Correct

	E
	-->
	right femoral artery
	Correct

	F
	-->
	adductor longus muscle
	Correct


Score 5 / 5 



Question 15  (5 points)

QUESTION LP30
Enlarge image
Structure C is the __________?
D should be labeled: __________ __________? 

[image: image1113]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	conjunctiva
	50%
	conjunctiva (50%)

	2.
	suspensory ligament of lens
	0%
	suspensory (25%)


Score 2.5 / 5 



Question 16  (5 points)

Question slg1318
Match the label to the corresponding letter on the diagram. 
Click on the down arrow to see choices. 
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Student response 

	A
	-->
	white ramus communicans of T2 spinal nerve
	Correct

	B
	-->
	middle cervical ganglion of sympathetic trunk
	Correct

	C
	-->
	cervicothoracic sympathetic ganglion
	Correct

	D
	-->
	sympathetic trunk
	Correct

	E
	-->
	gray ramus communicans of T2 spinal nerve
	Correct

	F
	-->
	second thoracic sympathetic ganglion
	Correct


Score 5 / 5 



Question 17  (5 points)

QUESTION LP33
Enlarge image
Pain originated elsewhere, but is felt at labeled area Name of phenomenon? 

[image: image1121]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	referred
	50%
	referred (50%)

	2.
	pain
	50%
	pain (50%)


General feedback 

Score 5 / 5 



Question 18  (5 points)

QUESTION LP48
Enlarge image
Patient unable to say, “Round the ragged rock the ragged rascal ran.” Cranial nerve damaged? 

[image: image1122]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	hypoglossal
	80%
	hypoglossal (80%),   nerve (20%)

	2.
	nerve
	20%
	hypoglossal (80%),   nerve (20%)


Score 5 / 5 



Question 19  (5 points)

QUESTION LP37
Enlarge image
Name of structure labeled? 

[image: image1123]
	No.
	Student response
	Grade
	Correct answer (Value)

	1.
	corpus
	50%
	callosum (50%),   corpus (50%)

	2.
	callosum
	50%
	callosum (50%),   corpus (50%)


Score 5 / 5 



Question 20  (5 points)

Question slg1321
Match the label to the corresponding letter on the diagram. 
Click on the down arrow to see choices. 

[image: image1124]
[image: image1125.wmf]

weKv1J3.MiUWc



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image1126.wmf]

wewW4yWA9xi2



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image1127.wmf]

weV/GQAUn3Ae



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image1128.wmf]

wenughQRdO1M



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image1129.wmf]

wedxq2wYvOHg



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image1130.wmf]

wefmf7mTEs85Y


Student response 

	A
	-->
	superior cardiac branch of right vagus nerve (CN X)
	Incorrect
Correct answer inferior cardiac branch of right vagus nerve (CN X)

	B
	-->
	inferior cardiac branch of right vagus nerve (CN X)
	Incorrect
Correct answer superior cardiac branch of right vagus nerve (CN X)

	C
	-->
	right vagus nerve (CN X)
	Correct

	D
	-->
	left vagus nerve (CN X)
	Correct

	E
	-->
	inferior cardiac branch of left vagus nerve (CN X)
	Correct

	F
	-->
	superior cardiac branch of left vagus nerve (CN X)
	Correct


Score 3.33 / 5 

Question 1  (5 points)

Question 01
Label the following components in the diagram of a multipolar neuron.
[image: image1131]
[image: image1132.wmf]
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Student response 

	Axon
	-->
	C

	Dendrite
	-->
	B

	Nissl bodies
	-->
	A

	Synaptic terminal
	-->
	D


Score 5 / 5 



Question 2  (5 points)

Question LP9
Enlarge image
Match name of structure to label? 
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Student response 

	I
	-->
	autonomic nervous system

	G
	-->
	somatic nervous system

	H
	-->
	skeletal muscle

	F
	-->
	efferent division

	J
	-->
	smooth muscle, cardiac muscle, glands

	B
	-->
	afferent division


Score 5 / 5 



Question 3  (5 points)

Question slg1316
Match the label to the corresponding letter on the diagram. 
Click on the down arrow to see choices. 
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Student response 

	A
	-->
	[right] inguinal ligament

	B
	-->
	[right] femoral nerve

	C
	-->
	[right] sartorius muscle

	D
	-->
	[right] femoral vein

	E
	-->
	right femoral artery

	F
	-->
	[right] adductor longus muscle


Score 5 / 5 



Question 4  (5 points)

Question slg1309
Match the label to the corresponding letter on the diagram. 
Click on the down arrow to see choices. 
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Student response 

	A
	-->
	ventral nerve root of [left] T10 spinal nerve

	B
	-->
	ventral ramus of [left] T10 spinal nerve

	C
	-->
	dorsal ramus of [left] T10 spinal nerve

	D
	-->
	spinal (dorsal root) ganglion of [left] T10 spinal nerve

	E
	-->
	[right] pedicle of T10 vertebra

	F
	-->
	white ramus communicans of [right] T10 spinal nerve

	G
	-->
	gray ramus communicans of [right] T10 spinal nerve

	H
	-->
	[right] pedicle of T11 vertebra

	I
	-->
	dorsal nerve root of [left] T10 spinal nerve


Score 5 / 5 



Question 5  (5 points)

Question slg1310
Match the label to the corresponding letter on the diagram. 
Click on the down arrow to see choices. 
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Student response 

	A
	-->
	pedicle of T12 vertebra

	B
	-->
	lamina of L1 vertebra - cut

	C
	-->
	lamina of L2 vertebra - cut

	D
	-->
	spinal cord

	E
	-->
	medullary cone (conus medullaris)

	F
	-->
	internal terminal filum (filum terminale internum)

	G
	-->
	cauda equina


Score 5 / 5 



Question 6  (5 points)

Question 01
Label the following components in the diagram of a reflex arc.
[image: image1168]
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Student response 

	Dorsal root
	-->
	F

	Ventral root
	-->
	A

	Central canal
	-->
	B

	Anterior median fissure
	-->
	E

	Gray commissure
	-->
	C

	White matter of the spinal cord
	-->
	G

	Interneuron
	-->
	D


Score 5 / 5 



Question 7  (5 points)

Question LP27
Enlarge image
Name for process diagrammed by the arrows? 

[image: image1176]
	No.
	Student response

	1.
	feedback

	2.
	control


General feedback 

Score 0 / 5 



Question 8  (5 points)

Question LP26
Enlarge image
Match name of structure to label? 

[image: image1177]
[image: image1178.wmf]
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Student response 

	A
	-->
	sensory neuron

	B
	-->
	gray matter

	C
	-->
	interneuron

	D
	-->
	motor neuron


Score 5 / 5 



Question 9  (5 points)

Question LP21
Enlarge image
Name for this lobe of the brain? 

[image: image1182]
	No.
	Student response

	1.
	occipital


Score 5 / 5 



Question 10  (5 points)

Question LP4
Enlarge image
Name of structure labeled? 

[image: image1183]
	No.
	Student response

	1.
	corpus

	2.
	callosum


Score 5 / 5 



Question 11  (5 points)

Question LP33
Enlarge image
This lobe is responsible for ______________? 

[image: image1184]
	No.
	Student response

	1.
	vision


Score 5 / 5 



Question 12  (5 points)

Question slg1302
Match the label to the corresponding letter on the diagram. 
Click on the down arrow to see choices. 
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Student response 

	A
	-->
	[right] postcentral gyrus

	B
	-->
	[right] cerebellum

	C
	-->
	[right] central sulcus

	D
	-->
	[right] precentral gyrus


Score 5 / 5 



Question 13  (5 points)

Question slg1308
Show Animation
Match the label to the corresponding letter on the diagram. 
Click on the down arrow to see choices. 
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Student response 

	A
	-->
	[right] olfactory nerve (CN I)

	B
	-->
	optic chiasma

	C
	-->
	[right] vestibulocochlear nerve (CN VIII)

	D
	-->
	[right] glossopharyngeal nerve (CN IX)

	E
	-->
	[right] vagus nerve (CN X)

	F
	-->
	[right] accessory nerve (CN XI)

	G
	-->
	[left] optic nerve (CN II)

	H
	-->
	[left] oculomotor nerve (CN III)

	I
	-->
	[left] trochlear nerve (CN IV)

	J
	-->
	[left] trigeminal nerve (CN V)

	K
	-->
	pons

	L
	-->
	[left] abducent (abducens) nerve (CN VI)

	M
	-->
	[left] facial nerve (CN VII)

	N
	-->
	[left] hypoglossal nerve (CN XII)

	O
	-->
	medulla oblongata


Score 5 / 5 



Question 14  (5 points)

Question 1
Label the following lobes, fissures, and sulci of the brain.
[image: image1206]
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Student response 

	Temporal lobe
	-->
	D

	Occipital lobe
	-->
	B

	Frontal lobe
	-->
	C

	Parietal lobe
	-->
	E

	Central sulcus
	-->
	A

	Lateral sulcus
	-->
	F


Score 5 / 5 



Question 15  (5 points)

Question LP12
Enlarge image
"Fight or flight" situation underway. Response of this organ? 

[image: image1213]
	No.
	Student response

	1.
	increase

	2.
	rate


Score 5 / 5 



Question 16  (5 points)

Question LP1
Enlarge image
Spinal nerves giving rise to Nerve Supply for labeled muscle? 

[image: image1214]
	No.
	Student response

	1.
	C5-T1


Score 5 / 5 



Question 17  (5 points)

Question slg1317
Match the label to the corresponding letter on the diagram. 
Click on the down arrow to see choices. 

[image: image1215]
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Student response 

	A
	-->
	[left] superior cervical ganglion of sympathetic trunk

	B
	-->
	[left] middle cervical ganglion of sympathetic trunk

	C
	-->
	[left] sympathetic trunk

	D
	-->
	[left] cervicothoracic sympathetic ganglion

	E
	-->
	[left] second thoracic sympathetic ganglion

	F
	-->
	[left] third thoracic sympathetic ganglion

	G
	-->
	[left] azygos vein


Score 5 / 5 



Question 18  (5 points)

Question LP7
Enlarge image
Match name of structure to label? 

[image: image1223]
[image: image1224.wmf]

wewW4yWA9xi2



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image1225.wmf]

weKv1J3.MiUWc



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image1226.wmf]

wedxq2wYvOHg



 HTMLCONTROL Forms.HTML:Hidden.1 [image: image1227.wmf]

weV/GQAUn3Ae


Student response 

	A
	-->
	iris

	B
	-->
	ciliary body

	C
	-->
	vitreous humor

	D
	-->
	suspensory ligaments


Score 5 / 5 



Question 19  (5 points)

Question LP29
Enlarge image
Name of structure labeled? 

[image: image1228]
	No.
	Student response

	1.
	cilia


Score 0 / 5 



Question 20  (5 points)

Question LP14
Enlarge image
Name of structure labeled? 

[image: image1229]
	No.
	Student response

	1.
	stratified

	2.
	squamos


General feedback 

Score 0 / 5 



Question 21  (5 points)

Question slg1321
Match the label to the corresponding letter on the diagram. 
Click on the down arrow to see choices. 
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Student response 

	A
	-->
	inferior cardiac branch of right vagus nerve (CN X)

	B
	-->
	superior cardiac branch of right vagus nerve (CN X)

	C
	-->
	right vagus nerve (CN X)

	D
	-->
	left vagus nerve (CN X)

	E
	-->
	inferior cardiac branch of left vagus nerve (CN X)

	F
	-->
	superior cardiac branch of left vagus nerve (CN X)


Score 5 / 5 



Question 22  (5 points)

Question 02
Match the following labels to the proper locations on the figure.
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Student response 

	Choroid
	-->
	D

	Conjunctiva
	-->
	A

	Cornea
	-->
	E

	Iris
	-->
	G

	Lens
	-->
	F

	Optic nerve
	-->
	H

	Retina
	-->
	C

	Sclera
	-->
	B


Score 5 / 5 



Question 23  (5 points)

Question LP01a
Enlarge image
The function of cell labeled is to _________ the __________ __________. 

[image: image1246]
	No.
	Student response

	1.
	myelinate

	2.
	peripheral

	3.
	nerve


Score 0 / 5 



Question 24  (5 points)

QUESTION LP06
Enlarge image
Insertion of this muscle? [May require multiword answer] 

[image: image1247]
	No.
	Student response

	1.
	lateral surface of eyeball


Score 5 / 5 



Question 25  (5 points)

QUESTION LP08
Enlarge image
Action of effectors stimulated by nerve labeled? [May require multiword answer] 

[image: image1248]
	No.
	Student response

	1.
	flexor muscles on the arm


Score 0 / 5 



Question 26  (5 points)

Question slg1313g
Enlarge image
Location G should be labeled: _________ ________? 

[image: image1249]
	No.
	Student response

	1.
	spinal

	2.
	nerve


General feedback 

Score 5 / 5 



Question 27  (5 points)

Question slg1312g
Enlarge image
Location G should be labeled: spinal (_________ ________) _________ of _________ nerve? 

[image: image1250]
	No.
	Student response

	1.
	dorsal

	2.
	root

	3.
	ganglion

	4.
	spinal


General feedback 

Score 5 / 5 



Question 28  (5 points)

Question slg1311d
Enlarge image
Location D should be labeled: _________ ________ _________ of spinal nerve? 

[image: image1251]
	No.
	Student response

	1.
	dorsal

	2.
	nerve

	3.
	root


General feedback 

Score 5 / 5 



Question 29  (5 points)

Question slg1311a
Enlarge image
Location A should be labeled: _________ ________? 

[image: image1252]
	No.
	Student response

	1.
	white

	2.
	matter


General feedback 

Score 5 / 5 



Question 30  (5 points)

Question slg1302d
Enlarge image
Location D should be labeled: [__________] _________ ________? 

[image: image1253]
	No.
	Student response

	1.
	lateral

	2.
	precentral

	3.
	gyrus


General feedback 

Score 4 / 5 



Question 31  (5 points)

Question slg1306c
Enlarge image
Location C should be labeled: [__________] _________ nerve (CN _________)? 

[image: image1254]
	No.
	Student response

	1.
	left

	2.
	optic

	3.
	II


General feedback 

Score 5 / 5 



Question 32  (5 points)

Question slg1308o
Show Animation or Enlarge image
Location O should be labeled: _________ ________? 

[image: image1255]
	No.
	Student response

	1.
	medulla

	2.
	oblongata


Score 5 / 5 



Question 33  (5 points)

Question slg1306k
Enlarge image
Location K should be labeled: [__________] _________ nerve (CN _________)? 

[image: image1256]
	No.
	Student response

	1.
	left

	2.
	vestibulocochlear

	3.
	VIII


General feedback 

Score 5 / 5 



Question 34  (5 points)

QUESTION LP19
Enlarge image
Name of structure at pointer? 

[image: image1257]
	No.
	Student response

	1.
	neuromuscular

	2.
	junction


Score 5 / 5 



Question 35  (5 points)

QUESTION LP29
Enlarge image
Name of structure A and name of structure B? 

[image: image1258]
	No.
	Student response

	1.
	sclera

	2.
	choroid


Score 2.5 / 5 



Question 36  (5 points)

Question slg1317d
Enlarge image
Location D should be labeled: [_________] ________ _________ _________? 

[image: image1259]
	No.
	Student response

	1.
	right

	2.
	cervicothoracic

	3.
	sympathetic

	4.
	ganglion


Score 5 / 5 



Question 37  (5 points)

QUESTION LP27
Enlarge image
Flight or Fight situation has ended. Response of structure labeled? 

[image: image1260]
	No.
	Student response

	1.
	dilators contract


General feedback 

Score 0 / 5 



Question 38  (5 points)

Question slg1301b
Enlarge image
Location B should be labeled: right _________ ________ _________ _________? 

[image: image1261]
	No.
	Student response

	1.
	sixth

	2.
	thoracic

	3.
	sympathetic

	4.
	ganglion


General feedback 

Score 5 / 5 



Question 39  (5 points)

Question slg1301c
Enlarge image
Location C should be labeled: right _________ ________ _________ _________? 

[image: image1262]
	No.
	Student response

	1.
	seventh

	2.
	thoracic

	3.
	sympathetic

	4.
	ganglion


General feedback 

Score 5 / 5 



Question 40  (5 points)

QUESTION LP34
Enlarge image
Pain originated elsewhere, but is felt at labeled area Actual location of pain? 

[image: image1263]
	No.
	Student response

	1.
	heart


General feedback 

Score 5 / 5
Question 1  (5 points)

Question 07
Which of these gated ion channels is not associated with the proper characteristics? 

	Student
Response
	   Answer Choices

	
	1.
	chemically regulated--on a neuron's postsynaptic membranes

	
	2.
	mechanically regulated--sensory receptors for touch/pressure/vibration

	
	3.
	voltage-regulated--only on excitable membrane surfaces

	[image: image1264.png]



	4.
	mechanically regulated--only on excitable membrane surfaces

	
	5.
	voltage-regulated--on axons of unipolar and multipolar neurons


Score 5 / 5 



Question 2  (5 points)

Question TB35
When a neuron is "resting", the inner surface of its plasma membrane is slightly positive compared to its outer surface. 

	Student
Response
	   Answer Choices

	
	1.
	True

	[image: image1265.png]



	2.
	False


Score 5 / 5 



Question 3  (5 points)

Question 04
Unipolar neurons have only one cell process, the axon. 

	Student
Response
	   Answer Choices

	
	1.
	TRUE

	[image: image1266.png]



	2.
	FALSE


Score 5 / 5 



Question 4  (5 points)

Question TB07
During a relative refractory period 

	Student
Response
	   Answer Choices

	
	1.
	the action potential cannot be initiated.

	
	2.
	a resting potential exists.

	
	3.
	the cell membrane is impermeable to Na+ and K+.

	[image: image1267.png]



	4.
	action potentials can be initiated by strong stimuli.


Score 5 / 5 



Question 5  (5 points)

Question TB23
Oligodendrocytes form myelin sheaths around nerve fibers in the central nervous system. 

	Student
Response
	   Answer Choices

	[image: image1268.png]



	1.
	True

	
	2.
	False


Score 5 / 5 



Question 6  (5 points)

Question TB56
Most of the neurons in the CNS and most motor neurons are 

	Student
Response
	   Answer Choices

	
	1.
	anaxonic.

	
	2.
	unipolar.

	
	3.
	bipolar.

	[image: image1269.png]



	4.
	multipolar.


Score 5 / 5 



Question 7  (5 points)

Question TB05
An action potential is brought about by 

	Student
Response
	   Answer Choices

	
	1.
	negative charged proteins moving through the membrane.

	
	2.
	the movement of lipoproteins to the outer membrane.

	[image: image1270.png]



	3.
	a local change in membrane permeability.

	
	4.
	a sudden membrane impermeability.


Score 5 / 5 



Question 8  (5 points)

Question TB10
Gray matter in the brain and spinal cord consists mostly of neuroglia. 

	Student
Response
	   Answer Choices

	
	1.
	True

	[image: image1271.png]



	2.
	False


Score 5 / 5 



Question 9  (5 points)

Question TB26
Regeneration of nerve fibers will take place only if the cell body is intact and the fibers have 

	Student
Response
	   Answer Choices

	
	1.
	nodes of Ranvier.

	
	2.
	a neurilemma.

	[image: image1272.png]



	3.
	a myelin sheath.

	
	4.
	neurofibrils.


Score 0 / 5 



Question 10  (5 points)

Question TB80
Action potentials at a chemical synapse travel 

	Student
Response
	   Answer Choices

	
	1.
	A) from presynaptic terminal to postsynaptic terminal.

	
	2.
	B) from postsynaptic terminal to presynaptic terminal.

	[image: image1273.png]



	3.
	both a and b

	
	4.
	do not occur


Score 0 / 5 



Question 11  (5 points)

Question TB037
When a person hits their "funny bone," the unpleasant sensation that results is caused by temporary damage to the ____________ nerve. 

	Student
Response
	   Answer Choices

	
	1.
	Axillary

	
	2.
	radial

	
	3.
	Musculocutaneous

	[image: image1274.png]



	4.
	ulnar

	
	5.
	median


Score 5 / 5 



Question 12  (5 points)

Question TB020
The ____________ extends from the foramen magnum to the level of the second lumbar vertebra. 

	No.
	Student response

	1.
	spinal

	2.
	cord


Score 5 / 5 



Question 13  (5 points)

Question TB031
A ____________ is the area of the skin supplied by a given pair of spinal nerves. 

	No.
	Student response

	1.
	dermatome


Score 5 / 5 



Question 14  (5 points)

Question 19
The dorsal root ganglion contains the __________ of __________ neurons. 

	Student
Response
	   Answer Choices

	
	1.
	axons, motor

	[image: image1275.png]



	2.
	cell bodies, sensory

	
	3.
	axons and dendrites, sensory and motor 

	
	4.
	Both one and two are correct.


Score 5 / 5 



Question 15  (5 points)

Question 20
A "typical" spinal nerve consists of __________ major branches. 

	Student
Response
	   Answer Choices

	
	1.
	one 

	[image: image1276.png]



	2.
	two 

	
	3.
	three

	
	4.
	four


Score 0 / 5 



Question 16  (5 points)

Question 8
Which of these cerebral lobes is improperly identified? 

	Student
Response
	   Answer Choices

	
	1.
	occipital lobe--most posterior lobe

	
	2.
	temporal lobe--lateral and inferior lobe

	[image: image1277.png]



	3.
	parietal lobe--lateral and inferior lobe

	
	4.
	insula--buried within lateral sulcus

	
	5.
	frontal lobe--most anterior lobe


Score 5 / 5 



Question 17  (5 points)

Question TD26
The sleep/wake cycle is controlled by the 

	Student
Response
	   Answer Choices

	[image: image1278.png]



	1.
	basal ganglia.

	
	2.
	reticular activating system.

	
	3.
	cerebellum.

	
	4.
	thalamic nuclei.


Score 0 / 5 



Question 18  (5 points)

Question TC05
The accessory nerve 

	Student
Response
	   Answer Choices

	
	1.
	A) has both a cranial and a spinal component.

	
	2.
	B) has fibers that join the glossopharyngeal nerve.

	
	3.
	C) provides innervation to the trapezius and sternocleidomastoid muscles.

	[image: image1279.png]



	4.
	both a and c

	
	5.
	both a and b


Score 5 / 5 



Question 19  (5 points)

Question 1
The arbor vitae is white matter found in the cerebellum. 

	Student
Response
	   Answer Choices

	[image: image1280.png]



	1.
	TRUE

	
	2.
	FALSE


Score 5 / 5 



Question 20  (5 points)

Question TD06
In the CNS clusters of gray matter with specific functions surrounded by white matter are called 

	Student
Response
	   Answer Choices

	[image: image1281.png]



	1.
	nuclei.

	
	2.
	pyramids.

	
	3.
	tracts.

	
	4.
	decussations.

	
	5.
	peduncles.


Score 5 / 5 



Question 21  (5 points)

Question TD25
Damage to the cerebral peduncles might affect 

	Student
Response
	   Answer Choices

	
	1.
	hearing.

	
	2.
	movement.

	
	3.
	pain sensation.

	[image: image1282.png]



	4.
	all of these


Score 0 / 5 



Question 22  (5 points)

Question TF17
The very short-term retention of sensory input while something is scanned, evaluated, and acted upon is called ____________ ____________. 

	No.
	Student response

	1.
	primary

	2.
	memory


Score 2.5 / 5 



Question 23  (5 points)

Question 13
Which of these does not properly link the stages of sleep with the event? 

	Student
Response
	   Answer Choices

	
	1.
	REM sleep--stage of active dreaming

	
	2.
	REM sleep--muscle tone decreases markedly

	
	3.
	deep sleep--mainly occurs soon after entering night's sleep

	[image: image1283.png]



	4.
	deep sleep--stage when least receptive to outside stimuli

	
	5.
	REM sleep--eyes move rapidly


Score 5 / 5 



Question 24  (5 points)

Question 13
In somatic motor control, the cerebellum's role involves 

	Student
Response
	   Answer Choices

	
	1.
	stereotyped motor patterns.

	
	2.
	simple spinal reflexes.

	[image: image1284.png]



	3.
	coordinating complex motor patterns.

	
	4.
	planning and initiating motor activity.


Score 5 / 5 



Question 25  (5 points)

Question 14
Which of these statements is not true about the reticular activating system (RAS)? 

	Student
Response
	   Answer Choices

	
	1.
	The RAS is located in the reticular formation of the brain.

	[image: image1285.png]



	2.
	A single stimulation of the RAS is sufficient to cause arousal lasting about five minutes.

	
	3.
	When the RAS is inactive, the cerebral cortex is also inactive.

	
	4.
	The mesencephalic part of the RAS seems to be the center of the system.

	
	5.
	The thalamic portion of the RAS may focus attention on specific mental processes.


Score 5 / 5 



Question 26  (5 points)

Question 23
Many antidepressants that are currently prescribed 

	Student
Response
	   Answer Choices

	
	1.
	inhibit acetylcholine breakdown.

	
	2.
	decrease levels of serotonin in the brain.

	
	3.
	increase the breakdown of acetylcholine in the brain.

	[image: image1286.png]



	4.
	increase levels of serotonin in the brain.


Score 5 / 5 



Question 27  (5 points)

Question TD66
In long-term memory 

	Student
Response
	   Answer Choices

	
	1.
	there is an increase in the influx of calcium ions into the neuron.

	
	2.
	an enzyme called calpain is activated.

	
	3.
	there is a change in the shape of the dendrite.

	
	4.
	whole series of neurons called memory engrams are involved.

	[image: image1287.png]



	5.
	all of the above occur.


Score 5 / 5 



Question 28  (5 points)

Question 02
Within a pathway, all the axons that form a tract share a common origin and ________. 

	No.
	Student response

	1.
	destination


Score 5 / 5 



Question 29  (5 points)

Question TF85
In an EPSP (excitatory postsynaptic potential) 

	Student
Response
	   Answer Choices

	
	1.
	A) there is a net movement of sodium ions out of the cells.

	[image: image1288.png]



	2.
	B) the membranes become depolarized.

	
	3.
	both a and b

	
	4.
	neither a nor b


Score 5 / 5 



Question 30  (5 points)

Question 20
The higher centers of the CNS 

	Student
Response
	   Answer Choices

	
	1.
	have no effect upon autonomic reflexes.

	
	2.
	have total control of autonomic reflexes.

	
	3.
	influence the effects of autonomic reflexes.

	[image: image1289.png]



	4.
	Both two and three are correct.


Score 0 / 5 



Question 31  (5 points)

Question 08
Which one of these statements about the parasympathetic division is not correct? 

	Student
Response
	   Answer Choices

	[image: image1290.png]



	1.
	Ganglia are located relatively close to the central nervous system.

	
	2.
	Preganglionic neurons may have their cell bodies in the brain stem.

	
	3.
	Preganglionic neurons may have their cell bodies in spinal cord segments S2 through S4.

	
	4.
	Ganglionic neurons have their cell bodies within or adjacent to the target organs.


Score 5 / 5 



Question 32  (5 points)

Question TB42
The sympathetic system usually speeds up the activities of the body. 

	Student
Response
	   Answer Choices

	[image: image1291.png]



	1.
	True

	
	2.
	False


Score 5 / 5 



Question 33  (5 points)

Question 01
Autonomic tone describes a low background level of neural activity that allows fine adjustment of response in the target cells. 

	Student
Response
	   Answer Choices

	[image: image1292.png]



	1.
	TRUE

	
	2.
	FALSE


Score 5 / 5 



Question 34  (5 points)

Question TB40
Anatomically, the parasympathetic division of the nervous system is sometimes referred to as the ____________ division. 

	No.
	Student response

	1.
	craniosacral


Score 5 / 5 



Question 35  (5 points)

Question 08
The telodendria of postganglionic neurons release neurotransmitters through 

	Student
Response
	   Answer Choices

	
	1.
	synaptic knobs.

	[image: image1293.png]



	2.
	varicosities.

	
	3.
	neurotransmitter junctions.

	
	4.
	Both one and three are correct.


Score 5 / 5 



Question 36  (5 points)

Question TE20
The sympathetic and parasympathetic divisions of the ANS differ in the 

	Student
Response
	   Answer Choices

	
	1.
	A) length of the preganglionic and postganglionic neurons.

	
	2.
	B) position of the preganglionic cell bodies.

	
	3.
	C) position of the ganglia where preganglionic and postganglionic neurons synapse.

	[image: image1294.png]



	4.
	a, b, and c


Score 5 / 5 



Question 37  (5 points)

Question 11
Which of these does not properly link areas of the central nervous system with their levels of control over autonomic functions? 

	Student
Response
	   Answer Choices

	
	1.
	cerebral cortex—communications with hypothalamus at subconscious level

	[image: image1295.png]



	2.
	thalamus—sends emotional responses to pons

	
	3.
	hypothalamus—headquarters of parasympathetic responses

	
	4.
	pons—higher levels of respiratory control


Score 5 / 5 



Question 38  (5 points)

Question 01
Which of the following statements about the autonomic nervous system is incorrect? 

	Student
Response
	   Answer Choices

	
	1.
	Which of the following statements about the autonomic nervous system is incorrect? 

	
	2.
	Loss of all conscious brain activity is not life-threatening if food is provided, because the autonomic nervous system maintains all needed body functions.

	
	3.
	The sympathetic and parasympathetic functions always produce opposing effects on a system or organ.

	[image: image1296.png]



	4.
	Heart rate and blood pressure are increased under parasympathetic stimulation.

	
	5.
	The parasympathetic division is also called the craniosacral division. 


Score 5 / 5 



Question 39  (5 points)

Question TB004
The superior olivary nucleus 

	Student
Response
	   Answer Choices

	
	1.
	receives impulses from vestibular nerve.

	
	2.
	sends efferent impulses that inhibit all hair cells not vibrating maximally.

	
	3.
	helps localize high-pitched tones near the apex of the basilar membrane.
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	4.
	all of these


Score 0 / 5 



Question 40  (5 points)

Question LP14
Enlarge image
Name of structure labeled? 

[image: image1298]
	No.
	Student response

	1.
	stratified

	2.
	epithelium


General feedback 

Score 0 / 5 



Question 41  (5 points)

Question 42
In the macula lutea are found 

	Student
Response
	   Answer Choices

	
	1.
	only rods.

	
	2.
	equal numbers of rods and cones.

	
	3.
	more cones than rods.
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	4.
	only cones.


Score 5 / 5 



Question 42  (5 points)

Question 05
Tonic receptors are 

	Student
Response
	   Answer Choices

	
	1.
	active only when stimulated.
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	2.
	always active.

	
	3.
	inactive only when stimulated.

	
	4.
	None of the above are correct.


Score 5 / 5 



Question 43  (5 points)

Question TB074
Vitreous humor 

	Student
Response
	   Answer Choices

	
	1.
	is constantly circulated through the posterior cavity.

	
	2.
	is less viscous than aqueous humor.

	
	3.
	helps to hold the lens and retina in place.
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	4.
	does not contribute to intraocular pressure.

	
	5.
	does not change the path of incoming light.


Score 0 / 5 



Question 44  (5 points)

Question 02
Match the following labels to the proper locations on the figure.
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Student response 

	Choroid
	-->
	D

	Conjunctiva
	-->
	A

	Cornea
	-->
	E

	Iris
	-->
	G

	Lens
	-->
	F

	Optic nerve
	-->
	H

	Retina
	-->
	C

	Sclera
	-->
	B


Score 5 / 5 



Question 45  (5 points)

Question TB067
The transparent anterior portion of the sclera is the 

	Student
Response
	   Answer Choices

	
	1.
	choroid.

	
	2.
	retina.
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	3.
	cornea.

	
	4.
	iris.

	
	5.
	ciliary body.


Score 5 / 5 



Question 46  (5 points)

Question TB081
When focusing on a nearby object 

	Student
Response
	   Answer Choices

	
	1.
	A) the ciliary muscles contract.

	
	2.
	B) the tension on the suspensory ligament decreases.

	
	3.
	C) the lens becomes flatter.
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	4.
	both a and b

	
	5.
	a, b, and c


Score 5 / 5 



Question 47  (5 points)

Question 01
The area monitored by a single receptor cell is called its ________ __________ (use two words) 

	No.
	Student response

	1.
	receptive

	2.
	field


Score 5 / 5 



Question 48  (5 points)

Question 48
Far-sightedness, or the inability to focus on objects near the eye, is also called 

	Student
Response
	   Answer Choices

	
	1.
	emmetropia.

	
	2.
	myopia.

	
	3.
	astigmatism.
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	4.
	hyperopia.


Score 5 / 5 



Question 49  (5 points)

Question 121
A molecule that interferes with the formation of cAMP would 

	Student
Response
	   Answer Choices

	
	1.
	prevent acetylcholine from stimulating a postsynaptic membrane

	
	2.
	prevent norepinephrine from stimulating a postsynaptic membrane

	[image: image1314.png]



	3.
	result in increased breakdown of norepinephrine

	
	4.
	cause spasms in muscles regulated by acetylcholine

	
	5.
	have no effect on an adrenergic synapse


Score 0 / 5 



Question 50  (5 points)

Question 010
The type of glial cell that is found lining the ventricles and spinal canal are the 

	Student
Response
	   Answer Choices

	
	1.
	astrocytes

	
	2.
	satellite cells

	
	3.
	oligodendrocytes

	
	4.
	microglia
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	5.
	ependymal cells


Score 5 / 5 



Question 51  (5 points)

Question 069
___________ is a wrapping produced by some glial cells that contains 80% lipid and 20% protein. 

	No.
	Student response

	1.
	Myelin


Score 5 / 5 



Question 52  (5 points)

Question 076
The time during which an excitable membrane cannot respond to further stimulation regardless of the stimulus strength is the ___________. 

	No.
	Student response

	1.
	absolute

	2.
	refractory

	3.
	period


Score 5 / 5 



Question 53  (5 points)

Question 068
The cell membrane of an axon is the ___________. 

	No.
	Student response

	1.
	hillock


Score 0 / 5 



Question 54  (5 points)

Question 017
Aggregations of fixed and free ribosomes in neurons are referred to as 

	Student
Response
	   Answer Choices

	
	1.
	neurofilaments

	
	2.
	neurofibrils
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	3.
	perikaryon

	
	4.
	Nissl bodies

	
	5.
	microglia


Score 0 / 5 



Question 55  (5 points)

Question 073
Tears in the spinal cord caused by fragments of vertebrae or foreign objects is termed a spinal __________. 

	No.
	Student response

	1.
	laceration


Score 5 / 5 



Question 56  (5 points)

Question 029
A nerve of the cervical plexus that innervates the diaphragm is the __________ nerve. 

	Student
Response
	   Answer Choices

	
	1.
	ansa cervicalis

	
	2.
	lesser occipital

	
	3.
	radial
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	4.
	phrenic

	
	5.
	sciatic


Score 5 / 5 



Question 57  (5 points)

Question 018
The dorsal and ventral roots of each spinal segment unite to form a 

	Student
Response
	   Answer Choices

	
	1.
	cervical enlargement

	
	2.
	lumbar enlargement
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	3.
	spinal nerve

	
	4.
	spinal meninge

	
	5.
	spinal ganglion


Score 5 / 5 



Question 58  (5 points)

Question 012
The white matter of the spinal cord contains 

	Student
Response
	   Answer Choices
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	1.
	bundles of axons that share common origins, destinations, and functions

	
	2.
	bundles of dendrites that share common origins, destinations, and functions

	
	3.
	sensory and motor nuclei

	
	4.
	both axons and dendrites

	
	5.
	interneurons


Score 5 / 5 



Question 59  (5 points)

Question 016
The dural sinuses are located in the 

	Student
Response
	   Answer Choices

	
	1.
	dura mater

	
	2.
	arachnoid

	
	3.
	pia mater
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	4.
	dural folds

	
	5.
	tentorium cerebelli


Score 0 / 5 



Question 60  (5 points)

Question 094
Damage to the pyramidal cells of the cerebral cortex would directly affect 

	Student
Response
	   Answer Choices

	
	1.
	perception of pain

	
	2.
	sight

	
	3.
	voluntary motor activity

	
	4.
	hearing
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	5.
	both a and c


Score 0 / 5 



Question 61  (5 points)

Question 095
Damage to the premotor cortex of the frontal lobe would interfere with the ability to 

	Student
Response
	   Answer Choices

	
	1.
	understand written words

	
	2.
	understand spoken language
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	3.
	clearly see visual images

	
	4.
	cut designs from construction paper

	
	5.
	sense the texture of silk


Score 0 / 5 



Question 62  (5 points)

Question 085
The shortest association fibers in the cerebrum are the ___________ fibers. 

	No.
	Student response

	1.
	arcuate


Score 5 / 5 



Question 63  (5 points)

Question 025
The effects produced by the extrapyramidal system on lower motor neurons can be all of the following, except to 

	Student
Response
	   Answer Choices

	
	1.
	stimulate a response

	
	2.
	facilitate stimulation

	
	3.
	inhibit stimulation
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	4.
	modify a response

	
	5.
	activate a response


Score 0 / 5 



Question 64  (5 points)

Question 012
The spinal tract that regulates voluntary motor control of skeletal muscles on the opposite side of the body is the __________ tract. 

	Student
Response
	   Answer Choices
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	1.
	lateral corticospinal

	
	2.
	anterior corticospinal

	
	3.
	rubrospinal

	
	4.
	reticulospinal

	
	5.
	vestibulospinal


Score 5 / 5 



Question 65  (5 points)

Question 081
Increased production and release of acetylcholine by the neurons of the cerebral nuclei would result in 

	Student
Response
	   Answer Choices

	
	1.
	flaccid paralysis

	
	2.
	spastic, uncontrolled muscle contractions
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	3.
	decreased activity of upper motor neurons

	
	4.
	fewer action potentials along the corticospinal tracts

	
	5.
	muscular atrophy


Score 0 / 5 



Question 66  (5 points)

Question 067
During __________ sleep, the entire body relaxes and the activity of the cerebral cortex is at a minimum. 

	No.
	Student response

	1.
	deep


Score 5 / 5 



Question 67  (5 points)

Question 068
During ___________ sleep, dreaming occurs. 

	No.
	Student response

	1.
	REM


Score 5 / 5 



Question 68  (5 points)

Question 044
A state of consciousness characterized by difficulties with spatial orientation, memory, language, and changes in personality is called 

	Student
Response
	   Answer Choices

	
	1.
	delirium
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	2.
	dementia

	
	3.
	confusion

	
	4.
	somnolence

	
	5.
	a chronic vegetative state


Score 5 / 5 



Question 69  (5 points)

Question 002
In the autonomic nervous system, 

	Student
Response
	   Answer Choices
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	1.
	the lower motor neurons directly innervate effector organs

	
	2.
	there is always a synapse between the CNS and the effector organ

	
	3.
	motor neurons do not synapse but are connected by gap junctions

	
	4.
	the cell bodies of all motor neurons are found in ganglia outside of the CNS

	
	5.
	neurons have dendrites but no axons


Score 0 / 5 



Question 70  (5 points)

Question 026
Stimulation of 'alpha-1' receptors by norepinephrine would result in 

	Student
Response
	   Answer Choices

	
	1.
	activation of cAMP

	
	2.
	a decrease in the amount of intracellular cAMP

	
	3.
	decreased membrane permeability to sodium ion
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	4.
	release of intracellular calcium stores

	
	5.
	increased membrane permeability to potassium ions


Score 5 / 5 



Question 71  (5 points)

Question 022
Effects produced by the parasympathetic branch of the autonomic nervous system include 

	Student
Response
	   Answer Choices

	
	1.
	dilation of the pupils
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	2.
	increased secretion by digestive glands

	
	3.
	dilation of respiratory passages

	
	4.
	increased heart rate

	
	5.
	increased breakdown of glycogen by the liver


Score 5 / 5 



Question 72  (5 points)

Question 065
Sympathomimetic drugs might be used to 

	Student
Response
	   Answer Choices

	
	1.
	decrease heart rate

	
	2.
	decrease blood pressure
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	3.
	dilate bronchioles

	
	4.
	increase gastric motility

	
	5.
	decrease sweat production


Score 5 / 5 



Question 73  (5 points)

Question 037
Autonomic tone is an important aspect of ANS function because it 

	Student
Response
	   Answer Choices

	
	1.
	allows ANS neurons to be absolutely silent under normal conditions

	
	2.
	allows ANS neurons to increase activity on demand but not decrease their activity

	
	3.
	allows ANS neurons to decrease their activity on demand but not increase their activity
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	4.
	allows ANS neurons to increase or decrease their activity providing a range of control options

	
	5.
	provides for a narrow range of control options that keep target tissues constantly active


Score 5 / 5 



Question 74  (5 points)

Question 013
Each of the following effects is associated with the action of postganglionic sympathetic fibers, except 

	Student
Response
	   Answer Choices

	
	1.
	increased sweat secretion

	
	2.
	reduced circulation to the skin
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	3.
	decreased heart rate

	
	4.
	dilation of the pupils

	
	5.
	increased blood flow to skeletal muscles


Score 5 / 5 



Question 75  (5 points)

Question 154
How would a molecule that blocks the action of adenyl cyclase affect the sense of olfaction? 

	Student
Response
	   Answer Choices

	
	1.
	it would increase the level of sensitivity

	
	2.
	it would expand the range of sensitivity

	
	3.
	it would convert the olfactory receptors from phasic receptors to tonic receptors
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	4.
	it would interfere with the ability to smell

	
	5.
	it would have no effect on olfaction


Score 5 / 5 



Question 76  (5 points)

Question 134
Pain that is perceived as coming from an area other than that which is actually being stimulated is called __________ pain. 

	Student
Response
	   Answer Choices

	
	1.
	prickling

	
	2.
	burning

	
	3.
	aching
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	4.
	referred

	
	5.
	compensatory


Score 5 / 5 



Question 77  (5 points)

Question 101
Sensory afferents from the taste receptors synapse within the _____________ of the medulla. 

	No.
	Student response

	1.
	solitary

	2.
	nucleus


Score 2.5 / 5 



Question 78  (5 points)

Question 065
The cartilaginous structure that surrounds the external auditory meatus is the 

	Student
Response
	   Answer Choices

	
	1.
	saccule

	
	2.
	utricle

	
	3.
	labyrinth
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	4.
	pinna

	
	5.
	ossicle


Score 5 / 5 



Question 79  (5 points)

Question 081
What we perceive as the pitch of a sound is our sensory response to its 

	Student
Response
	   Answer Choices

	
	1.
	amplitude

	
	2.
	wavelength
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	3.
	frequency

	
	4.
	intensity

	
	5.
	duration


Score 5 / 5 



Question 80  (5 points)

Question 146
Why do objects viewed underwater while scuba diving appear closer and larger than they really are? 

	Student
Response
	   Answer Choices

	
	1.
	the water magnifies the image because it is denser than the lens of the eye
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	2.
	light moves more slowly through the water, causing images to appear larger and closer

	
	3.
	the dive mask refracts light before it reaches the cornea and the extra refraction causes the image to appear closer and larger

	
	4.
	the cornea does not function in water and the light is not refracted as much, causing the image to appear larger and closer

	
	5.
	light waves are scattered by the water before reaching the eye, causing the image to appear larger and closer


Score 0 / 5 
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